UGC NET 2021 Commerce 26N Shift 1

Topic:- Commerce_26NSH1_SHAAN_NOV21A

1) Bretton Woods resolutions led to the formation of:

o g3 ey A bt forarior gam 3 ¢

[Question ID = 2131][Question Description = S3_qSNz_PG_COM_QO01]
WTO/Rea cemurz <istoet [Option ID = 8521]

GATT/ste [Option ID = 8522]

UNCTAD/siwers (UNCTAD) [Option ID = 8523]

IMF / sirrzarscter ggresta [Option ID = 8524]
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Correct Answer :-

o WTO/Rrea cemure isioer [Option 1D = 8521]

2) The mode of joint venturing in international business that allows a company to conduct business in another country
whose laws discourage foreign ownership is known as:

ARICERT RIGART 3 AYTD IURH DI A3 DI Sil fepil DUl DI g3 91 3 BRID Diofol fagelt Faifira @I sdlcAIdd @ & ; RIGART Dol bl
3reIAfeT YeTel B &, DI GRIT Dol SIIel 3 :

[Question ID = 2132][Question Description = S3_qSNz_PG_COM_Q02]
1. International Franchising/simerdR warstisi[Option ID = 8525]

2. Licensing/ems3iRer [Option ID = 8526]

3. Contract manufacturing/dr fafewifur [Option ID = 8527]

4. Joint ownership/2igep Faiférea [Option ID = 8528]

Correct Answer :-
e [nternational Franchising/siaerctr garsfSist[Option ID = 8525]

3) Fillin the blanks

The collapse of Eastern Europe in and USSR in lead to emergence of the transitory economies.

J gdi R SiR ____ 3 J A TA 3R D WA A RARIT refeaazer ol 364 331 :

[Question ID = 2133][Question Description = S3_qSNz_PG_COM_QO03]
1. 1989, 1991/1989, 1991 [Option ID = 8529]
2. 1988, 1995/1988, 1995 [Option ID = 8530]
3. 1997, 1991/1997, 1991 [Option ID = 8531]
4. 1980, 1987/1980, 1987 [Option ID = 8532]

Correct Answer :-
e 1989, 1991/1989, 1991 [Option ID = 8529]

4) The resource seeking FDI moves to a country where:

geagl fageft forder Bt srdsir ol ardr Fmeret YA 391 Bl 32 PRI I 3 SfEf :

[Question ID = 2134][Question Description = S3_qSNz_PG_COM_Q04]

Per capita income and size of the market are large/yfel cafep 3ir1 3iferd it 8, asIR @I PR MU aldr & [Option ID = 8533]

Technologies are available to improve productivity/3curGadr 3 JeR ciol &g Ylelfdreht 3uctser 3 [Option ID = 8534]

Raw materials and manpower are in abundance/<ar #iet 3iik @ridet yge @i & [Option ID = 8535]

Financial resources help MNCs improve their efficiency/sifére el 6t 3ufdeifer & BrRUI agreRl wuforll Bl sl BRISHIA delel 3 aigs Berdt 8 [Option ID =
8536]
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Correct Answer :-
® Per capita income and size of the market are large/yfer =ifth 3irr 3iférs 2t 8, arsiR @1 3MBR wud aiar 8 [Option ID = 8533]

5) 'A’, 'B'and 'C’' are partners sharing profits in the ratio of 3:2:1. 'D' is admitted for

.lth

6

share and 'C' should retain his original share.

The sacrificing ratio of A and B will be:



T, |, Sl ' AEicRl deamisefura 3 ¢ 20 13 'S @1 1/6 9 @ fere onfdrer fopan sirar 3 siiz 2l sruoll Her IRR &RYT w3l 3 Al gon
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[Question ID = 2135][Question Description = S3_qSNz_PG_COM_QO05]
:2/1 : 2 [Option ID = 8537]
: 3/2 : 3 [Option ID = 8538]
1 2/3 : 2 [Option ID = 8539]
:1/2 : 1 [Option ID = 8540]

AW N =
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Correct Answer :-

e 1:2/1:2 [Option ID = 8537]

6) From the following information about a firm, what will be the contribution to sales (c/s) ratio and the profit?
Sales = ¥ 100,000

Fixed Cost = ¥ 20,000

Break-even Point = ¥ 40,000

fep21l gfercorel @ aR 3 fowotifdpa Jyaen @ 3meR UR faap 3ivcrat (¢/ S) 3ro[ard 3iiR oI a=IT 3Pl ?
faast = ¥ 100,000

forra amera = ¥ 20,000

o - srem Rrefer (9o seset warse) = X 40,000

[Question ID = 2136][Question Description = S3_qSNz_PG_COM_Q06]

1. C/S = 25% and Profit = X 60,000/ fraz siercret sigpurd 25 % aiiz emer 60,000%. [Option ID = 8541]
2. C/S =50% and Profit = X 60,000/ farpzr sigrctot iopurd 50 % siz cmer 60,000%. [Option ID = 8542]
3. C/S =50% and Profit = X 30,000/ fdapz sigretet argurd 50 % i emor 30,000%. [Option ID = 8543]
4. C/S = 60% and Profit = X 30,000/ ezt sigrstet srequre 60 % iz emer 30,000%. [Option ID = 8544]

Correct Answer :-

e (/S =25% and Profit = X 60,000/ fdra sierctet sfourd 25 % ik ot 60,000%. [Option ID = 8541]

7) Which one of the following is a structured review of the systems and procedures of an organisation in order to evaluate
whether they are being conducted efficiently and effectively?

S&IAI IcAicol Dol D fere o=t [p=il Fsroar &I gunferil ik yfepsil o morcangde 3R Yurdl Go1 A o Sir 381 8, 3 ool yunferil ik
gitpRsii &t et efisn 3 ?

[Question ID = 2137][Question Description = S3_qSNz_PG_COM_QO07]
1. Financial audit/fereflr erar udten [Option ID = 8545]

2. Safety audit/3Ren crar wiien [Option ID = 8546]

3. Management audit/ggtrer crar wdtem [Option ID = 8547]

4. Cost audit/cmera crar udlen [Option ID = 8548]

Correct Answer :-
e Financial audit/frdter crar wdten [Option ID = 8545]

8) Fillin the blanks

For a holding company, all pre-acquisition profits/losses of the subsidiary company are , while all post-
acquisition profits/losses of the subsidiary company are

foriqm ®uoil @ feru srggusit wuoclt & it axr gd a1 / aifor 3, Siafep sigruslt wueil @ il a1 i e / sifor 3

[Question ID = 2138][Question Description = S3_qSNz_PG_COM_Q08]

revenue profits/losses, capital profits/losses/3mera cimer / aifor, yoil emst / aifor [Option ID = 8549]
capital profits, capital losses/ggft eme1, gt aifer [Option ID = 8550]

revenue profits, revenue losses/3RBIA e, 3RPK alfer [Option ID = 8551]

capital profits/losses, revenue profit/losses/ygft cimor / aifol, smReIA eer / @ifor [Option ID = 8552]
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Correct Answer :-
e revenue profits/losses, capital profits/losses/smera emsr / aifor, ysit emer / aifer [Option ID = 8549]

9) When the sum of exponents exceeds one
(a+b>1)

in the Cobb - Douglas production function, it causes which one of the following?

S PId - SIICRI 3eUIGol Welol Ji Il I AT uap A 3if2re dlar 3 (a+b>1 ) a sl = e 3 ?



[Question ID = 2139][Question Description = S3_qSNz_PG_COM_Q09]
1. Constant returns to scale/3curg @1 Rer gferwer [Option ID = 8553]

2. Increasing returns to scale/3curg @t agdr yferwer [Option ID = 8554]

3. Decreasing returns to scale/3curG @1 @edr yferwer [Option ID = 8555]

4. Variable returns to scale/3curc @1 uf¥adsfir yferwer [Option ID = 8556]

Correct Answer :-
e Constant returns to scale/3curs @1 Rer yfemser [Option ID = 8553]

10) A price ceiling below the equilibrium price often leads to a shortage of the commodity and possibly:

ATRI DRI A off Icaadr dlera forerifea ool A yrI: 3curc avg &I wdfl 8l sl 3 3l Fsran: orsifeiRaa 3 A el gerar Sl 3 ?

[Question ID = 2140][Question Description = S3_qSNz_PG_COM_Q10]
Commodity glut/3eurg azq &t ygeear [Option ID = 8557]

Black marketing/rem arsmst [Option ID = 8558]

Price manipulations/<le 3 32 B2 @an [Option ID = 8559]

Increased consumption/zua ¥ gfig [Option ID = 8560]

A W N -

Correct Answer :-
o Commodity glut/3cure azq &t ygeear [Option ID = 8557]

11) The cross-price elasticity of demand for complementary commodities is
QR IcUIG a3l Dl JAisT Dl 3MST DI el kS

[Question ID = 2141][Question Description = S3_qSNz_PG_COM_Q11]
1. Positive/geicaa [Option ID = 8561]

2. Zero/gg [Option ID = 8562]

3. Greater than one/u 3 siféres [Option ID = 8563]

4. Negative/spunear [Option ID = 8564]

Correct Answer :-

® Positive/gercaa [Option ID = 8561]

12) Which market form leads to more technological change and product improvements than alternative forms of market
structure?

dIeIR o forgot 3 A b U D BRUI, AEIR Aden & Jofeus wul & smer, siftre Yienf3rblrr uf¥ads a cure ez aa 37

[Question ID = 2142][Question Description = S3_qSNz_PG_COM_Q12]
1. Perfect competition/guf yferugt [Option ID = 8565]

2. Monopoly/wmifiier [Option ID = 8566]

3. Monopolistic competition/vaifeRt gferugt [Option ID = 8567]

4. Oligopoly/sreurférr [Option ID = 8568]

Correct Answer :-

e Perfect competition/yuf gferugt [Option ID = 8565]

13) The practice of delaying receipts from the foreign currency designated receivables whose currencies are likely to
appreciate and delaying foreign currency designated payables whose currencies are likely to depreciate is known as:

faSeft #1gr usIfifda 3o ymeil A giffril 3 fcia wor bt genr Kbt Fgisil o #Ald agot B geamen 3t 3z fageft g1 & »u 3 onfdra ol ggo
foroTepT JicT Tcol bt 3m9ichT 3X, 3 facia d2ol DI TR BaI SNl & ?

[Question ID = 2143][Question Description = S3_qSNz_PG_COM_Q13]

Leading/fifSsr [Option ID = 8569]
Netting/aif¢sr [Option ID = 8570]
Lagging/eifsier [Option ID = 8571]

Risk hedging/f>® 3fSier [Option ID = 8572]
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Correct Answer :-
e |eading/cfifSst [Option ID = 8569]

14) Companies strive to stockpile internally generated cash. Such a cash reserve is called

PuforIl 3MdR¥e WU A JIRIA Tt BT fRITRICT BT DI YRIRT DAl & 3 YdR &I oids RfSrdl aar waard 3?7

[Question ID = 2144][Question Description = S3_qSNz_PG_COM_Q14]
. Margin of safety/3en suia [Option ID = 8573]

. Financial float/fieftr wera [Option ID = 8574]

. Reserve float/3mf3r tera [Option ID = 8575]

. Financial slack/ferftr forféiferar [Option ID = 8576]

A w N =



Correct Answer :-

® Margin of safety/3pem suia [Option ID = 8573]

15) What is the sustainable growth rate of the company that enjoys return on equity = 30 percent and a dividend payout
ratio of 40 percent?

3 Dyl &l Aaa giy g2 o= arll Rrid! $fdad uz amr 30 yferora 3 siiz a9l sfpIdre srefura 40 yferora 3 ?

[Question ID = 2145][Question Description = S3_qSNz_PG_COM_Q15]
1. 12 per cent/12 yfewr [Option ID = 8577]
2. 18 per cent/18 yferera [Option ID = 8578]
3. 30 per cent/30 yferert [Option ID = 8579]
4. 40 per cent/40 yfererT [Option ID = 8580]

Correct Answer :-
® 12 per cent/12 yferora [Option ID = 8577]

16) Which one of the following is considered a necessary precondition by Richard Roll for markets to become efficient?

IIGIRI @ AT Folol D fere Ras a1 gRI forafeRaa 3 1 b1 uvw smagxe gd 9rd ATl SR & ?

[Question ID = 2146][Question Description = S3_qSNz_PG_COM_Q16]

1. Traders who make a living by 'beating the market' through trading/wmurst st &nmurR @ #reEr A W &2 A 3IfED 62 W HolwT Db Sfifdmt o 8 [Option
ID = 8581]

2. Free access to and flow of information/3ygen ae 7jb uga sl yars [Option ID = 8582]

3. Costless trading/empIa f2a =mr [Option ID = 8583]

4. Prices approximate a random walk/®RIcl 3 aEfRsd ¥ 3 AR - TG SRRI 3oIdT Yaloeilel el dfdal alar & [Option ID = 8584]

Correct Answer :-

® Traders who make a living by 'beating the market' through trading/<mur! st @muR @ #EmE 3 eIk 62 A 3D 62 TR HolbI DAID? SHifdd! dard & [Option
ID = 8581]

17) An economy grows at 5%, 12%, and 7% over the last three years. The average annual increase over this period would

be:

DI$ sreferazen P diet adf d 5%, 12% 3R 17% &I <2 A ARt dxdl 3 31 3m@fl @ Siral siiRia aiftfe gl dpt :

[Question ID = 2147][Question Description = S3_qSNz_PG_COM_Q17]
1. Equal to 8%/8% @ szraz [Option ID = 8585]

2. At least 8%/@a 2 war 8% [Option ID = 8586]

3. Less than 8%/8% 3t @wa [Option ID = 8587]

4. 8% or less/8% srerar war [Option ID = 8588]

Correct Answer :-
e Equal to 8%/8% @ araz [Option ID = 8585]

18) Which one of the following is CORRECT?

forgotfeilRaa af A wlot 38 3 ?
[Question ID = 2148][Question Description = S3_qSNz_PG_COM_Q18]
3 6475(1-1%)
.6475(1 — r?) o il [
1. pp="t T = —
\"_H n

[Option ID = 8589]
.6745(1— r? .6745(1 —r?)
2. PE =#/En€ T ——
Vn

Vn
[Option ID = 8590]

] .6475
= —

[Option ID = 8591]

4. — .6475(_1 e I.2) ﬂ g _ -64?5(1 —T‘J

= n
[Option ID = 8592]

Correct Answer :-

¥4
o ppo S50 -10) s ST
/n Vn

v

[Option ID = 8589]



19) If each value in a given set is increased by K, it will:

afe yed e d Y@ et K &bt o2 A gqr fan s at 53R :

[Question ID = 2149][Question Description = S3_qSNz_PG_COM_Q19]

Increase the Pearson's coefficient of skewness value/fiwerar @ ftrrior Jsspiics @6 smesn [Option ID = 8593]

No change in Pearson's coefficient of skewness value/fwarr @ fRRier AsspuIc I @IS ulkadet oét e [Option ID = 8594]
No change in Bowley's coefficient of skewness value/fawwrar @ asclt Jaoyuiic 3 @I uf¥arder oét alem [Option ID = 8595]
Reduce the value of Pearson's coefficient of skewness/ftRrler & fuardr JFssticd @1 el @ siesn [Option ID = 8596]
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Correct Answer :-

e |ncrease the Pearson's coefficient of skewness value/frwiar @& firrier esiie de smesn [Option ID = 8593]

20) A certain bivariate data byx and bxy have been calculated which is equal to 2.4 and 0.4, respectively. If the value of
the x series are all multiplied by 5 and all values of y series are divided by 2, how would it affect the value of the

two coefficients?

fep=il oferaRr fer s1er byx 3R bxy & s1vren &t 31 8 S AT 2.4 3R 0.4 D RIeR & AfS X el B A6l DI 5 A 3pun fop=n sirar 3 3R y
9jFc @ il Arell DI 2 A faIfSIa fp=n STar & dl s <1 AsIUIID] o Aol DI fhA YPR gHIfdd DI ?

[Question ID = 2150][Question Description = S3_qSNz_PG_COM_Q20]

. Both the coefficients remains unchanged/glsil J@spiiap! 3 @IS uf¥adet ot aen [Option ID = 8597]

. Both the coefficients get multiplied so byx = 6.0 and bxy = 4.0/csll s3I VI 8 B2 byx = 6.0 3ik bxy = 4.0 & st [Option ID = 8598]
. The coefficients are revised by byx = 0.24 and bxy = 4.0/3ssprie uf¥afefa 21 w2 byx = 0.24 iz bxy = 4.0 @& SRt [Option ID = 8599]

. The coefficients are revised by byx = 24 and bxy = 0.04/3ssiic uf¥afefa at @2 byx = 24 3iiz bxy = .04 @& SRt [Option ID = 8600]

A w N =

Correct Answer :-
e Both the coefficients remains unchanged/csil Jresyutici 3t @IS ufsader o1t e [Option ID = 8597]

21) Which one of the following training methods is most suitable for developing problem-solving skills?

forearferRaa & 21 ®let At gforgior fafer Jrer=m - Jamens JAdeh wlora frplRia ool 3q aifére uygm 3 ?

[Question ID = 2151][Question Description = S3_qSNz_PG_COM_Q21]
Lecture/=mz=mer [Option ID = 8601]

Case study/amrcmue® siezrrel [Option 1D = 8602]

Role playing/sjférert forats [Option ID = 8603]

Sensitivity training/3idcsrofterar yforgmor [Option ID = 8604]

A W N -

Correct Answer :-

® |ecture/=mx=ma [Option ID = 8601]

22) Which one of the following is the most suitable coping mechanism if ‘fear of overload' is the source of resistance to
change?

afe "erifferaa o1 s3' ufvade @ yferier @1 Ja a1, dl forefeiRaa 3 A @le -1 Aaifere AgRaa (wiftier Adforsa) foruca & fepnfafir 3 ?

[Question ID = 2152][Question Description = S3_qSNz_PG_COM_Q22]
Participation and involvement/2resui3Iar siiz onfdiet ot [Option ID = 8605]

Support of resources/3Rirmsi 6t sigg [Option ID = 8606]

Role redefinition and re-orientation/sjfdrr bt gordf¥smur siiz yet:aifdwdiazor [Option ID = 8607]
Role clarity and definition/gférapt &t Fusear sz uf¥siren [Option ID = 8608]

AW N -

Correct Answer :-
e Participation and involvement/ssufdrr siiz onféret 8o [Option ID = 8605]

23) Which one of the following is NOT true for the functional organization?

forgoiferRaa 3 A @it -2t ywrIica® 1001 @ fore 71t o1dl 3 ?
[Question ID = 2153][Question Description = S3_qSNz_PG_COM_Q23]

. It is based on the principle of unity of command/zs 3uder @ daer @ Rigia w smenf¥a & [Option ID = 8609]

. The discipline tends to become loose/3rgjormiat 6t ygfer dictuet &t 8t & [Option ID = 8610]

. It is useful for large-scale business/?s ®Mu® 2 d RMAARI D few 3uw=iel & [Option ID = 8611]

. Functional managers are specialists in their respective areas/ywmrifcred Yetrd 3ol Adfid giqi 3 fagust 2 & [Option ID = 8612]

A W N -

Correct Answer :-
® |t is based on the principle of unity of command/=@ snger @& ¥ & Rrgia w smenfsa & [Option ID = 8609]

24) According to Plutchik, which one of the following is NOT a secondary emotion?



wiities & st foroiferlRad & A @ia - 2 fgdiae dAdcen ot 3 ?

[Question ID = 2154][Question Description = S3_qSNz_PG_COM_Q24]
Hostility/fagw [Option ID = 8613]

Insecurity/srgen [Option ID = 8614]

Distrust/siféear [Option ID = 8615]

Fear/s2 [Option ID = 8616]

A WN -

Correct Answer :-
® Hostility/feagw [Option ID = 8613]

25) In Banking Technologies, Star Topology involves:

dfopar amefidl d Fer Auldish 3 onfirer axar 3 :

[Question ID = 2155][Question Description = S3_qSNz_PG_COM_Q25]

Each node is joined to the central node by a separate medium/yI® sils v YuD AP D ST DRI oils A st alr & [Option ID = 8617]
Devices are connected in a close loop/3udzur swituadf qu 3 g3 @t & [Option ID = 8618]

Information is passed from one node to another in series/ud oiis A GR olls 9 ol YAca.g U 4 sl st & [Option ID = 8619]
Devices on the network are connected to a single continuous cable/dlca® @ 3udmur vael Add Dl A Js ald & [Option ID = 8620]

A W N -

Correct Answer :-
e Each node is joined to the central node by a separate medium/y=I® sils v YuD ARHA D ST DRI oils A st alr & [Option ID = 8617]

26) Which one of the following statement is FALSE regarding transactions of Internet Banking?

geolc dfdpor AiIasRl @ aR 3 forsifciRaa 3 A dlel AT Derol AT & ?

[Question ID = 2156][Question Description = S3_qSNz_PG_COM_Q26]

. Statement of account is for a specific period/uve smafer fid @ fere erar f@zvft [Option ID = 8621]

. Withdrawal of cash anywhere in India/sma 3 @&l ot orps forprit [Option ID = 8622]

. Balance inquiry/swr - 9w 3dft gwars [Option ID = 8623]

. Transfer of funds from one account to another account/ve® ar 3 &R & df foifér @1 si=ur [Option ID = 8624]

A wWw N =

Correct Answer :-
e Statement of account is for a specific period/uve smafer fad @ fere erar fazoft [Option ID = 8621]

27) Which of the following is NOT the feature of the Indian capital market?
forgotferfRaa 3 A o= smclizr goht areir &t frdraar ordt 3 ?
[Question ID = 2157][Question Description = S3_qSNz_PG_COM_Q27]

Government rules and regulations/r®! formr siiz faforer [Option ID = 8625]

Utilises intermediaries/s6i aeerzell o1 3uziler fopen siar & [Option ID = 8626]

Link between savers and investment opportunities/ss aadmaisi iz forder @ s @ dta &t st 3 [Option ID = 8627]
Co-promotes state-level venture funds/<wi a3k SiiRkae f[AfiRI @I AsAdgel el & [Option ID = 8628]

A W N -

Correct Answer :-
e Government rules and regulations/=r®R! forwt iz fafermr [Option ID = 8625]

28) Which one of the following statements are the advantages of the Decision Support System (DSS)?

forgotferR3aea 3 3 diol AT weral forvir erelsr yuicht (St v va) @ oo amrert 8 ?

[Question ID = 2158][Question Description = S3_qSNz_PG_COM_Q28]

1. Unaware of Assumptions/gd emum 31 sfetfdrsiar [Option ID = 8629]

2. Generates new evidence in support of a decision/fep=ft foufer @ erelor 3 ornr yemvr St @2ar & [Option ID = 8630]
3. Difficulty in quantifying all the data/wra ster & swren 3 wfdens [Option ID = 8631]

4. System design failure/ygureft sifdipeu fawerar [Option ID = 8632]

Correct Answer :-
e Unaware of Assumptions/qd amun 3 smeiférstar [Option ID = 8629]

29) Which one of the following generations is more pragmatic and individualistic?

forgotfeiRaa 3t A ®dior A il siferp gl siiz cafepard 3 ?
[Question ID = 2159][Question Description = S3_qSNz_PG_COM_Q29]

Silent generation/dilet digt [Option ID = 8633]
Baby Boomers/adl ggzf [Option ID = 8634]
Gen X/3wt X [Option ID = 8635]

Gen Y/Smt Y [Option ID = 8636]

A w N -

Correct Answer :-



e Silent generation/dilar dict [Option ID = 8633]

30) Which one of the following vehicles is used when traffic building is the consumer promotion objective?

SId 91ls DI b itfa el Iusilehl Aacked @1 329 31, Al foafciRad 3 A Dol - A LM DI IURIIGT fop= Sirer 3 ?

[Question ID = 2160][Question Description = S3_qSNz_PG_COM_Q30]
Discount sales/«g w2 faagt [Option ID = 8637]

Special events/fddw smritsior [Option ID = 8638]

Coupons/@uet [Option ID = 8639]

Catalogue offers/fawer - 3yt (dereifor) siw=i [Option ID = 8640]

A wWw N -

Correct Answer :-
e Discount sales/«g w2 faagt [Option ID = 8637]

31) In which one of the following services price sensitivity is high?

forgotferRaa 3t 2 o1 Aan A bisra dcoroficrar 3ca akdt 3 ?
[Question ID = 2161][Question Description = S3_qSNz_PG_COM_Q31]

. Airlines/wremssar [Option ID = 8641]

. Car rentals/@r @ fsare [Option ID = 8642]

. Sea Transport/siet uf¥aset [Option ID = 8643]
. Retailing/xgg2r =mr [Option ID = 8644]

A W N -

Correct Answer :-
e Airlines/wremsst [Option ID = 8641]

32) With reference to product hierarchy, life insurance is an example of:

Scurg Alurfordsl @ Jcst i Stidor dien forgoiferRaa 3 A foaamT ezt 8 ?

[Question ID = 2162][Question Description = S3_qSNz_PG_COM_Q32]
1. Product family/3cure ufsar [Option ID = 8645]

2. Product class/3curg asf [Option ID = 8646]

3. Product line/3eurg 31 [Option ID = 8647]

4. Product type/3curs yor [Option ID = 8648]

Correct Answer :-
e Product family/3cure uf¥arz [Option ID = 8645]

33) In which of the following cases, the Doctrine of Supervening impossibility will apply?

forrarferRaa & A fopr sARIa 3 sifdadl srisireaar o1 Rigia cey dlen?

[Question ID = 2163][Question Description = S3_qSNz_PG_COM_Q33]

1. Difficulty in performance/orf forurger 3 @fdors [Option ID = 8649]

2. Commercial Impossibility/cranfs srisierar [Option ID = 8650]

3. Impossibility known to the parties at the time of making of the contract/3ifdcr @ @RI ugipRl @l i srisRIar [Option ID = 8651]
4. Strikes, Locks-outs, and civil disturbances/ssdret, daremrsict siiz sRieer 3uga [Option ID = 8652]

Correct Answer :-
e Difficulty in performance/®rf forurgor 3 wfdons [Option ID = 8649]

34) Which one of the following State Taxes have NOT been replaced by GST?

forgotferiRae 3 2 fop1 I D2 DI SHwIél grRI yferranttd o8l fior srim 8 ?

[Question ID = 2164][Question Description = S3_qSNz_PG_COM_Q34]

. Taxes on lotteries, betting, and gambling/cifc$l, Jrgarsit siiz g w2 @2 [Option ID = 8653]
. Special additional duty of customs/fagiy sifei¥ep 2fiem gjed [Option ID = 8654]

. Purchase Tax/az1 @2 [Option ID = 8655]

. Luxury Tax/fenf3rr w2 [Option ID = 8656]

A W N -

Correct Answer :-

e Taxes on lotteries, betting, and gambling/cifedl, Rerstt sz g3 w @2 [Option ID = 8653]

35) Which one of the following statements are TRUE about the contract of Bailment?
forgoiferRaa 3 3 Dl - AT DA IUTOIEIGT PR D &1 3 A3 & ?

[Question ID = 2165][Question Description = S3_qSNz_PG_COM_Q35]



Hiring of bank locker is a contract of Bailment/d cii2 fdb2re w2 clon 3uferenst 2R 3 [Option ID = 8657]

Bailee has a right of the general lien /sl @ e amvnfisr @ sifeiprz 2 [Option ID = 8658]

Money deposited in fixed deposit with a bank is a contract of Bailment/d 3 Jmafer @ 3 S &t o1 Afor uforenst w2 3 [Option ID = 8659]

A contract of Bailment does not result when a person leaves some goods with his friend for being looked after/3ufsrermer w2 &bt ufdvifer oidt axcft 2 s/a DI
Ifep 3ol i D URI | Y Sxa9Id fobe Sl @ o 81s dar & [Option ID = 8660]

A W N -

Correct Answer :-
e Hiring of bank locker is a contract of Bailment/d ciid2 fdbare w2 clonr 3uforenet w2z & [Option ID = 8657]

36) Which one of the following is NOT true regarding input tax credit to avoid cascading effect?

qurdl ga1a A Jaol D e sicrel a2 B ¥ (serye ot B39 @ an I forvarferlRaa 3 A1 wlet 138 o1 dl 3 ?

[Question ID = 2166][Question Description = S3_qSNz_PG_COM_Q36]

1. Input Tax credits of SGST can be utilised for payment of SGST first and balance for payment of IGST on outward supply /v Sit w1 & @ soiye Sa1 @ e
I $3ICT Uacl B oft B ¢ &l JAcrplt & fore siiz aiférd @1 st afdsfdl smyfef el amg Sft war ¢ &t AgrpR & ferw fpen o1 Awar & [Option ID = 8661]

2. Input Tax credit of UTGST can be utilised for payment of UTGST first and balance for payment of IGST on outward supply/?L& it vt & @ soige St
@ [T strer usel . it v ¢ bt JAcrplt @ forw sl aiféo @1 sedemer afgFdt smyfef Jidelt 3 Sit war ¢ 6t Jicrplt @ fore fisen s wwar & [Option ID = 8662]

3. Input Tax credit of SGST/UTGST can be utilised for payment of CGST/wat 5it wat ¢t/ 3 ¢t it vt & @ solge a1 B [l s =i Sit vt ¢ & Aorpl @
fopem s 2t & [Option ID = 8663]

4. Input Tax credit of CGST can be utilised for payment of CGST first and balance for payment of IGST on outward supply/=ft Sit vt & & solge a1 @[3
1 $3IIeT Uacl 2 Sff vt ¢t Jorpl & fore i aiffd @1 securer afdsdt smyfef uz ang Sft wer & 6 Jicreft & o fdsar s 3war & [Option ID = 8664]

Correct Answer :-

e [nput Tax credits of SGST can be utilised for payment of SGST first and balance for payment of IGST on outward supply /e Sft vt & @ soiye a1 B fde
BT SIWIICT Uael TA St B ¢ &t Jorplt & fore siie aiffrd @1 sedumer afdsfxdt smyfef ietft ams Sft war ¢ &t Aorph & ferw fpen s srar 2 [Option ID = 8661]

37) Tax Audit is compulsory in case a person is carrying on a business whose gross turn over/receipts exceeds:

forgatfeiRaea 3t A fooaar A sifer Amer srad / IR 3ol uR RGART & g @2 siddervr siforart 3 ?

[Question ID = 2167][Question Description = S3_qSNz_PG_COM_Q37]
1. Rs. 40 lakh/40 e . [Option ID = 8665]
2. Rs. 50 lakh/50 cra . [Option ID = 8666]
3. Rs. 1 crore/1 @3s . [Option ID = 8667]
4. Rs. 60 lakh/60 @ra . [Option ID = 8668]

Correct Answer :-
® Rs. 40 lakh/40 cmza ». [Option ID = 8665]

38) The due date of the first instalment of advance tax paid by an assessee other than the company is:

DUGHl @ 3ICIAl DISIAT FRI BIH B Il D YA fboa ol s ferfr 3 ?

[Question ID = 2168][Question Description = S3_qSNz_PG_COM_Q38]
1. 15t April/15 adet [Option ID = 8669]

2. 15t June/15 et [Option ID = 8670]

3. 15t September/15 Rasaz [Option ID = 8671]

4. 15t December/15 Rziaz [Option ID = 8672]

Correct Answer :-

e 15% April/15 aijer [Option ID = 8669]

39) Section 80GGC of Income tax is:
3iRIp2 o emrer 80 St oft #Hi 2 :

[Question ID = 2169][Question Description = S3_qSNz_PG_COM_Q39]

1. Deduction in respect of contribution given by any person to political parties/fpit cifep gRI Austeiifeid Gell @l f&u s siorgror 3 Adfed ocidt [Option ID =
8673]

2. Deduction in respect of contribution given by any company to political parties/ it @usht grRI IswHifcrs Geil ot f&u s sigeret A AdferT wdldt [Option ID =
8674]

3. Deduction in respect of certain donation for scientific research/dsiufor® ofter @ fere @feraRr <id 3 2dfia acldt [Option ID = 8675]

4. Deduction in respect of rent paid/féw s fésrt 3 ddfera weldt [Option ID = 8676]

Correct Answer :-

e Deduction in respect of contribution given by any person to political parties/ =it ®Iftb gRI it geil @I f&u s1e sigcrot A dfea odldl [Option ID =
8673]

40) The partial integration of agricultural with non-agricultural income is done in case of:

Dfty @ 12 317 - DY 311 B S Aol pad> AR d = sirer 3 ?
[Question ID = 2170][Question Description = S3_qSNz_PG_COM_Q40]



Firm/wdf [Option ID = 8677]

Company/wusft [Option ID = 8678]

Co-operative society/rs®Rt JRmsct [Option ID = 8679]
AOP/BOI/w 3it dl/ ft it 3 [Option ID = 8680]

A W N -

Correct Answer :-
e Firm/wdf [Option ID = 8677]

41) Buoyancy is a basic principle of taxation which means:

A. The system should be such that cost of collection is least

B. Tax obligation of the payers should be well determined

C. The system should be such that the tax revenue has the inherent tendency to increase as the economy grows
D. Tax base should be fairly diversified so that the tax burden is widely spread

Choose the correct answer from the options given below:

@Aeret B Jergd RBigia @ su i Iegeerdr o1 o= ifiyrr 3 ¢

A. yorreht 321t Sl anfde & Fisggur &t aPa oot 3t

B. sperareipalsiia® o= ciRra Jfoifa dlen anffe

C. guircil &1 glofl anfde fob sreferazen 3 giy dlol UR @2 Isrra 3 gly @1 seafsifda ygfea 8
D. @2 sneanz @ Fafaea dion aifge aifs w2 dist @l fardr cmu® &

ofi o s1u fweul & A A8} IR @I wRI6 HifSrT :

[Question ID = 2171][Question Description = S3_qSNz_PG_COM_Q41]

A only/aact A [Option ID = 8681]
A and B only/dact A siiz B [Option ID = 8682]
C only/a5aer C [Option ID = 8683]
D only/asaer D [Option ID = 8684]

AW N -

Correct Answer :-
® A only/aac A [Option ID = 8681]

42) The term current account transaction is defined as a transaction other than a capital account transaction and without
prejudice to the generality of the foregoing, such transaction includes:

A. Overseas direct investment, (ODIs) from India

B. Payment due as interest on loans and as net income from investments

C. Remittances for living expenses of parents, spouse, and children residing abroad
D. Borrowing or lending in foreign exchange and in Indian rupees

Choose the correct answer from the options given below:

Iy, Al AHRIGER 'US’ Dl Yoil 11 IoaasiR A R 3R ydomedl Acarasr &l Arsre=Iarn @ yfe gdis A3d icadasr @ wu i fopan siar 3 :
A. ara A siaRdsr geaer foraer (3 31 arrg)

B. >pull Uz carst @ %4 3 3iiz foraell A foraet =T @ U 3 A YaTIdlol

C. fagor 3 3501 aret #rar - forar, ufer / ucoft siiz gl & Sfiaer a6t Hdeh ey & fere Qi ererRIfor

D. ol faforrr Jgr iR adilr U & IR Flor 3iR JemR ol

ofi o s1u fwseal & A A8} IR BT wRI6l BT :

[Question ID = 2172][Question Description = S3_qSNz_PG_COM_Q42]

A and D only/dact A siiz D [Option ID = 8685]
A and B only/dact A siiz B [Option ID = 8686]
B and C only/dqet B siiz C [Option ID = 8687]
D only/aaet D [Option ID = 8688]

A W N -

Correct Answer :-
e Aand D only/addc A siiz D [Option ID = 8685]

43) The technique of marginal costing is based upon which of the following assumptions:
A. Fixed cost will tend to remain constant or unchanged for the entire volume of production
B. Variable cost remains constant per unit of output irrespective of the level of output

C. There will not be any change in pricing policy due to change in volume, competition, etc.



D. Operating efficiency of the firm may increase or decrease

Choose the correct answer from the options given below:

Hiaria et forerfzor acofias forwafelRaa 3 A fper ydenzomaii uz smenfea 3 ?

A. e cera & ygia J#e) scurce 3 forra ar squfyafeda giet &I il 3

B. uf¥aderefict e Scuce @ Iz A GRIYA sl Icurcel & YId fore 3 fora Jaar 3
C. uf¥amvi, gferruelf scnfe 3 uftade & orur Hleara fererfzor sfifer 3 B uf¥ader o8l den
D. gfersorol &I yooriicae @morerdar # gl a1 Briac 8l Ad«dl 3

il fou s1u Rreseul 3 A W IR BT w6l HIfSIE ©

[Question ID = 2173][Question Description = S3_qSNz_PG_COM_Q43]

1. Aand B only/d>aet A siiz B [Option ID = 8689]

2. A, B and D only/daer A, B 3iiz D [Option ID = 8690]
3. A, B, Cand D/A, B, C iz D [Option ID = 8691]

4. A, B, and C only/dsaer A, B sfiz C [Option ID = 8692]

Correct Answer :-
® A and B only/d@act A siiz B [Option ID = 8689]

44) The sources of the Indian GAAP (IGAAP) include:
A. Indian Companies Act, 2013

B. Notifications issued by Ministry of Finance

C. Accounting standards

D. ICAl's pronouncements

Choose the correct answer from the options given below:

R Sif © © di (33 Sit © udl) o Fiai # onfdrer 3 :

A. s wueil sif2rforerer, 2013

B. fort dAqIeI SRI SR SIf2RIE6Ie

C. < gurreht Jers

D. ams 3fi € anrd &1 sgvony

il fou s1u freseul 3 A I IR BT ToT HIfSIE ©

[Question ID = 2174][Question Description = S3_qSNz_PG_COM_Q44]

1. Aand C only/a@det A 3iz C [Option ID = 8693]

2. B, C, and D only/aact B, C siiz D [Option ID = 8694]
3. A, B, and C only/dact A, B 3iiz C [Option ID = 8695]
4. A, C, and D only/@aer A, C siiz D [Option ID = 8696]

Correct Answer :-
® A and C only/aaa A siiz C [Option ID = 8693]

45) Which among the following are generally accepted methods of accounting for price level changes?
A. Replacement Cost Method

B. Current Purchasing Power Method

C. Opportunity Cost Method

D. Current Cost Accounting Method

E. Standard Cost Method

Choose the correct answer from the options given below:

I TR A ul¥ader @ crEidel & AwIeIa: Ffiad kR ola 2t 3 ?
A. gftremuat eeEa ugl

B. ar o 91ftp ugfer

C. 3@aR aPI ugfha

D. @i eI craidel ugla

E. s6I cera ugfer



offa f3u a1u faaseul 3 A W8 IR DI TR BRI
[Question ID = 2175][Question Description = S3_qSNz_PG_COM_Q45]

. A and C only/daet A siiz C [Option ID = 8697]
. A, B and C only/daer A, B iz C [Option ID = 8698]
. B and D only/daet B aiiz D [Option ID = 8699]
. C, D and E only/aaa C, D siiz E [Option ID = 8700]

A W N -

Correct Answer :-
e Aand C only/aae A siz C [Option ID = 8697]

46) ldentify three conditions that a firm must meet to practice price discrimination:
A. The firm must have some control over the price and the product

B. The firm must operate in the growth phase of its product life cycle

C. The markets in which products are sold must be separable

D. Price elasticity of demand for the product must differ

E. The firm operates its plant at full capacity

Choose the correct answer from the options given below:

3ot flol ordf &t usarer HIfvre fred g1 2ol Hlard favle =rasr 3q fpfl waf & fre siforart 2 :
A. w3 @I 3curg &t Hlara uR @ orRIqUI @A el A

B. w3t o1 BRI garere! 3ud 3curs Sfiael aa@ @ Hqfy; ore 3 dlon aile

C. fSro1 arsIRI 3 Seurci &I f¥a} Bl 3 3o¢ geras v Sirelr Jwd glel @fde

D. 3curc & feru it bt Hlare clra Broot ol anfdw

E. waf aruer 3iic] @Y guf gwrar uz acms

il f3u a1 fraseul 9 A A IR BT Il HIRdIE ©

[Question ID = 2176][Question Description = S3_qSNz_PG_COM_Q46]

. A, Band C only/dqe A, B siiz C [Option ID = 8701]
. A, Cand D only/@aet A, C siiz D [Option ID = 8702]
. B, D and E only/dact B, D aiiz E [Option ID = 8703]
. B, Cand D only/@ae B, C siiz D [Option ID = 8704]

A wWw N =

Correct Answer :-
e A, Band Conly/dact A, B 3iiz C [Option ID = 8701]

47) A U- shaped long-run average cost curve is based on the assumptions that

A. Economies of scale prevails at small levels of output

B. Diseconomies of scale prevails at larger levels of output

C. Benefits of the division of labour and specialisation accrue more at the lower scale of production
D. Managerial inefficiencies are prone to a higher scale of operations

Choose the correct answer from the options given below:

TP Y PR Bl SpIferas siikId aiPra aqy s gdenon uz snenfyd atar 3 & :
A. af¥arvI e Fad 3curcel & o TRl uR feniet axcdt 3

B. uf¥ammr seres sifor Scurcel @ gewr IRl UR fdener Bt 3

C. o fasirstor 3z fAfIrsdias2uT @ cImt Scurgal @ fogolaR ¥R uR 3ifird A 3
D. yarciol @ Icad? ¥R UR YaerhbRI Igiadr bl JAsiraer aiféra 3ict 3

il feu sru faresedl 3 A A8 IR D1 WRIel B :

[Question ID = 2177][Question Description = S3_qSNz_PG_COM_Q47]

1. A, B and C only/daet A, B siiz C [Option ID = 8705]
2. B, C and D only/a@aet B, C sliiz D [Option ID = 8706]
3. A, C, and D only/a@act A, C siiz D [Option ID = 8707]
4. A, B, Cand D/A, B, C iz D [Option ID = 8708]

Correct Answer :-
e A, Band Conly/aac A, B siiz C [Option ID = 8705]



48) Cash flows are presumably reinvested in capital budgeting decisions at
A. Discount rate

B. Market rate

C. Cost of capital

D. Riskless rate

E. Internal rate of return

Choose the correct answer from the options given below:

ysilora ssic forariur forofil 31 AR o19Tc Yarsl @l Yot: forder fewaifend 3t A fopol g2l ur fep=n sirar 3 ?
A wziee

B. ssIR 52

C. ggit &l cpra

D. siifRaw Mf3a <=

E. gfersa M3a g2

i) feu s1u farasedl 3 A A8 IR D1 WRIet B :

[Question ID = 2178][Question Description = S3_qSNz_PG_COM_Q48]

1. A, Cand E only/daer A, C 3iiz E [Option ID = 8709]
2. B, C and D only/dsaa B, C siiz D [Option ID = 8710]
3. C, D andE only/aaet C, D siiz E [Option ID = 8711]
4. A, Cand D only/@ae A, C siiz D [Option ID = 8712]

Correct Answer :-
e A, CandE only/aae A, C siiz E [Option ID = 8709]

49) The basic premise of the MM-approach is based on which of the following assumptions?
A. Asymmetrical information

B. Efficient capital markets

C. Investor rationality

D. Diverse business risk profile

E. 100% dividend payout ratio

Choose the correct answer from the options given below:

w31 wdl. Rigia oI 3a1 sner ara fogeifei¥aa 3 21 fpet ydenrumsii uz snenfea 3 ?
A. sraasiifer g

B. moret gsil arciR

C. fordore &t gfgarar

D. faferer wra=ir SiRqer &b wuzr

E. o yferord eimsiior Fcrpil ropurda

il fou o1 frapeul 3 A A IR BT a6l HIfSIE ¢

[Question ID = 2179][Question Description = S3_qSNz_PG_COM_Q49]

A, B and C only/@aa A, B siiz C [Option ID = 8713]
C, D, and E only/a@ae C, D siiz E [Option ID = 8714]
A, C and E only/adact A, C 3liz E [Option ID = 8715]
B, C and E only/daet B, C siiz E [Option ID = 8716]

AN w N -

Correct Answer :-
® A, Band C only/aac A, B iz C [Option ID = 8713]

50) Identify the components of the credit policy of a business firm from the following:
A. Collection policy

B. Factoring

C. Credit rating

D. Credit analysis

E. Terms of sale



Choose the correct answer from the options given below:

forgatferRaa 3 3 ek yfersoret & Armciifer @ Jacs! 6 usars B :
A. Iispgur Shfer

B. daci¥st

C. A forerizur

D. sra fepcsuor

E. faa3 &bt orct

i) feu sru fareedl 3 A A8 IR D1 TRIet B :

[Question ID = 2180][Question Description = S3_qSNz_PG_COM_Q50]

B, C and D only/a@act B, C siiz D [Option ID = 8717]
A, D and E only/@aet A, D siiz E [Option ID = 8718]
C, D and E only/asaet C, D siiz E [Option ID = 8719]
A, C and D only/daet A, C siiz D [Option ID = 8720]

AW N =

Correct Answer :-
e B, Cand D only/aact B, C siiz D [Option ID = 8717]

51) The values in one of the series in a bivariate data set are multiplied by a constant K, which of the following would
change as a result of this?

A. Karl Pearson’'s coefficient of correlation
B. Standard deviation

C. Covariance between the variables

D. Rank correlation coefficient

Choose the correct answer from the options given below:

f&ar s1e1 &Y ves 9jzae @ el @ K 3R A Igfore fop= S 3, s3I werazeu 3 A fiperdt uf¥acder dem ?
A. orct RrRia o1 s« Ao

B. #mora fereretor

C. I @ dfa I8 gIRuI

D. d® wsdde AsIWID

il feu sru fareedl 3 A A8 IR D1 TRIet B :

[Question ID = 2181][Question Description = S3_qSNz_PG_COM_Q51]

1. A, B and C only/dact A, B siiz C [Option ID = 8721]
2. Band C only/dsaet B siiz C [Option ID = 8722]
3. A, and D only/dact A siiz D [Option ID = 8723]
4. A, B, and D only/dqet A, B iz D [Option ID = 8724]

Correct Answer :-
e A, Band C only/aac A, B iz C [Option ID = 8721]

52) Which of the following statements are CORRECT?

A. The critical value of Z for two tailed test with a = 0.5 is 1.96

B. The critical value of Z for a two tailed test with a=0.01is 2.575
C. The critical value of Z for one tailed test with o = 0.05 is 1.96

D. The critical value of Z for a left-tailed test with a=0.01is -2.33

Choose the correct answer from the options given below:

forFaiferRaa 3 A it AT Dot A8 3 ?

A. a = 0.5 @ 11 fxyeoda udlsur & fore z o1 @ifere aier 1.96 3

B. a = 0.01 & e fxgcoe udlemn & fére z ot @iftre #er 2.595 3

C. a = 0.05 @ zmrer waper yeoer uslgror @ fere z o1 @ifere arer 1.96 3
D. a = 0.01 @& 1121 9wt Y<ovdl uslervr @ fere z o1 @ifere e 2.33 3



ofia fu sru farpeul 3 A 2t IR DI R Diferm :
[Question ID = 2182][Question Description = S3_qSNz_PG_COM_Q52]

1. A, B and C only/adct A, B siiz C [Option ID = 8725]
2. B, C and D only/daer B, C 3iiz D [Option ID = 8726]
3. A, Band D only/daa A, B siiz D [Option ID = 8727]
4. Aand B only/dact A siiz B [Option ID = 8728]

Correct Answer :-
® A, Band C only/aaer A, B siiz C [Option ID = 8725]

53) Incentives schemes where earnings differ at different levels of output are:
A. Gantt Task System

B. Halsey Plan

C. Rowan Plan

D. Bedaux Plan

E. Emerson’s Efficiency Plan

Choose the correct answer from the options given below:

SId 3culcel @ faftioet TRl U= IRl ufsafcia sicit 3 aa Yicsd AlSiolsli Bl el ST & &
A. 3fc ecr@ Rea

B. a1c1 wetror

C. 3gal welet

D. 3Sfa=1 wirar

E. serior &1 orRiggrcEr Alson

ofid o s1u fwsedl & A A8 IR BT <RIl HIfIU :

[Question ID = 2183][Question Description = S3_qSNz_PG_COM_Q53]

1. B and E only/@ae B siz E [Option ID = 8729]
2. A, Cand E only/a@aet A, C 3iiz E [Option ID = 8730]
3. A, Cand D only/a@ae A, C aiiz D [Option ID = 8731]
4. A and E only/a>aer A siiz E [Option ID = 8732]

Correct Answer :-
e B and E only/@aet B siiz E [Option ID = 8729]

54) The functions of lower management are:

A. Executing plans in accordance with the policies and directives of the top management
B. Maintaining discipline among the workers

C. Selecting suitable operative and supervisory personnel

D. Providing training to the workers

E. Maintaining good human relations

Choose the correct answer from the options given below:

forgoractl gdtror @ oRf 3 :

A. ofief gditror &t SiferIT iz forgoll & eI ATSToII3il B eI5], Bl

B. ®@oIRl 3 3161911361 SolIe Idoll

C.3=11s yarero! iR wRiAgal @I wrRisl well

D. ®oBEIRI B gfrsiur Ysiel dIol

E. 3ot #AeIdi Jdder gole el

il R a1e frapedl 3 A A8 IR @I TRIeT HIfSIE Yol :

[Question ID = 2184][Question Description = S3_qSNz_PG_COM_Q54]

A and B only/d>qet A siiz B [Option ID = 8733]
C and D only/a@aet C siiz D [Option ID = 8734]
B, D and E only/dact B, D siiz E [Option ID = 8735]
A, B and C only/a@aet A, B siiz C [Option ID = 8736]

A w N =

Correct Answer :-



® A and B only/dact A siiz B [Option ID = 8733]

55) Which of the following are the limitations in the creation of credit of commercial banks?
A. The amount of cash that commercial banks possess

B. Supply of collateral security

C. Monetary policy of the central bank

D. Allied deposits scheme

E. Deposits linked with special benefits

Choose the correct answer from the options given below:

forgatferRaa 3 3 Plat - Mt arfdifSae Jat 3 o1 B Foter &t 2fiame T ?

A. o156 bt 2131 it arfvrfsaes ot & urt 3

B. duif*des yfersyfer bt smyfef

C. BRI o i A ofifer

D. Jag Stam Alsteln

E. faorg cmsil A 3t some

ofid 3w a1 fwseal & A A8 IR BT wRI6T HIRdIT :

[Question ID = 2185][Question Description = S3_qSNz_PG_COM_Q55]

A, D and E only/@aet A, D siz E [Option ID = 8737]
A, C and E only/a@aer A, C siiz E [Option ID = 8738]
C and D only/aaet C sfiiz D [Option ID = 8739]
D and E only/@aet D siiz E [Option ID = 8740]

A w N -

Correct Answer :-
e A, DandE only/a@ac A, D iz E [Option ID = 8737]

56) Which of the following is INCORRECT about ways, the RBI can affect the structure of interest rates?
A. By changing the treasury bill rate

B. Blending of leading and trading activities

C. By changing the Bank rate

D. Fixing the maximum interest on time deposits with the bank

E. Ineffective tapping and mobilization of savings

Choose the correct answer from the options given below:

a1ST 21 &l el B HReRI Rord a5 grR1 genfaa oot & adiel & e i HrafeRaa 3 A wler A src@a 3 ?
A. DHPRIR [ g2 3 uf¥ade o

B. 3emd Sof 3iiz camunfyas sifeifaf?rRil w1 JAmdcre wIid

C. do <2 9 ufradsr wa

D. ool 3 smaffres s R AGiffis TSt o2 ORI wd

E. saa o1 srgsirdl 3urier 3iiz JAsgur

i) feu s1u famedl 3 A A8 IR D1 WRIe BRI :

[Question ID = 2186][Question Description = S3_qSNz_PG_COM_Q56]

1. Aand D only/ddct A 3iiz D [Option ID = 8741]
2. D and E only/@aet D iz E [Option ID = 8742]
3. B and E only/@aet B sz E [Option ID = 8743]
4. A, C, D andE only/@ae A, C, D aiiz E [Option ID = 8744]

Correct Answer :-
e A and D only/aact A siiz D [Option ID = 8741]

57) Constituents of Integrated marketing are:
A. Customers
B. Price

C. Communications



D. Products and services
E. Channels

Choose the correct answer from the options given below:

ueblape fravTet & 3@ 3 ¢

A. s>

B. gca

C. dAguur

D. 3curc 3iiz Aarg

E. deta

i) feu s1u faresedl 3 A A8 IR D1 WRIet B :

[Question ID = 2187][Question Description = S3_qSNz_PG_COM_Q57]

1. A, B and C only/daet A, B siiz C [Option ID = 8745]
2. C, D andE only/asaa C, D aiiz E [Option ID = 8746]
3. B, C, D and E only/aaea B, C, D siiz E [Option ID = 8747]
4. A, B, D and E only/dsaet A, B, D siiz E [Option ID = 8748]

Correct Answer :-
e A, Band Conly/aac A, B iz C [Option ID = 8745]

58) Factors that reduce price sensitivity are:

A. Buyers cannot store the product

B. The expenditure is a larger part of the buyer's total income

C. Buyer are aware of substitutes

D. The product is used in conjunction with assets previously bought
E. Part of the cost is borne by another party

Choose the correct answer from the options given below:

¥ DR® Rrotdl Hlara &I Adcoreficrar ac siedt 3 :

A. B AI3CUIG BT HSRYI o8l B2 ADA &

B. =1 @ ardl aet 3RI T gaeR 3 3

C. @ ansiicl dofcud Icurgt &l Sioidr aldl 3

D. 3curc @ giier uscl W3S o1 ufaaufcrIl @ A1er fepan siar &

E. 51} ugipr GRI apd o 23 o ase s sirar &

il fou o1 frpeul 3 A & IR BT a6l HIfSIE ©

[Question ID = 2188][Question Description = S3_qSNz_PG_COM_Q58]

1. Aand B only/dact A siiz B [Option ID = 8749]

2. A, D and E only/dbaet A, D siiz E [Option ID = 8750]
3. C, DandE only/a@ae C, D siiz E [Option ID = 8751]
4. B, D and E only/adact B, D siiz E [Option ID = 8752]

Correct Answer :-
e A and B only/daer A siiz B [Option ID = 8749]

59) The characteristics of online and social media marketing are:
A. Personal

B. Rich

C. Timely

D. Interactive

E. Up to date

Choose the correct answer from the options given below:

sifolctrsdt 3iiz Aoret JHif3enm sadfest &bt fadruar 3 :



A. dafkp

B. agg

C. IWREg

D. siaftgzmcas

E. srerdot

ofid o s1u faseal & A A8 IR BT <RIl BT :

[Question ID = 2189][Question Description = S3_qSNz_PG_COM_Q59]

A, D and E only/@aet A, D siz E [Option ID = 8753]
B and E only/a@aet B 3iiz E [Option ID = 8754]

B, D and E only/daet B, D siiz E [Option ID = 8755]
A, C and D only/dsaet A, C siiz D [Option ID = 8756]

A W N -

Correct Answer :-
e A, DandE only/@aet A, D aiz E [Option ID = 8753]

60) A contract is said to be discharged by rescission:

A. When terms of a contract are altered

B. When a party makes novation of a contract

C. When an aggrieved party exercises his option to avoid the contract

D. When a party to a contract waives his rights under the contract

E. Where none of the parties has performed its part for a long time and no other party has objected against it

Choose the correct answer from the options given below:

forgotferfiaa 3t A fovor gomail 3 zifder fdfda @t sl 3 ?

A. s 3ifeer & ord gcet € sl 3

B. S ugirrR JHfcT @1 sidiasuT e 3

C. s Wifsa ugir ficr 3 ador @ feru sruol frascu o1 IuRNET B &

D. Sia fopht Fifdcr o1 ugioR ficr & siasia sruel IfEroRI ® 8IS a1 3

E. S ugioRI 3 A @I 9l cid AR aP 3ol 331 I forcurcat o1l fop=n 3 3l BIF 3 316w ugiPR 3D g smufe ol wear 3
il feu sru farsedl 3 A A8 IR D1 WRIel B :

[Question ID = 2190][Question Description = S3_qSNz_PG_COM_Q60]

A, D and E only/d@ae A, D siiz E [Option ID = 8757]
B, C and E only/dsaet B, C siiz E [Option ID = 8758]
C and E only/aae C 3iiz E [Option ID = 8759]
B and D only/dsaet B siiz D [Option ID = 8760]

A w N =

Correct Answer :-
e A, DandE only/a@ac A, D iz E [Option ID = 8757]

61) Which of the following are objectives of the Competition Act, 2002?
A. To prevent practices having an adverse effect on competition

B. To impede and torment competition in the market

C. To protect the interests of sellers

D. To ensure freedom of trade carried on by other participants in markets

Choose the correct answer from the options given below:

gferruert siftrformer 2002 o fowaferRaa 3 A dlot A 339a 3 ?

A. gferruert uz yferaer ygira Sictol drcl ®rRil &l At

B. arsir 3 gfereuat o fore srarier iz yferaperar Scucol ol

C. faparsiid 2l &b 281 owon

D. SEIR @ 3rcv YRl & fére camunise Facddgar Afeiaa men

il feu s1u fareedl 3 A A8 IR D1 TRIel B :

[Question ID = 2191][Question Description = S3_qSNz_PG_COM_Q61]



A, B and C only/a@act A, B aiiz C [Option ID = 8761]
B, Cand D only/a@act B, C sfiz D [Option ID = 8762]
A, Band D only/dact A, B stz D [Option ID = 8763]
A and D only/@acr A siiz D [Option ID = 8764]

A W N -

Correct Answer :-
e A, BandConly/adact A, B siiz C [Option ID = 8761]

62) Which of the following statements are TRUE in a contractual capacity?

A. Law presumes that every person is competent to contract unless otherwise proved
B. That a minor can make a contract for necessities of life

C. That a person of unsound mind can enter into the family contracts

D. A convict cannot enter into a valid contract nor can sue

E. That a wife can always make valid business contracts and bind her husband

Choose the correct answer from the options given below:

JfGIH® grarar & e 3 forafciRad i A dler- A dera A8 3 ?

A. faf?r bt gdemzon 3 16 yA® cafp et war @ e Asa 3 Afe a6 srcen Rig odt wear 3
B. f&r ok srcuaread Sfiget ot smaeawarsii @ fére dfier o2 Awar 8

C. 1 amoif3rs U A sraze cafep ullaif¥e zifdcr oz FAwar 3

D. @1 cSuf¥rg cuftp der Afder o1él @2 ABar 3 3iR of & FDGHAT B2 ADI &

E. f5 ®I1¥ ucofl zaton d¢I RIaART AfdcT B2 eg D2 ADdil 3

il f3u a1 fraseul 9 A A IR BT TRl HIdIE :

[Question ID = 2192][Question Description = S3_qSNz_PG_COM_Q62]

B, D and E only/dact B, D siiz E [Option ID = 8765]
A, C and E only/@aet A, C iz E [Option ID = 8766]
A and E only/daet A siiz E [Option ID = 8767]
B and D only/dsaet B siiz D [Option ID = 8768]

A W N -

Correct Answer :-
e B, DandE only/dac B, D iz E [Option ID = 8765]

63) Which of the following are required to be studied for a deep understanding of Income Tax procedures?
A. The Income Tax Act, 1961

B. The Income Tax Rules, 1962

C. Notifications, circulars and classification issued from time to time by the CBDT.

D. Judicial decisions

E. Companies Act, 2013

Choose the correct answer from the options given below:

3IRIB2 YfepRIn3il bt 160l st B oY forgatfeilRae 3t A1 fpaamT 3ieerIor 3rafdra 3 ?
A. 3re sififorrar, 1961

B. smrIe: forma, 1962

C. DG grAael o 9IS GRI IR IR UR SR MZRITEIT, ufeud iz Fuséiamur
D. siRres forofa

E. @usil siferforzrer, 2013

il fou o1 frpeul 3 A & IR BT TI6T HIfSIE ¢

[Question ID = 2193][Question Description = S3_qSNz_PG_COM_Q63]

1. A, C, Dand E only/a@ae A, C, D siiz E [Option ID = 8769]
2. A, B, Cand D only/daer A, B, C 3iiz D [Option ID = 8770]
3. B, C, D and E only/a@ae B, C, D siiz E [Option ID = 8771]
4. A, B and E only/addct A, B 3iiz E [Option ID = 8772]

Correct Answer :-
e A, C,DandE only/adact A, C, D siiz E [Option ID = 8769]



64) Which of the following losses are NOT deductible from business Income?
A. Loss incurred in closing down the business

B. Loss incurred due to damage destruction etc. of capital assets

C. Loss of stock-in-trade due to enemy action

D. Loss sustained before the business is commenced

E. Loss of raw material finished good-in-transit

Choose the correct answer from the options given below:

forgotferfR3ae 3t 21 fopat aIforil B ARG 3MRT A Bl oIl B I ADbdl 37
A. cqaara @ dg dlol @ ulvmarasu §$ sifol

B. Gflera snf¥erit &t gifer safé} swnfe & wrvr g¢ aifr

C. 9o1g @ e D PRI gifel, cATUI¥® Fpotr I sifol

D. caa=imrr 3Ry Blot A yd g¢ aifor

E. 2 3f ool 2wl e Al & sifet

il fou o1 frpeul 3 A & IR BT a6l HIfSIE ¢

[Question ID = 2194][Question Description = S3_qSNz_PG_COM_Q64]

A, B, C only/@>aet A, B siiz C [Option ID = 8773]
A, B, D only/a@act A, B siiz D [Option ID = 8774]
C, D, E only/a@aer C, D siiz E [Option ID = 8775]
A, D, E only/@>aer A, D siiz E [Option ID = 8776]

AN wnN -

Correct Answer :-
e A, B, Conly/dact A, B siiz C [Option ID = 8773]

65) An ITR-1 can be used by an individual having an income from
A. One house property

B. Pension

C. Intrest on Fixed Deposits in Banks

D. Winnings from lottery

Choose the correct answer from the options given below

fogatfeiRaa 3 A dlet cafep g & 3R - 1 DI IURINPT B2 ADAT 3 ?

A. BRI v Aol &I Aufed A 3mRI 3 3

B. f3r1 tigrer 3 3m=a 58 3

C. BRI o 3 RBr<t s wR sifsia <=arst 2 3 83 3

D. R cifedl Sfiaer A 3mer 8¢ 3

oikY feu a1v famedl 3 A Al 3= gforw ©

[Question ID = 2195][Question Description = S3_qSNz_PG_COM_Q65]

A, B and C only/@aet A, B iz C [Option ID = 8777]
B, C and D only/a@aet B, C siiz D [Option ID = 8778]
A, C and D only/dsaet A, C siiz D [Option ID = 8779]
A, B and D only/d@act A, B siiz D [Option ID = 8780]

A W N -

Correct Answer :-
e A, Band C only/aac A, B iz C [Option ID = 8777]

66) Match List | with List Il

List | List Il
Events 'Year

A. Bretton Woods Conference . 1948
B. GATT established 1. 1974
C. Multi-fibre Agreement 1. 1944
D. WTO replaced GATT IV. 1995

Choose the correct answer from the options given below:



&t -l @1 3 -1l gl Hifdwe :

et -1 ozt -l
(ercorr) (ad)

A. Jcot g3 AFAcTol . 1948
B. 3ic &5t Femuoln Il. 1974
C. #AcEl PR DR Il. 1944
D. faea sImuR Je160l of 3ic ol yferzenftra fvam IV. 1995

ofl fou o1 frpeul 3 3 A IR gforw ©
[Question ID = 2196][Question Description = S3_qSNz_PG_COM_Q66]

A-U,B-1,C-1V,D -l [Option ID = 8781]
A-1V,B-1,C-1, D-ll[Option ID = 8782]
A-U,B-1,C-1,D-LV[Option ID = 8783]
A-1l,B-1V,C- L, D- L [Option ID = 8784]

A W N -

Correct Answer :-
e A-I,B-L,C-LV,D- Ll [Option ID = 8781]

67) Match List | with List Il

List | List Il

A. Ind - AS: 1 [I. Provisions, Contingent Liabilities and Contingent Assets
B. Ind- AS: 29 |ll. Consolidated Financial Statements

C. Ind-AS: 37 |lll. Presentation of Financial Statements

D. Ind-AS: 110|V. Financial reporting in Hyperinflationary Economies
Choose the correct answer from the options given below:

et -l oot 3 -1l A Fafera HifSie :

oxe -| oxet -1l

A.ss-uwa: 1 |. gratmet, el Suam iR srelae ufReuftrl
B. ss-uvua: 29 |l 3ftE forikn fawor -uqg

C. ss-cvuoa: 37 |l R Razor - ugi & gt

D. ss-uvua: 110 |V. siaftrs gorbidia sieforazensit 3 Al Raiféer
ofid fou s1e fawedl & A wE Ia2 gfore ¢

[Question ID = 2197][Question Description = S3_qSNz_PG_COM_Q67]

A-1V,B- L, C- 1, D - L [Option ID = 8785]
A-lL, B-1V,C-1,D- L [Option ID = 8786]
A-U,B-1,C-1,D -V [Option ID = 8787]
A-1V,B-lll, C-1,D- L [Option ID = 8788]

A W N -

Correct Answer :-
e A-LV,B-UlC-L,D-L[Option ID = 8785]

68) Match List | with List Il

List | List Il

Nature of commodities Income Elasticities of Demand
A. Normal goods |. Greater than one

B. Inferior goods Il. Between zero and one

C. Luxurious commodities lll. Greater than zero (positive)
D. Necessities IV. Less than zero (negative)

Choose the correct answer from the options given below:

et -1 1 e -1l A @ Hife

et -1 et -lI

(Icare azqgaii &I gapie) (atio1 <BY 3Mr=I Cirar)

A. ATAGA TFq0 |. o A Siftrd

B. forgol ¥3RI arqu 1. 9fo=1 3iR b @ ok

C. farenRyar &1 azqu lll. groa1 A Siffrd (eroiIcaraD)
D. 3a9Acs ATAIABATS IV. o<1 A @ (SBUNCHD)

off<l feu oru fedl 3 A A8 3R gfore :
[Question ID = 2198][Question Description = S3_qSNz_PG_COM_Q68]

A-U,B-1,C-1V,D -l [Option ID = 8789]
A-1l,B-1lV,C-1, D -l [Option ID = 8790]
A-U,B-1V,C-1,D -l [Option ID = 8791]
A-1l,B-1V,C-l,D-[Option ID = 8792]

A W N -



Correct Answer :-
e A-IU,B-L,C-LV,D-L[Option ID = 8789]

69) Match List | with List Il

List | List Il

Hedging Concepts Description

/A. European option I. Option contract exercised on any date up to maturity

B. Option premium Il. When the immediate exercise of an option yields positive value to its holder
C. In-money option lll. Option contract exercised only on the maturity date

D. American option IV. It is paid by the buyer of the options upfront to the option seller

Choose the correct answer from the options given below:

et -1 B e -1l A g i

et | e -
(3fSie1
ferazur
ooy ()
A. RIftReT ||, v Tl fraseu Jiferer fopd uftuaddr feifdr am fipafl off feor
isifceret cIsY, [ S e 3
B. sifcerer Il. St fop=fl frpeu I arIed golol A RAD URD DI LGICHD
iferrer A YT BIer
;Ezzrm I11. derer ufvararaar Rifr az ey A3t arcft Rraseu wifrer
D. s@if¥wer V. W6 fabea B argrI fawcu faaare! der U A YoIdrel ol
isifcorer &g fpen s @

oifa feu aru faedl 3 A A8 3R gforu :
[Question ID = 2199][Question Description = S3_qSNz_PG_COM_Q69]

-1,B-1l, C-lV, D - lll [Option ID = 8793]
U, B-1V,C- L, D - [Option ID = 8794]
-1,B-1l, C- U, D -V [Option ID = 8795]
-,B-1V, C-1l, D -l [Option ID = 8796]

bl
> > > >

Correct Answer :-
e A-|,B-I,C-1LV,D-Lll[Option ID = 8793]

70) Match List | with List Il

List | List Il

A. Dispersion I. Involving relationship between the median and quartile
B. Karl Pearson's measures of skewness|ll. Based on the relationship between the averages

C. Bowley's measures of skewness lll. Using percentile

D. Kelly's measure of skewness IV. Amount of variation in given data

Choose the correct answer from the options given below:

el -1 Bt 3l -1l A R Hife

et -1 Rzl -1l

A. gdblufor |. snferep SR aqefe & dia JAder aren
B. @rct firRial @1 dusa ufema ||, siRial @ dfa Jdde ur smenfya

C. a3ell o1 due=r afesma Ill. 9191 BT GRIST

D. acft @1 dusr ufyama IV. yga il 3 yzrul & Arqr

i) feu oru famedl 3 A 8 3R gforo :
[Question ID = 2200][Question Description = S3_qSNz_PG_COM_Q70]
. A-lV,B-1l,C-1,D -l [Option ID = 8797]

-1V, B-1,C- 1, D -l [Option ID = 8798]

1

2. A

3. A-LV,B- UL, C-L,D-L[Option ID = 8799]
4. A-1,B-1,C-LU,D-LV[Option ID = 8800]

Correct Answer :-
e A-LV,B-1Ll,C-1,D-L[Option ID = 8797]

71) Match List | with List Il

List | List Il

Ego Defence MechanismDescription

A. Projection I. Returning to a previous stage of development

B. Regression Il. Acting out unacceptable impulses in a socially acceptable way|




C. Repression Ill. Placing unacceptable impulses in yourself onto someone else
D. Sublimation IV. Pulling into the unconscious
Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifsre :

oxe - | oxe -1l
(318 - 381
afer) (faezm)

A. ggiaur |. frpre1 & gdardt arur 3 i sen

B. Il. iRt sidell @ AR Hu A FdoRE ald A a2
1 G

C. g3t lll. =i @& iRt srdetl @I fap=il 3iik uc RIfta wen

D. Serfiaur  |IV. smeciaet 3 T sieln

ofid fou s1e faweal & A w8 I gfore ¢

[Question ID = 2201][Question Description = S3_qSNz_PG_COM_Q71]

A-l,B-1,C-1V,D- Il [Option ID = 8801]
A-U, B-1V,C-1,D -l [Option ID = 8802]
. A-1,B-l,C-1,D- LV [Option ID = 8803]
A-1l,B-1,C-LV, D -l [Option ID = 8804]

A W N -

Correct Answer :-
e A-UL,B-L,C-LlV,D- Il [Option ID = 8801]

72) Match List | with List I

List | List Il

A. Role of Commercial Bank I. Help to consumers
B.NBFC service Il. Mutual saving bank
C. Non-depository Institution lil. Hire purchase

D. Depository Institution IV. Mutual fund

Choose the correct answer from the options given below:

et -l ot 3= -1l A Fafera HifSto :

Rredt - Rt -1l

A. IR Jb &l sifdror I. SusiepIail @I ABRIAT
B. wor &t uw 2l Aar Il. urrufs® Taa o
C. 31 SR FFereT lll. fo3rm - @l

D. R3ulfSredl Jverri IV. ®=Igarct s

il fou o1e fyseul 3 A A IR gfom ©
[Question ID = 2202][Question Description = S3_qSNz_PG_COM_Q72]

A-1l,B-1,C-UL D -V [Option ID = 8805]
A-1,B-1lll,C-1V,D -l [Option ID = 8806]
A-1V,B-1l,C-1L, D -l [Option ID = 8807]
A-U,B-1V,C-1,D-[Option ID = 8808]

A w N =

Correct Answer :-
e A-I,B-L,C-UL,D-LV[Option ID = 8805]

73) Match List | with List

List | List Il

A. Value added by Channel Members-Low; Market Growth Rate-Low /(. Introductory stage
B. Value added by Channel Members-High; Market Growth Rate-Lowl|ll. Growth stage
C.Value added by Channel Members-Low; Market Growth Rate-High [lll. Mature stage
D.Value added by Channel Members-High; Market Growth Rate-High[lV. Decline stage
Choose the correct answer from the options given below:

Lt -l oot 3 -1l A Fgafera HifSie :

Rt - et -1l

A. olel ASHIT RI digd e ool AR glg 62 - Yol ||, IRMID srazen
B. <foTet AR GRI ald Icd - 3 d6IR gig &2 - ool |||, farT srazwen
C. Jotet AR FRI afFd A - ool d6IR gig <2 - Iea ||l af¥uaa sfazen
D. Feter AR GRI afda e - 3I<a giy o2 - Yol IV. 311 srazen
il 3w a1 fseul 3 A A8t IR gfomw :




[Question ID = 2203][Question Description = S3_qSNz_PG_COM_Q73]

A-1,B-1V,C-1lL, D -l [Option ID = 8809]
A-1l,B-1,C-UL D-LV[Option ID = 8810]
A-V,B-1,C-1l,D -l [Option ID = 8811]
A-U,B-1,C-1V,D -l [Option ID = 8812]

A WN -

Correct Answer :-
e A-|,B-LV,C-1L, D- L [Option ID = 8809]

74) Match List | with List Il relating to The Sale of Goods Act

List | List Il
A. Actionable claim |. Goods to be manufactured after the making of the contract
B. Appropriation of goods

Il. Goods owned by the seller at the time of the making of the contract of sale

Ill. Separating the goods sold from other goods so as to determine and identify the
actual goods to be delivered

D. Future goods IV. Recovered only by means of a suit or an action in a court of law

Choose the correct answer from the options given below:

C. Existing goods

et -1 Bt 3l -1l A AR Hife

et -l e -l
A. T . .
;ﬁn . 3ifdrer 3ol @ ferg Ieurcet fpe Sirol arcil avqe
B. a=qsil
[T Il. farast bt Jifdrer w2 R a3 ard Faifded arcil avqe
[faforieT

C. disier  |lll. 9=ft o1 avq3ii I 31o=a aFq3il A gem ol dIfdp faafea o siror
arqu arctl arafde aqgaii ot forerif¥a oo 3z Aadl usarer e

D. sircit
sl
ofid R s1e fcal & A 78 IR g :

[Question ID = 2204][Question Description = S3_qSNz_PG_COM_Q74]

IV. fafer sarirer 3 e A1 dRAr GRI 8 gra

A-U,B-1,C-1V,D -l [Option ID = 8813]
A-1,B-1l,C-UL D -V [Option ID = 8814]
A-1l,B-1lV,C-, D -l [Option ID = 8815]
A-LV,B- UL, C-1,D-[Option ID = 8816]

AW N -

Correct Answer :-
e A-I,B-L,C-LV,D- L [Option ID = 8813]

75) Match List | with List Il

List | List Il

A. Section 10 (1) I. Amount received involuntary retirement
B. Section 10 (10 C) Il. Agricultural Income

C. Section 10 (13 A) Ill. Leave Encashment

D. Section 10 ( 10 AA) IV. House Rent Allowance

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

Rxeht -1 il

A. et 10 (1) |. FaRRe® Aalfergii @ worasu grda 3pd
B. emr 10 (10 C) 1. oYy smrx

C. emer 10 (13 A) Ill. gt srpdias=ur

D. emer 10 (10 AA) IV. 1ot bR erar

ofla fou s1e frseul 3 3 A IR gforw ¢
[Question ID = 2205][Question Description = S3_qSNz_PG_COM_Q75]

A-1l,B-1,C-1LV, D -l [Option ID = 8817]
A-1l,B-1,C-ULD-LV[Option ID = 8818]
A-1V,B- U, C-1, D -l [Option ID = 8819]
A-1V,B- UL, C-,D-[Option ID = 8820]

A W N -

Correct Answer :-
e A-Il,B-L,C-1lV,D- I [Option ID = 8817]

76) Arrange the following levels of economic integration, from least integrated to the most integrated:



A. Customs Union
B. Free Trade Area
C. Economic Union
D. Common Market
E. Political Union

Choose the correct answer from the options given below

3f¥fs udbiapaur & fsifeiRaa TRl ol oxeias A siferwasn ubiad &l iR caaiderd b :
A. 3R Iforro

B. It auR &I

C. snfdfe Jim

D. A SRR

E. eefiferes da

off fou s1u fyeseul 3 2 & Fa= goi ¢

[Question ID = 2206][Question Description = S3_qSNz_PG_COM_Q76]

1. E, D, C, A, B [Option ID = 8821]
2. B, A, D, C, E [Option ID = 8822]
3. D, C, A, B, E [Option ID = 8823]
4. A, B, C, D, E [Option ID = 8824]

Correct Answer :-
e E, D, C, A B[Option ID = 8821]

77) Which of the following order is followed in the issue of shares under the "Fixed Price Offer Method"?
A. Issue of a prospectus

B. Receipt by the company of application for share

C. Selection of merchant banker

D. Issue of share certificates

E. Allotment of shares to the applicant

Choose the correct answer from the options given below

"Ferfl blara sifw= e @ siqeia sioll @I forla mzor 3 ferfeiRaa 3 wiol A axx @1 urctal fop=n sirar 3 ?
A. fra=forenT @I SIdt e Senm

B. @ucil gt 3iot & 3mdcor b gufyy

C. 3r<ic b2 BT TRol

D. sior ggimrue Sl fep=m Siren

E. 3mdcoml @ 3ioif T iecol

il fou s1e fraseul 9 31 & 3a= goi ¢

[Question ID = 2207][Question Description = S3_qSNz_PG_COM_Q77]

1. A, D, E, C, B [Option ID = 8825]
2. C, B, A, D, E [Option ID = 8826]
3. C, A, B, E, D [Option ID = 8827]
4. E, B, A, C, D [Option ID = 8828]

Correct Answer :-
e A D, E, C,B[Option ID = 8825]

78) Logically sequence the following steps in the managerial decision-making process
A. Determining the objective

B. Selecting the best solution

C. Implementing the decision

D. Defining the problem

E. Identifing possible solutions



Choose the correct answer from the options given below

gderbi forof cror 61 yfpan @ foreafeiRaa Arureil ol asicr o 3 e :
A. 32od forerfzor

B. e JA3menst oI Riol

C. forfr wrffsaa wzen

D. Jer=n @1 ufesnfta mon

E. 3isa Jemenoll &l usdrel dol

il fou s1e fraseul 9 2 & 3a= goi ¢

[Question ID = 2208][Question Description = S3_qSNz_PG_COM_Q78]

D, A, C, E, B [Option ID = 8829]
D, A, E, B, C [Option ID = 8830]
A, E, D, B, C [Option ID = 8831]
A, E, B, C, D [Option ID = 8832]

» Ay

A W N -

y By Dy

Correct Answer :-
e D, A C, E, B[Option ID = 8829]

79) Arrange the following economic regions in increasing order of FDI inflows, as per the UNCTAD Report, 2020?
A. Developing economies

B. Transition economies

C. North America

D. Developed economies

E. Europe

Choose the correct answer from the options given below

sicoers Rdié, 2020 @ s forgstifdod sniias giql @1 yeasl fagell forder @ soadis @ meR U RIS oA d caaf¥era bifsm :
A. Rroraefier Soil &I sreferazren

B. Jiagerur sieferazen

C. Jadl s@if¥er

D. famfra Soil &I sreferazen

E. pla

il f3u a1e fyaseul 9 A W& 3= goi ¢

[Question ID = 2209][Question Description = S3_qSNz_PG_COM_Q79]

E, D [Option ID = 8833]
, C, A [Option ID = 8834]
E, C [Option ID = 8835]
E, D [Option ID = 8836]

A W N =
> mw
w > ™ >
N oonNn

Correct Answer :-
e B, A C, E, D[Option ID = 8833]

80) Arrange the following steps in the process of hypothesis testing in proper sequence:
A. Select the level of significance

B. Setup null and alternative hypothesis

C. Establish the decision rule

D. Performance computations

E. Select test statistics

F. Draw conclusion

Choose the correct answer from the options given below

gradcdell Udltevr &l forgetferRaa gfeprmsii ol Joafyerda o3 :
A. F15Ta B FAR DI RIod

B. 9fo 3iir dovfeud Yraweuelr FeTitid ol



C. forofr former sotoen

D. orifsrsurcet smrverot

E. udigur Aiflsahbl @1 aRIet

F. forseott forepreton

il f3u a1 fraseul 9 A W& 3= goi ¢

[Question ID = 2210][Question Description = S3_qSNz_PG_COM_Q80]

D, E, F [Option ID = 8837]
D, C, F [Option ID = 8838]
, D, E, F [Option ID = 8839]
C, D, F [Option ID = 8840]

A w N =

Correct Answer :-
e A, B, C,D,E, F[Option ID = 8837]

81) The characteristics of different levels of leaders are given below. Arrange these in an increasing order of levels
A. He contributes to the achievement of group objectives and works effectively with others in a group

B. He builds enduring greatness through a paradoxical combination of professional will and personal humanity

C. He makes a productive contribution through talent, knowledge, skills, and good work habits

D. He catalyses commitment to and vigorous pursuit of a clear and compelling vision and stimulates the group to high-
performance standards

E. He organises people and resources towards the effective and efficient pursuit of predetermined objectives

Choose the correct answer from the options given below

faf8roet ¥Rl @ olerail bl fAuam o & 318 368 ARSI @at 3 =ral¥ea bifsie

A. a5 1ag @ 39l I gIffy 3 AIcIer war 3 3R s A Rl D AT gurdl Fu A BRI o 3

B. s Qorerd a1 3R Juftpd ey & fRieminil F=ieT o Heasr A AR] AsTolar sIR1eT dar &

C. gz yfemstr, sifel, il 3ii= 3icd DRIf &l Gl B AL A ICUIGIDBIN ABISIOT ST 3

D. @8 Fute 3iiR a1l fte @ yfer AAUUT TR ICATBYUL 3IGI1RVI DI IcY¥d Dl 8 3R APg DI 3T DRiforeurcet Arerd] @ fere Yiva mzar &
E. s cisil siiz imercll ol gd forerff¥a 3291 @ gerrdl siik @t srerul &l fSon 3 s1fda wear 3

o Re a1e Riescdl 3 A & a2 9ol ©

[Question ID = 2211][Question Description = S3_qSNz_PG_COM_Q81]

D, A, B [Option ID = 8841]
, D, B, C [Option ID = 8842]
E, B, D [Option ID = 8843]
E, D, B [Option ID = 8844]

)

S
A>>0n
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Correct Answer :-
e C,E, D, A, B[Option ID = 8841]

82) Arrange the following steps in a logical sequence of the claim settlement procedure in the Insurance
A. Scrutinisation

B. Investigation of an assessment

C. Claim form

D. Notice of loss

E. Settlement and Arbitration

Choose the correct answer from the options given below

dion 3 grar forucrel yfipan @ forgetifcpa TRull @I aifdbd oA 3 Axaiead o: :
A. SIiE - usdrer

B. Hcaidar Pt st

C. crar wist

D. gifer @1 siifesr

E. foruerat 3iiz siezrzeran



offa fou s1u fyeseul 3 2 & 3a= goi ¢
[Question ID = 2212][Question Description = S3_qSNz_PG_COM_Q82]

1. A, B, C, D, E [Option ID = 8845]
2. C, A, D, B, E [Option ID = 8846]
3. C, B, A, E, D [Option ID = 8847]
4. D, C, A, B, E [Option ID = 8848]

Correct Answer :-
e A B, C, D, E [Option ID = 8845]

83) Arrange the steps of market segmentation process in the proper sequence
A. Segment "Acid Test"

B. Segment Attractiveness

C. Need Based Segmentation

D. Segment Profitability and Segment Positioning

E. Segment Identification

Choose the correct answer from the options given below

IR fepifepaut Yftprn @ TRl @l A8l a9t d =af¥ea Hifse :

A. s "R udiger’

B. xis smdur

C. smagaddr ur menfed fepifRpasur

D. ¥is amyed 3iiz ¥s Femus

E. xis ugdare

il fou s1e fraseul 9 2 & Ia= goi ¢

[Question ID = 2213][Question Description = S3_qSNz_PG_COM_Q83]

B, D, A [Option ID = 8849]
D, B, A [Option ID = 8850]
, C, D, B [Option ID = 8851]
C, E, D [Option ID = 8852]

s
>>mn

Correct Answer :-
e C, E, B, D, A[Option ID = 8849]

84) Arrange in the sequence, steps in the procedure for calling a statutory meeting of the company

A. Contents of the statutory report

B. A list of members must be produced at the commencement

C. Twenty-one days notice

D. Certification of the statutory report by not less than two directors, one of whom must be the managing director
E. A certified copy of the statutory report must be delivered to the Registrar

Choose the correct answer from the options given below

Duoil & AifAfere Jod 31Ed Bt B g @l apiag b :

A. wifafere fraXé &I awr - avg

B. w1c=il bt it ot owaina # & f3arm sion arfdu

C. 21 ol @1 alifea

D. @a A o < forserml, fSroEl vas yder fo159rd dter @nfdu, gr1 Aifaféres fFulé o1 yemrer
E. wifaffres fraré &bt genfora gfer Rrgr @ s & il aifde

ofia 3w a1 el 3 A A& a2 goi :

[Question ID = 2214][Question Description = S3_qSNz_PG_COM_Q84]

B, E, C, A, D [Option ID = 8853]
A, D, E, B, C [Option ID = 8854]
. D, C, B, A, E [Option ID = 8855]
C, A, D, E, B [Option ID = 8856]

» By

’

A w N =

y A, Uy

Correct Answer :-



e B, E, C, A, D [Option ID = 8853]

85) Arrange in sequence the steps in the procedure of e-filing of an Income Tax Return
A. Login

B. Register

C. Verification

D. e-filing

E. Downloading utility and preparing the return

Choose the correct answer from the options given below

3RI 2 fdarufl &t § - wisieior &I yfipen ol A3l siggma A waf¥ea difsme :
A. difer - so1

B. "z

C. Ic=at

D. ¥ - wrsfeier

E. giisa feradi @1 S3elclls @l 3R faarufl R e

il fou s1e fraseul 9 21 & 3a= goi ¢

[Question ID = 2215][Question Description = S3_qSNz_PG_COM_Q85]

, D, C [Option ID = 8857]
D, E [Option ID = 8858]
, C, D [Option ID = 8859]
E, D [Option ID = 8860]

HPwbh=
>>>m

Correct Answer :-
e B, A E, D, C[Option ID = 8857]

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Quick ratio is a more penetrating test of liquidity than the current ratio, yet a high quick ratio does not
necessarily imply sound liquidity.

Reason R: A company with a high value of quick ratio can suffer from a shortage of funds if it has slow-paying, doubtful and
long duration outstanding debtors

In light of the above statements, choose the most appropriate answer from the options given below

ofid A1 werol fBu a1 3 ;. uop sifdrverot (A) & wu 3 fiRaa 3 Y gzt 3ud orvl (R) & »u 3 :

siffreret (A) : cafyd sropurd bl 3OS AeIdl ®I IS 31feId 315el UlgIul 3 aenftr caf¥d srefurd @ 3iferd 2ol @I dreusd a8 o181 3 b averar
&t Rafer aga sl 3

@RI (R) : s1f2re raf¥a sioqurd arcl wusil 3 ecRIfdr & ol us Aol 3; Al wusil I £isfl s1fer 33 yoTdTeT Botard, Afeser iz cidl srafér ao
SPRIT FoIAICT JoIGIR 8t

SWRIRD Dol D 3Mrelld #, ofld 6w 31w frpedl 3 A AR IuYeD IR DI TRIol HIFIT ©
[Question ID = 2216][Question Description = S3_qSNz_PG_COM_Q86]

1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) ciali 3@t 8 3z (R), (A) &t 36t ==n & [Option ID = 8861]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) siz (R) cleil & & w3sq (R), (A) &t 3 =me=n oidf 8 [Option ID = 8862]
3. Ais correct but R is not correct/(A) 3@t 8 woqg (R) 2@t oét & [Option ID = 8863]

4. A'is not correct but R is correct/(A) 3@ sidf 8 wesg (R) &t 2 [Option ID = 8864]

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) cleil 3@t & 3z (R), (A) &t 3@ =mz=n & [Option ID = 8861]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Two companies with the same general earning power and same general position in an industry, the one paying
larger dividend will almost always sell at a higher price

Reason R: The discounted value of near dividends is higher than the present worth of distant dividends

In light of the above statements, choose the most appropriate answer from the options given below



oii<l < ool fGu are 3 : uo 3ifrped (A) @ ¥u 3 feiRaa 3 al grI 33D PRI (R) D U @

sif3rperat (A) : St duforrl SR 31?1 sl 9Iftb TddITel & 311 Jeiier A Iorchl Reufer v et 3 foremdl 2 sif2r emsiion i Fcrell wor archt
DUl YRE: Acd U 31fer dlard ur frap) ol

®RUT (R) : Jefiuzer crHior oI Sgpd HAlel G CIIHI9l B fdeEIel e B el e siar &
SWRIRP ®Uoll @ 3Mrelld d, ofld 8w a1w fmedl 3 A A IuYed IR DI TWI6l DIfSa:
[Question ID = 2217][Question Description = S3_qSNz_PG_COM_Q87]

. Both A and R are correct and R is the correct explanation of A/(A) 3iz (R) cleil 3t 8 3l (R), (A) &t 38 =me=n 8 [Option ID = 8865]

. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) cleil 2@t & u3sq (R), (A) &t 3t =me=n ot 3 [Option ID = 8866]
. Ais correct but R is not correct/(A) 3@t 3 cifepor (R) 31 oidf 8 [Option ID = 8867]

. A'is not correct but R is correct/(A) 3 ot 8 eifdser (R) 2t 8 [Option ID = 8868]

A W N -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) cleil 3@l '3z (R), (A) &t & == & [Option ID = 8865]

88) Given below are two statements:
Statement I: The aim of marketing is to make selling superfluous
Statement ll: Marketing should result in a customer who is ready to buy

In light of the above statements, choose the most appropriate answer from the options given below

il o Dol fdu sre 3 ¢

@erat - | : fauvTer o1 cg fAaRr BRI Bl 6Ia9Ad Jolldr 3

Do - || : f[avrer U1 sed @ U 3 ulviia sion aifdu 5 as g w0l @ fore acuR 8l SIRI
SWRITP Pl D 3MIclid #, ofld fBu s1u frpedl 3 A AR IuYTh IR DI Tol HIdIT ©
[Question ID = 2218][Question Description = S3_qSNz_PG_COM_Q88]

Both Statement | and Statement [l are correct/eret | 3iiz || gleil A&t & [Option ID = 8869]

Both Statement | and Statement Il are incorrect/@em | 3iiz |1 Sleil sreta & [Option ID = 8870]

Statement | is correct but Statement Ll is incorrect/wmeme | 3@t 3, cifdpet weret |l sieia & [Option ID = 8871]
Statement L is incorrect but Statement Il is correct/@meret | s1eia 2, cifdpor et |l 3t & [Option ID = 8872]

A WN -

Correct Answer :-
e Both Statement | and Statement Il are correct/weret | iz |1 Slaii 3t & [Option ID = 8869]

89) Given below are two statements:

Statement l: patents are defined as monopoly rights which one granted by the government, for full disclosure of invention
for a limited period of time, that is for 20 years

Statement ll: The purpose of granting patents is to encourage inventions by promoting their protection and utilization so as
to contribute to the development of Industries

In light of the above statements, choose the most appropriate answer from the options given below

oflar <Y averet feu s1e 3 ¢

Dol - | : U @I vollRrprR Adel sif2reRl @ du 3 ufsnitia e sir 3 Sit A3l erRmaf?n - 20 auf @ e snfeser @ gul gaca o fere
IRDBR GRI Yglol U Sira 3

@ - |l : Ude Ygral @l Bl YAIsiol IfIC®RI DI IoId> GV 3R IWRIRTAI DI a6l B2 36 JIAIRdd Bl & dIfds 3eiell @ bRt i
APIGIe {5l ST AD

SWRID DUl D 3Icll® 3, il Bu sre fvedl 3 A AR WY IR DI <RIl DIfSTT :
[Question ID = 2219][Question Description = S3_qSNz_PG_COM_Q89]

Both Statement | and Statement [l are correct/erat | 3iiz || gleil 3@t & [Option ID = 8873]

Both Statement | and Statement Il are incorrect/@erer | 3iiz 11 &Xail sieta & [Option ID = 8874]

Statement | is correct but Statement Il is incorrect/®emt | %@l 8, fpog @l |l s & [Option ID = 8875]
Statement | is incorrect but Statement Il is correct/@emw | stiera &, fpoq et |l 3t 8 [Option ID = 8876]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/wmewt | 3iiz |1 cloll &t & [Option ID = 8873]

90) Given below are two statements:

Statement : Assessee is always a person but a person may or may not be an assessee



Statement ll: The term 'person’ includes an individual, a HUF, a company, a firm, an association of persons, local authority
and every artificial juridical person

In light of the above statements, choose the most appropriate answer from the options given below

il &1 Derer Ru ame 3 :
Dol - | : DI ASa U AR i 3, g caftb BIcIar 8l AT 3 edr o1l 9t 3l Adar 3

Do - || : 'saftp’ uc 3 DI vmIdl Iftb, DI Td Y UB, PIS DU, DS B, DI Afth I, FAGIRI PRI 3R JRId Bidd ki =afth
onfdrer aiar 3

SWRID DUl D 3Iclid 3, ikl [Gu a1e fdaedl 3 A AT IUYTD IR DI TRIel DI :
[Question ID = 2220][Question Description = S3_qSNz_PG_COM_Q90]

1. Both Statement | and Statement l are correct/aermr | 3iiz |l leif 23t & [Option ID = 8877]

2. Both Statement | and Statement ll are incorrect/aerat | iz || Glail sietad 8 [Option ID = 8878]

3. Statement | is correct but Statement Il is incorrect/@erwr | 3@t 8, fbog ®eret |l sieia & [Option ID = 8879]
4. Statement l is incorrect but Statement Il is correct/aermet | siera 3, fboq @eret |l 3t & [Option ID = 8880]

Correct Answer :-
e Both Statement | and Statement Il are correct/weet | i || Slali 3t & [Option ID = 8877]

Topic:- Commerce_26NSH1_SHAAN_NOV21B

1) Read the given paragraph carefully and answer the questions that follow

For a developing economic nation, its industrial policy requires regular updation to meet the growing demands of the
industry as well as to increase the share of manufacturing in overall GDP. As India's GDP has been dominated by services
rather than agriculture or manufacturing, there are structural modifications always required so that manufacturing activity
be increased substantially to meet the global market requirements. This requires legal amendments, with the new laws
aimed to facilitate better manufacturing and exports.

Actually, India faces two challenges, rather opportunities that the bullishness on the Indian economy is to be export-
oriented as well as to feed its ever-growing domestic consumption. Also, no economy can only be consumption oriented as
its people should also save and invest actively. This brings to an important direction of banking system which plays a
critically important role in achieving the above two objectives. The public sector banks require to build on to the
capabilities and expertise on the due diligence methods for the credit appraisal for the loan requirements. Worth
mentioning here is the data that the non-performing assets valuing Rs. 7.7 lakh crore (as on December 2017) as per the
latest figures of the Finance Ministry. Nevertheless, given their large structure and geographic percolation, the public
sector banks must be recognized in India's development and that there is "no country in the world where banks have not
had a problem.”

forgsifeiRaa srerior oo ufegu siik yesil & 3az v :

o famrRofie i 2reg @ fere, IeNsT Bl dedl g5 vl DI Y D6l d A SiSdl 3 faforivr o1 311 dgol @ fere, 3D e siifa @
foraf3rer srerdot Rpu Siror &t smagaedr aidl 3 dfts srra &t SHEY 3 ity srerar faforarfor 6t s Aarasii @I Yagea &1 3, WA eI AHonersll
&1 sdon sragAmar Wil 3 M fam AR B srasAd il B g wa & fere fafswior aifefaffril o srgg gfy 6 on IS 3B e Il

JAonersil bt smagAamar 3 fierer 329w sifere fforiivr a forifa ot o1 woiron 8t

arFAad 3 MA@ Al SI Jellfern 3 AT Y D b sraer & e siddl sreferaren ur a6ft @ 3w @1 forifdlogRedl sion 3 iz a1 8 cPIAR 96 &
3T, IUHIBT bl HidT DI 31t YT Doll & 53D 3yeirar DS 9ff sreferaven i Susicl Sodgxdl o181 1 Al 3, aiifes ¥l sreferaven 3 Sorar @1
AR U A Twd 31z ford9r oft won aifdu A1s 331 Jfpo1 crazen dI v AsTayui Son oI 3iIz arar 3 Sl ST <l 359l &I Yyt 3 srcafirm
Hevayul Y3t oI fordast @il 8 Ardsiford gig @ Sl DI SBUI TAIADBAII D @ [Sccaidel 3q AeliRia widicoar Adel APt a forastan
forf3faa o1 &Y smagacmdar 3 A IccRaciiI 3 & T Fiqrera & ardioraat 3iidsi @ GRIR 31R - forouifea uf¥iufril (vor i ©) o1 e 7.7 crm
A3 P (e, 2017 o 3igfar) 3 aenfly Ardsiford i @ Jopi bl gac ol iz HisNfID ia:JavT B 3w gu, URd o RAorT 3
Ao 8 D bl D Haed Pl AU FHIDPR o= Sirel afdu 3iiz s [ A e 3 TA1 DI 91 o1l 3 S1al bl Dl DI WRAT AW A

What problem is highlighted in the above passage?

SWRITP JrErior i oA AIRAT Bl ISIPR fop=r arn 3 ?
[Question ID = 2221][Question Description = S3_qSNz_PG_COM_Q91]

Low growth in GDP/sftsitt 3 fowat gfis [Option ID = 8881]

Balance of payments issue/gpIdrer 2igetet @1 51 [Option ID = 8882]
High fiscal deficit/3ca sl aer [Option ID = 8883]

Role of banking sector/dfdper &iqj <1 s1fdrmt [Option ID = 8884]

A W N -

Correct Answer :-



® Low growth in GDP/SfiSitt 4 foear gfig [Option ID = 8881]

2) Read the given paragraph carefully and answer the questions that follow

For a developing economic nation, its industrial policy requires regular updation to meet the growing demands of the
industry as well as to increase the share of manufacturing in overall GDP. As India's GDP has been dominated by services
rather than agriculture or manufacturing, there are structural modifications always required so that manufacturing activity
be increased substantially to meet the global market requirements. This requires legal amendments, with the new laws
aimed to facilitate better manufacturing and exports.

Actually, India faces two challenges, rather opportunities that the bullishness on the Indian economy is to be export-
oriented as well as to feed its ever-growing domestic consumption. Also, no economy can only be consumption oriented as
its people should also save and invest actively. This brings to an important direction of banking system which plays a
critically important role in achieving the above two objectives. The public sector banks require to build on to the
capabilities and expertise on the due diligence methods for the credit appraisal for the loan requirements. Worth
mentioning here is the data that the non-performing assets valuing Rs. 7.7 lakh crore (as on December 2017) as per the
latest figures of the Finance Ministry. Nevertheless, given their large structure and geographic percolation, the public
sector banks must be recognized in India's development and that there is "no country in the world where banks have not
had a problem.”

frsotferR3ad sterior @ ufey siiz gosil @& saz i :

o famraeficr snfifa g & forg, 3eieT &t agedl 5§ il DI U1 wal a ) At 3 fafswiivr o1 R agor & fere, sadl sl ofiftr &
forafdre sterdet fipu Sl &l sragrmar Bl & dfs ura ol Al 3 oftr srerar fafsafor &1 srdg Aarsii w1 Ygied @1 3, VA IR AN ersil
&Y sdton sraeHrdr &l 3 aIfts Afac asIR & smaeAwarsil Bl g1 a2l @ fere faforafor siferfaf2ril 3 srrge gfy &t st A1 a1 forw PIgrelt

JHonierell I ragAmdr & et 3894 3iferam faforAivr a foriia I BT Felloll I

ARAd 3 HRA D ARG 3l JellfeRI 3 AT A s b ek 3 b Rl sieferaren uz a6l @ W ol ferifdleazlt dien 3 ik e & cPIaRr g6 bt
¥ JusiIeT bt JioT DY 37 YT Dol 3 5D 3rcmrar BIF 97t srefraven i IusieT Sogdl o1l A Al 3, arilfes Vit sreferaven 9 Storar o1
Afdp U A Fad 3iiz oraer off e aide A6 &3t A1 caazen &6t v wAscaygel fGon 6l 3l arar 3 Sit Iufw 31 el & Yifiy 3 srcafers
Jrsrayyl 931 @I fordsot @l 3 Ardsiford &l @ Sl DI BT SMAABAII D B [Fcgcaiva 3q Aeifra oiifcodr Jdell AwEt a Ridrasar
forf3fa o1 Y smagaar 3 s Icciaoii 3 &b o/t FiqIera & ordioiad 3iids] d 3GRIR 3R - forouifea uf¥ziuferil (vor Ui ©) o1 e 7.7 cirm
A3 FW (R, 2017 @ oRIR) 3 denfu ArdsIfores i @ Sl B gag el iR HisNerd 3id:avI DI S¥d gu, HRd D PRI i
ArdsIfora i @ Jpl B HAsed DI A IAIPR fehAT SiT6l 3T 3MiR A6 1o " AT [ 3 TAT DI 91 o181 & T8l JDI DI PIS AHRAT of Wl &

Which of the following is not a feature of the consumption economy?

forgoifeiRaa & A dle1 a1 wab Iusiier sreferazen ot fafdrsear orEt 8 ?
[Question ID = 2222][Question Description = S3_qSNz_PG_COM_Q92]

1. Increasing population with increasing consumption/atfsrer 3usiter @ rer afarer sorizen [Option ID = 8885]
2. More contribution to indirect taxes/smycgr a2 ¥ siféib sioigrel [Option ID = 8886]

3. It also prompts more exports than imports/=s 3mrid &t sisn foria ot #ff gerar Sar 8 [Option ID = 8887]

4. The unsold goods create problems/feas} orél g3t et WA 3cusael w3 [Option ID = 8888]

Correct Answer :-
® [ncreasing population with increasing consumption/atfarer 3usiler @ e aefarer Storizear [Option ID = 8885]

3) Read the given paragraph carefully and answer the questions that follow

For a developing economic nation, its industrial policy requires regular updation to meet the growing demands of the
industry as well as to increase the share of manufacturing in overall GDP. As India's GDP has been dominated by services
rather than agriculture or manufacturing, there are structural modifications always required so that manufacturing activity
be increased substantially to meet the global market requirements. This requires legal amendments, with the new laws
aimed to facilitate better manufacturing and exports.

Actually, India faces two challenges, rather opportunities that the bullishness on the Indian economy is to be export-
oriented as well as to feed its ever-growing domestic consumption. Also, no economy can only be consumption oriented as
its people should also save and invest actively. This brings to an important direction of banking system which plays a
critically important role in achieving the above two objectives. The public sector banks require to build on to the
capabilities and expertise on the due diligence methods for the credit appraisal for the loan requirements. Worth
mentioning here is the data that the non-performing assets valuing Rs. 7.7 lakh crore (as on December 2017) as per the
latest figures of the Finance Ministry. Nevertheless, given their large structure and geographic percolation, the public
sector banks must be recognized in India's development and that there is "no country in the world where banks have not
had a problem.”



forgotferl3ad sterior @ ufey il gosil @ saz i :

o famraeficr snffa aeg & fore, 3eier &t agedl g€ el @I Y1 wa g AP At 3 fafswiivr o1 v sgor & ferg, sadl sl ofiftr &
forafdre sterdet fipu Sior &l sragamar Bl & dfs ura & Al 3 oftr srerar fafsaior &t srdg Aarsii oI Ygied 61 8, VA IR AoMersil
&t zaren smagamdr &l 3 aIfds Afad SR &I smaeAawarsil Bt g1 ol o fere fafswfor sifiifafiril 3 srgz gfy &6 o1 A 393 e dIgEl

JHonerll I ragAmdr & et 3894 31ferm faforaivr a foriia oI BT Felloll al

A4 3 HRA D ARG 31 JellfeRI 3 AT A s b e 3 b Rl sreforazren Uz a6l @ W ol forfdleazlt dien 3 ik e & cPIar g6 bt
¥ 3usiIeT bl JioT B 3T YT ol & 5D 3rciar BIF 97t srefrazen i IusieT ol o1l A Al 3, arilfes Wt srefcraven 9 Srorar o1
Afdp U A Fad 3z oraer off wen aide A6 &3t Afber sarazen 6t v wAsvaygel fGon 6l 3l arar 3 Sit 3w 31 el & Yifiy 3 srcafers
Jrsrayyl 41 @I fordsot @xdl 3 Ardsifore &l @ Sl I BT SMaABAIRI D B [Fcgcaiva 3q Aeifra olicoar Jdell AwEt a Rdrasar
forf3fa ol &bl smagaar 3 s IcclAoii 3 &b o/ FqIera & ordioiad 31! d 3GRIR 3R - forourfea uf¥ziuferil (vor Ul ©) o1 e 7.7 cirm
BAs I (3w, 2017 @ 3igpIR) & aenfly Ardsifors i @ Jopi bl gag ol iR HoNfed 3id:Javr @ Txd gu, HRd @ forT 3
Ardsifora 8 d Dl B Ascd DI A IAIDPR fehAT SiTel 3T 3MiR A6 b " AT [ 3 TAT DI 91 o181 & T8l DI DI PIS AHRAT of Wl &

Which of the following set defines Sustainable Consumption and Production (SCP)?

A. The use of services and related products which respond to basic needs and bring a better quality of life.
B. Minimizing the use of natural resources and toxic materials as well as the emission of waste as pollutants.
C. Pertinent use of service or product so as not to jeopardise the needs of future generations.

D. Planned cities with a lower cost of production minimizing the retail inflation.

Choose the correct answer from the options given below

forgatferlRaa 31 3 Plet AT AR A IULIPT G IeurGol DI ufssnfera e 3 ?

A. sl iz gforIct sraeAamdisii A Adfeid Icurch @I YRIeI Sil sitdet bl S[uradr I d8a2 dId

B. grafere Fimeril siie fadicht el o1 YRIsT a ggual @ U 3 rafdrse @ Iearsiol Bl oYoidd Boll
C. a1 3ferdr Iculc T FoTd YRIeT difes st dit &bt sragrasansii a1 siif¥aar 3 of s1eir sie

D. ¥ggar g bIfer Bl oIdd B gu orel Icurcel Pl @ A1 orIfSa o2

il fou s1e fraseul 9 3 & 3a= goi ¢

[Question ID = 2223][Question Description = S3_qSNz_PG_COM_Q93]

A, B and D only/@aet A, B 3iiz D [Option ID = 8889]
B, C and D only/dact B, C siiz D [Option ID = 8890]
A, B and C only/d@aet A, B siiz C [Option ID = 8891]
A, B, C and D/A, B, C siiz D wsft [Option ID = 8892]

A W N -

Correct Answer :-
e A, Band D only/@ac A, B siiz D [Option ID = 8889]

4) Read the given paragraph carefully and answer the questions that follow

For a developing economic nation, its industrial policy requires regular updation to meet the growing demands of the
industry as well as to increase the share of manufacturing in overall GDP. As India's GDP has been dominated by services
rather than agriculture or manufacturing, there are structural modifications always required so that manufacturing activity
be increased substantially to meet the global market requirements. This requires legal amendments, with the new laws
aimed to facilitate better manufacturing and exports.

Actually, India faces two challenges, rather opportunities that the bullishness on the Indian economy is to be export-
oriented as well as to feed its ever-growing domestic consumption. Also, no economy can only be consumption oriented as
its people should also save and invest actively. This brings to an important direction of banking system which plays a
critically important role in achieving the above two objectives. The public sector banks require to build on to the
capabilities and expertise on the due diligence methods for the credit appraisal for the loan requirements. Worth
mentioning here is the data that the non-performing assets valuing Rs. 7.7 lakh crore (as on December 2017) as per the
latest figures of the Finance Ministry. Nevertheless, given their large structure and geographic percolation, the public
sector banks must be recognized in India's development and that there is "no country in the world where banks have not
had a problem.”

forgotferRae sterior o ufeu iz gooil @ sar S :

o fRrrrefiar snf¥fe areg @ fere, Seier bt dedl ¢ Al B g1 ool a we) SASid 3 fafsmfor o R aeet @ fere, 3ud! B ofifer &
foraf3rer srerdoet Rpu Siror &t smagadr 3kl 3 dfts sirra &t S 3 ity srerar faforarfor 6t smgm Aarsii @1 Yafea &1 3, WA FHTeIEIT AHonerstl
&1 sdon sragAmar &l 3 mfs dfam asIR B srasadmansil B g wal & fere fafswrior sifefaffril o srgg gfy 6 on IB 3 e IRl

JAoNerel &I smagamar 3 ot 329v sifere ffowifor a forifa o1 Je1er Fotren 8t

aRd A HIRA D AH6I A1 YolllerRIl 3 AT Y @3 b stz & b unddl srefeaazen Uz dsil @ 3w ol forildiedgzdl Sielr 3 3iiz A1 & cPIaR g6 36t



T¢I, 3UslieT bl T D 9t Y1 2ol 3 3AD 3rcIar BIE 97 srefcrazen A 3ueieT oyl o1dl 8l AWl 3, aRiifp ¥l srefeaazen 3 Storar @Y
Afp WU A Fad 3iiz fordor off woen @fde As & dfdper cazen o vas ssrayvt fSon &i 3= crar 3 Sl SR o 329l & yiffy 3 srafere
Fevayul YRBIT oI fordsst @il 8 ArdsIford gig @ Sl DI SBUI TAIADAII D B [Sccaidel aq AeliRia widicoar Adel APt a fosar
forfdfr ol Bl ragAdar 8 As IcciRA6IRI & b fare FAGIerRI @ ordielad sfids] @ 3RIR 3R - forvurfa uf¥iufril (vor Ul v) @I Ica 7.7 cra
oAs A (Reaz, 2017 & srgfar) 3 aenfty Ardsifors i & ot bt gag Hdol 3iiz siliehfeias 3id:auT B ST gU, MRd & forT i
ArSSIforD 8 & bl D Haed DI AU FHIPR o= Sl afdu siiz e b "3 e 3 W1 DI 391 o1l 3 S1al bl DI DI WRAT AW A

The credit appraisal process by a bank does NOT involve evaluation if the borrower on:

fp2ft Jo5 B @ Begeaiae yfapn 3 forefeiRaa & »udl spufl @1 snascrar won 9nfiet ordl 3 :
[Question ID = 2224][Question Description = S3_qSNz_PG_COM_Q9%4]

. Technical feasibility/adofiht smerar [Option ID = 8893]

. Economic viability/snféfe wasriar [Option ID = 8894]

. Bank ability or credit worthiness/da dimriar sierar ssur - 2s=rar [Option ID = 8895]

. Loan offtakes and paying ability of related companies in the geographical area/3 silsiifera gl 3 Adfera wuforll GRI 56UI clol 3T eIdTol Mol Dbl SIFHAT
[Option ID = 8896]

A W N -

Correct Answer :-
® Technical feasibility/dmsfidbt smeerar [Option ID = 8893]

5) Read the given paragraph carefully and answer the questions that follow

For a developing economic nation, its industrial policy requires regular updation to meet the growing demands of the
industry as well as to increase the share of manufacturing in overall GDP. As India's GDP has been dominated by services
rather than agriculture or manufacturing, there are structural modifications always required so that manufacturing activity
be increased substantially to meet the global market requirements. This requires legal amendments, with the new laws
aimed to facilitate better manufacturing and exports.

Actually, India faces two challenges, rather opportunities that the bullishness on the Indian economy is to be export-
oriented as well as to feed its ever-growing domestic consumption. Also, no economy can only be consumption oriented as
its people should also save and invest actively. This brings to an important direction of banking system which plays a
critically important role in achieving the above two objectives. The public sector banks require to build on to the
capabilities and expertise on the due diligence methods for the credit appraisal for the loan requirements. Worth
mentioning here is the data that the non-performing assets valuing Rs. 7.7 lakh crore (as on December 2017) as per the
latest figures of the Finance Ministry. Nevertheless, given their large structure and geographic percolation, the public
sector banks must be recognized in India's development and that there is "no country in the world where banks have not
had a problem.”

forsaiferRae srerior ol ufegu iz yosil & 3ar difre :

v fprIofte snféfes arsg @ fere, 3eiier & aaedl g3 el B g1 @el a ] S 3 ffswiur @1 2= aga @ ferg, 3l sl ofift &
forRIf3Ia 3rerdel fepu Sirol I sraeAmdr akdil & Tfep HRA Dl SHSIUl 3 DY srerar fafoivr o Mg A3l T Ygied 6T 3, VA AFIGIPIA AMIEIGIT
&1 zaren smagamdr &l 3 aifds Afac arsiR &I smaeAm a3l Bt Y1 ol @ fere fafowmivr sififaf?ril 9 srgz gfyy &I s A sa9d e dIgEl

JHonereil bt srragrerdr & et 3593 sif2re faforivr a forifa @1 Jow1 dotren &Y

ARd 3 HIRA D A6l 31 JolllerIl 3 AT A @8 b e 3 b Rl sreferazren ur a6l @ W ol forildleazdll dlen 3 ik e & cPIaR a6 Wbt
¥t 3uslieT bt FHieT DY 3Tt Q31 Dol 3 $AD 3rcirar DI 97 srefcrazen i IusPT Jogdl o1dl Bl Al 3, aRiifs Vil sreferazen 3 Storar dY
AftpR wa I gada 31 forder off wen afdu A6 & Apor RIaven &I v AsTayyt fonm oI 31 orrar 3 it Iwf <1 el &t gifit 3 srcafers
erayui YT @I fordsot @l 3 ArdsIform &g @ Sl dI >BUI SMAADAII D B [Scdcine 3q Aeifrd of¥fcodr Jdell At a fadrasiar
fo1fdfa ol bl ragadar 8 s IccdeiI & b fof AGICRI D oIdielad 3Midbs] @ 3RIR 3R - forvurfa uf¥iufril (vor i v) @1 Ica 7.7 ara
s W (GRiR, 2017 @ 36RIR) & auIft Ardsifold &g @ Jdi DI gac Aol iR sisliferd ia:Jaul oI SH U, HRA D DRI 3
Ardsiforad i & Tl B HAscd DI JA9A Il fepr Sl @nfde 3iiz A6 fob AT faoa 3 VAT DI 91 018l 3 STal bl DI DIS AT of Wl 8

The Indian banking sector requires that it:

sIcilRr Sfcpet &iq @ forgorferRaa &t smagarmar 3 :
[Question ID = 2225][Question Description = S3_qSNz_PG_COM_Q95]

1. build more manpower and ICT resources/3iféie Stetoifep @ amsfict el @1 fowifur [Option ID = 8897]

2. be more technology dependent/sifere Glenfdrcbrr fosfaar [Option ID = 8898]

3. evaluate loan disbursals/faf¥a ssvil @1 Fceticer [Option ID = 8899]

4. increase the frequency of change of the bank rates/da® c2i 3 uf¥ader &t sqgfes @l gsren [Option ID = 8900]

Correct Answer :-
e build more manpower and ICT resources/3ifére Sfotolfep @ smsAict fmereii o1 foretior [Option ID = 8897]



Topic:- Commerce_26NSH1_SHAAN_NOV21C

1) Read the paragraph carefully and give an answer to the question

The Economic Survey cautions against extended forbearance of credit default, drawing the lessons that extended
forbearance in the wake of the 2007-08 global financial crisis led to the build-up of bad loans and dragged down investment
rates and economic growth.

If followed through, this would mean a major squeeze on company finances, as they scramble for resources to service loans
to avoid bankruptcy, and a big demand on the government to recapitalize the banks it owns, after they recognize and
provide for a mass of bad loans

Regulatory forbearance must be an emergency medicine, not a staple diet, is sound advice. A moratorium by banks on debt
service by borrowers has been a part of the COVID cushioning to corporates. Many of these firms would face acute liquidity
problems when the moratorium ends

Fast growth that embraces all businesses would avert a crisis. Such Goldilocks perfection rarely materializes in real life.
many companies that could survive with access to liquidity could go under when banks think it is time to do their asset
quality reviews. The solution is to provide such companies with capital that does not need to be serviced when they do not
make a profit on equity

Companies would need a whole lot of capital, to service existing loans and to invest in new production, to cater to the
demand thrown up by economic revival. The government had promised a fund to funds that would mobilize large volumes
of capital to invest in micro, small and medium enterprises.

This is the time to walk the talk. The equity stakes can be sold later, hopefully at a profit. Special situation funds, private
equity, and allocations from retirement savings can be tapped for the needed capital. Managing the investment is the
challenge.

forgaifciRaa srerior o1 ufeu siiz ofikr f3u s1w gl & 3= difsio ©

3nffes AdgIuT A SBUT abRI B 9IS 318 dIcrafs & ar 3 ad 2007-08 3 snu dffae farikr Jdc RR1d> ulvmazasu siomen spur &t ferfer
3cuool g 3ii? forder i g sk snffes famret 3 Briac s eft, A I9® o gu ATaeell F3cdol oI US9r Yftia v srm 3

i 3ADI 3GV fehl SRII dl $ADI ATHYRI Az 3 b Buoil Bl ford caazen agd sifere siifRigfkia 8l siesil asiifes wuforn fealfermaet &t
Ferfer @ ufver @ ferg sBur Tol 3q FAnerell I SPEIA A el E 3z ar9Mer SBUT Bl AGRIAT Tol Al $AD foIfdrd Yraeis! mol D a6 AIDET
Faifdrea arefl ol o1 Yor: Yoil ol D fére JA3dR U <ald §6 SIgsn

faformae Af¥surar siforart sMBR of JIb: MUIdDIfrd iuf?l & Fu 3 U6 Siell aIfd  As Yaed Al 3 DGRl GRI SBUT &l Acrpl Uz
siferrePrel elfds ARl @ Siviel BRURT SPIA @ fére JAIwRsT 361 3 siferePre s@f?l did Sl @ a6 sold A Jgd A gfersoreil 3 Ferdr &I
HIR JIFAT ool 3Rl Wil IRARI # il 2 PRI ol @ WweRrasu Fdce oI UlvsR PN Aaurel S 3 33 s @ Fafvid Favl 9IRIe 3 ool
AIPR BId & dgd Al DuforIl SII Averdl @ IIMBPEI A 3i¥dcd I Jol 6 Al 2ff 37 IR are A <cll el S Jopl @I VAT Yeild den b 3
308 31ueil ufyiufer bl spurarr & IS Dl T sADT JATEIGT A A6 DI DUforIl DI Yol Suctetl doll 8 ORI IUIPI 368 sfaadl uz amm
o181 ifSfa 2ot bt gom d SBUT Fucieel BT D 1Y dwar i a9 ofdt 3

@uforIl I ferdArel SBUT AdI Yglol Mol Al oI€ IcUIGol d foId9I @ol, 3NfRd> Yolssildol @ URUIEHFARU I.gd HidT DI YT Dol D fe1e dga
sifere gl &l sagamdr 3Pl IR®R of dgaRll BIf2RII & DIy @I adel &1 a1 BRI seasia Asa, oy 3k AREI Jerll 3 forder o @ e
3 Uarol U= il Seré Sieefl

314 D6l DI D 3 forourfed ol @I IR 3 sfaadl Bl ol arc I Hsraa: JeIw! 3 S<1 ST ADdr 3 U goll @ fere 9y Reerfer e
forferal, forsfl sfaradt siie Aarferglr @ uird &I a1 wad A BT s1u sMdcel DI IURIIPT BT ST Addr 3 fo1d9r oI yderst dal bl golicdl 3

Which could be a suitable title for the above paragraph?
JWRITH 3TEn9l DI Iuep ofitias a=it a1 Irpar 3 ?

[Question ID = 2226][Question Description = S3_qSNz_PG_COM_Q96]

Forbearance and Corporate Funding in Crisis Times/3iac @& @RI 3 Afdwjdr siiz drule foifér dreor [Option ID = 8901]
Funding during crisis/zime 2wr1 3 foifér drwor [Option ID = 8902]

Bad loans and Indian corporates/aigiezr 3501 iz smcfter efeurde swia [Option ID = 8903]

Funding crisis and COVID-19/fiférret 3ice 3l @ifds - 19 [Option ID = 8904]

A w N =

Correct Answer :-
e Forbearance and Corporate Funding in Crisis Times/3idc @ @RI 3 Afdwjdr 3iiz druRe foifér gt [Option ID = 8901]

2) Read the paragraph carefully and give an answer to the question

The Economic Survey cautions against extended forbearance of credit default, drawing the lessons that extended
forbearance in the wake of the 2007-08 global financial crisis led to the build-up of bad loans and dragged down investment
rates and economic growth.

If followed through, this would mean a major squeeze on company finances, as they scramble for resources to service loans
to avoid bankruptcy, and a big demand on the government to recapitalize the banks it owns, after they recognize and
provide for a mass of bad loans



Regulatory forbearance must be an emergency medicine, not a staple diet, is sound advice. A moratorium by banks on debt
service by borrowers has been a part of the COVID cushioning to corporates. Many of these firms would face acute liquidity
problems when the moratorium ends

Fast growth that embraces all businesses would avert a crisis. Such Goldilocks perfection rarely materializes in real life.
many companies that could survive with access to liquidity could go under when banks think it is time to do their asset
quality reviews. The solution is to provide such companies with capital that does not need to be serviced when they do not
make a profit on equity

Companies would need a whole lot of capital, to service existing loans and to invest in new production, to cater to the
demand thrown up by economic revival. The government had promised a fund to funds that would mobilize large volumes
of capital to invest in micro, small and medium enterprises.

This is the time to walk the talk. The equity stakes can be sold later, hopefully at a profit. Special situation funds, private
equity, and allocations from retirement savings can be tapped for the needed capital. Managing the investment is the
challenge.

forgaiferRaa sterior ol uféu 3iiz offar KU s1e gusll @ = difste ©

snfefas Ad &1 A SBUT RN &I 961E o1 wIcafes @ ar A ad 2007-08 3 sie dffaw fardicr Jwe Siaadd ufvmesrrasu sioner spur & R-erfer
IcUool g3 3ii forder i gl siir snfdfa frRt 3 BrIac s off, A AP cid gu Aradoil a3dol @I AT Yitd fovar sk &

Afe 331 IIGIRIRVI fopar SRI Al $ADI AMBIYRI Az 3 6 Buoht &I fora caazen agd siferes siffRigfia 8l smestt a=ifes wuforn fearfermaer &t
Rrerfer @ ufver @ ferg sBUI ol 3q Arersil bl o1 3 il T siiz srened >puI bl Al Sol a2l $AD folfdrd Yratiel dIol D &I IRDRI
aifdrea arefl ool o1 Yor: Yoit ol D fére JAdR U <ad §6 SIesn

faformare Afdvvpar siforart sBR o ke smuradIferd bl & U ¥ sucrd Siell aIfde A Yac Acis 3 PSiGRI GRI SBUI &l IAcRP U
if2rzerTol Bifes AR & el BRUNC SPIA @ feru FAIRIeh 281 3 siftrrecTel srafl did sl & a6 sord A dgd A yfereorell 3 Jzerar ot
HI? AR 3cUodl st Mefl AaArIl F Aokt A PRI dlal D Berasu Jdc oI ul¥sr sen  Aeref sPIa 3 331 aws @ Fafvia Faw 9IRS & ool
AIDR Bd & dgd Al ouferii Sil aerdr @ sifdere A sif¥dea d dof 36 Al &l 339 JaRT are A el Sesfl s/ oI o1 A1 ydia den b s
358 3Ueil ufedufe bl suradr i AHISH Dwil & DI AAIETGT 33 8 DI DBUTGRIl DI Goll IUCTeL] Dl & [SRIPI IUIIPT Io8 sfaadt ur o
o1t 3ifSfa w2or Bl gomm 3 SBUT Iucisel BAS D 1T Dot Bl smagaddr oidl 3

Duferil @I fdeRIet SBUT Al YgIol M6l a2l 518 3cUlGel 3 fo1d 9l d2ol, NRRd Yoisssildel ® URUIHRGRU 3.gd HidT DI GRI Dol @ fe1e daga
aifere gsil B siragAamdr gl IRDR of dgeRil folfi2RIl & ®Iu @I atiel T o1 BRID 3lodoid g, oy 31 AeAA el I fo1d91 Dol d fere
3 Uarel UR il Seré siesit

314 D6l DI B A forourfea ol @1 R 3 sfaadt Bl ol arc I Hsraa: Jemw! 3 Ja1 ST ADdr 3 UM goll & fere 9y Rafer e
forferal, forsfl sfaradt siir Jarforglr @ ugir & s1¢ waed A PU s1u sMdcel DI IURIPI BT 511 Addr 3 o191 oI ydersl w2l bl golicdl 3

What is the theme of the paragraph narrated above?
SWRITD IrErior @I Hel fawr o= 8 ?

[Question ID = 2227][Question Description = S3_qSNz_PG_COM_Q97]

1. Crisis of corporate funding during crisis times/3amuer & @I 3 @rRURE foiférier o1 2iwe [Option ID = 8905]
2. Forbearance of credit default/ssu1 sigrpfl 3 g &t Afdwjar [Option ID = 8906]

3. Liquidity and survival of companies/azcidr siiz wuforil &bt 3azsiifdat [Option ID = 8907]

4. Moratorium by banks on debt service/ssur ygrsft 3rar uz ot gr1 ceIRn srRn iférestor [Option ID = 8908]

Correct Answer :-
e C(risis of corporate funding during crisis times/smuar @& WrI 3 BRURCe foiftrer @1 Jwbe [Option ID = 8905]

3) Read the paragraph carefully and give an answer to the question

The Economic Survey cautions against extended forbearance of credit default, drawing the lessons that extended
forbearance in the wake of the 2007-08 global financial crisis led to the build-up of bad loans and dragged down investment
rates and economic growth.

If followed through, this would mean a major squeeze on company finances, as they scramble for resources to service loans
to avoid bankruptcy, and a big demand on the government to recapitalize the banks it owns, after they recognize and
provide for a mass of bad loans

Regulatory forbearance must be an emergency medicine, not a staple diet, is sound advice. A moratorium by banks on debt
service by borrowers has been a part of the COVID cushioning to corporates. Many of these firms would face acute liquidity
problems when the moratorium ends

Fast growth that embraces all businesses would avert a crisis. Such Goldilocks perfection rarely materializes in real life.
many companies that could survive with access to liquidity could go under when banks think it is time to do their asset
quality reviews. The solution is to provide such companies with capital that does not need to be serviced when they do not
make a profit on equity

Companies would need a whole lot of capital, to service existing loans and to invest in new production, to cater to the
demand thrown up by economic revival. The government had promised a fund to funds that would mobilize large volumes
of capital to invest in micro, small and medium enterprises.



This is the time to walk the talk. The equity stakes can be sold later, hopefully at a profit. Special situation funds, private
equity, and allocations from retirement savings can be tapped for the needed capital. Managing the investment is the
challenge.

forgoifciRaa srerior o1 ufeu siiz ofikr f3u s1w gl & 3= difso ©

3nffes AdgIuT A SBUT aBRI B 961S 318 dIcrafs & ar 3 ad 2007-08 3 snu dffae forikn Jdc R1d> ulvmazasu siomen spur &t fFerfer
3cuool g 3R forder i g3 ik snffe famret 3 PBriac s eft, A I9® o gu ATaeell F3cdol DI US9I Yfta v srm 3

i 3ADI 3GV fehl SRII dl $ADI ATHYRI Az 3 b Buoil Bl ford caazen agd sifere siifRigfia 8l siesil asiifes wuforn fealfermaet bt
Ferfer @ ufver @ ferg sBur Tol 3q Anerell B SPEIA A il E 3l ar9fier >BUT Bl AIGRIAT Sol el $AD foIfdrd Yraeiet mol d a6 AIDET
Faifdrea arefl ool o1 Yor: Yol ol D fére JAdR U <ard §6 SIgsn

faformae Af¥curar siforart sMBR of JIb: MuUIdDIfrd iuf?l @ Fu 3 U6 Siell aIfd  As Yaed Acls 3 DGRl GRI SBUT &l Acrpl Uz
siferrePrel ®lfds ARl @ Siviel BRURT SPIA @ fére JAIwRsT 361 3 sif2rePre s@f?l did Siol @ a6 so1d A Jgd A gfercorell 3 Ferdr &I
HIR JIRAT ool 3Rl il IaRARII 3 il 2 PRI ol @ WweRrasu Fdce oI UlsR PN Aaurel eI 3 33 des O Fafvid Favl 9IrRIe 3 ool
ATPR BId & dgd Al DuforIl SII Averdl @ IIBPEI A 3iRdcd I Jol 6 Al 2ff 3 FAIRT are A <cll sl S Jopl @I VAT Yeilda den b 3
308 Uil ufdiufer bl spurarr b IS Dwfl T $ADT JAIEIT A A6 DI DUforIl DI Yol Suctets ®oll 3 BRI IUIPI 368 sfaadl uz amm
o181 IfSfa 2ot bt gomr F SBUT Fucieel BT D 1Y W Bi TaLATB ofdl 3

DuforIl I feErAel SBUT AdI Yglol Mol Al oI€ IcUIGol d foId9I @ol, 3MfRd> Yelssildol @ URUIEFARU 3. gd ST DI YT Dol D fe1e dga
sifere il &l smagamdr 3Pl IR®R of 9l IRl & DIy @I adel &1 a1 BRI seasla Asa, oy 3k AREI Jerll 3 Border o @ e
3 Uarel U= il Seré Sieeil

314 DGl DI D 3 forcurfea mol @I IR 3 sfaadt Bl ol arc I Hsraa: oIl 3 S<1 ST ADdr 3 U goll @ fere oy Rerfer e
forferal, forsfl sfaradt sz Aarfergla @ uir &I a1¢ wad A BT s1u sMdcel DI IURIP BT ST Addr 3 ford9r oI yderst wal bl goliddl 3

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The government had promised a fund of funds that would mobilize large volumes of capital to invest in micro,
small and medium enterprises

Reason R: Companies would need a whole lot of capital, to service existing loans and to invest in new production, to cater to
the demand thrown up by economic revival.

In light of the above statements, choose the most appropriate answer from the options given below

ol A werol fGu a1 3 ;. uop sifdrperct (A) & wu 3 fiRaa 3 @ gar1 3ud @RI (R) & »a 3 :

sifSrperet (A) @ IRPR of WAl foiferIl bl foifer 1 aaret G e BRI siasia g, oy sz e Jewn 3 fordor @ fere aga siferm arqr 3 Usit
Jer$ siesft

®RuI (R) : wuferil @I fdeRIlel SBUI AT Yglel ®2ol 311 ot Icurce # fordor @l aer 3nffe Yorsssildel @ WBelRasU 3cUool HidI Pl G Dol
@ fere gga sifern goit &I smavamdan it

SWRITD DUoll @ 3Mrelld d, ofld 16w 31w fapedl 3 A AR IUYTP IR DI TRIol BRI ©

[Question ID = 2228][Question Description = S3_qSNz_PG_COM_Q98]

. Both A and R are correct and R is the correct explanation of A/(A) 3iz (R) el 3@t 8 3k (R), (A) &t 38t =mezn 8 [Option ID = 8909]

. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) cleil 2t & u3sq (R), (A) &t 3 =me=n oéf 3 [Option ID = 8910]
. Ais correct but R is not correct/(A) 3@t 2 aifepor (R) 38t o1df 3 [Option ID = 8911]

. A'is not correct but R is correct/(A) @t ot 8 cifdsar (R) 2@t 8 [Option ID = 8912]

A W N -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) cleil @l & 3z (R), (A) &t 38 == & [Option ID = 8909]

4) Read the paragraph carefully and give an answer to the question

The Economic Survey cautions against extended forbearance of credit default, drawing the lessons that extended
forbearance in the wake of the 2007-08 global financial crisis led to the build-up of bad loans and dragged down investment
rates and economic growth.

If followed through, this would mean a major squeeze on company finances, as they scramble for resources to service loans
to avoid bankruptcy, and a big demand on the government to recapitalize the banks it owns, after they recognize and
provide for a mass of bad loans

Regulatory forbearance must be an emergency medicine, not a staple diet, is sound advice. A moratorium by banks on debt
service by borrowers has been a part of the COVID cushioning to corporates. Many of these firms would face acute liquidity
problems when the moratorium ends

Fast growth that embraces all businesses would avert a crisis. Such Goldilocks perfection rarely materializes in real life.
many companies that could survive with access to liquidity could go under when banks think it is time to do their asset



quality reviews. The solution is to provide such companies with capital that does not need to be serviced when they do not
make a profit on equity

Companies would need a whole lot of capital, to service existing loans and to invest in new production, to cater to the
demand thrown up by economic revival. The government had promised a fund to funds that would mobilize large volumes
of capital to invest in micro, small and medium enterprises.

This is the time to walk the talk. The equity stakes can be sold later, hopefully at a profit. Special situation funds, private
equity, and allocations from retirement savings can be tapped for the needed capital. Managing the investment is the
challenge.

forgotferRae sterior o ufgu siiz ofiar f&u s1e gesil & Ia= difvie

snffs Adgrur A SBur abrRn Bl d61E o1 rcafts @ an i ad 2007-08 & snu dffae farikn Jddc Riaaads ulvmaraeu sionesn spur &bl ferfer
3cuool g3 3iiR forder &l g3 ik snffe famrt 3 Briac s eff, A IF9® o gu ATaeeil S3cdol oI FUSI Yt v srm 3

AfS $IADI IIGIFRVI [l SRII Al $ADI AMBIYRI AUs 3 b DUl Bl o sravren agd sifere silfRigRMA 3l sresll wifee wuforii Rarfermast &t
Ferfer @ ufysr @ forg >BUI Sol 3q Aol Bl I A 3cil T 3z 3r9Ney SBUT Bl AIGRIAT Sol Al $AD foIfdr Yraeiet mol d dIc AIDIT
Faifdred arctt St @I Yor: Yol <ol D fere JAdR UR gad 96 SIIgsn

farforemares Afdougar siforart 3R of gl sMuIdeIfee 3iiuf2l & FU 3 Uels Siell aIfde A6 gad Aclis 3 PSR GRI SBUI &I FcRPI R
siferrerTel PIfds HEEIS & SRIcT BRURC SPIA @ fo1e FeiuRIeh 261 3 siffrrePTol sraf?r did sl @ ag sordl A agd A yfersorell 3 Jerar &
HIR FIRAT IcUool aoll il wra=aril 3 dshl A BT Blol @ Berasu Adc oI ulEr slen aernet seIa d 33 e @ Fafvia Faver omrie & osht
AIDR A & dgd Al ouforii St aerdr & sifdpma A sif¥ded i dol 36 Al &ff 33 Ja=T are 3 acil Sesfl sia 1 @I ¥AT Ydia gon b sra
303 3raeil uf¥iufer &l spuradr &l wefien wwll 3 sAD1 LG 3 R B DUloRIl DI Goll Iuctetl Bl 3 RBRIBI IURIBI 368 sferadd ur am
oIt 3ifdfa ot Bl gomr 3 SBUT Jucist] DA D 1T Dot B siragAddr o8l 3

puferil @l [ERI6 5BUT Al Yglol Mol A2l oI¢ 3cUlsel J 191 Bol, 3nffa> Yorsssildol @ URVIBRA?U 3.gd HPI DI YT D0l D 18 aga
sifere gl &l sragamdr 3Rl IRDR of dgaRil fOif2RIl & DIy @I Tl &1 a1 RRID seasla AswH, oy sz A3 el 3 forder wel @ o
§3 Uarol U= Yail et Siesfl

314 D6l DI D A forcurfed @l o AIA & sfaadt Bl @l arc A Jsad: Fewl d Sa1 Sl ADdr 3 U goll @ ferg fady Refer e
foiferil, forsfl sfaradl siiz Aanforgir @ uarq &l 31 Fad A fopu 31U 3iIdcst BT IURIIPI bl SIT ADdar 3 ford9r BT Yetlol a2l Dl Jolicil 3

Given below are two statements:
Statement |: Forbearance of credit default is a common phenomenon in Indian banking system
Statement ll: Global financial crisis influences the quantum of bad loans in India

In light of the above statements, choose the correct answer from the options given below

il ol @l fdu sre 3 ¢

@Yol - | : >puI 3cRPH 3 I U Sfdper yurrell 3 ARG ulvacsr &

@2l - |l : dffaas fordier Jac o gera s 3 sreiie:r >puT & uf¥amr R usdar 3
SWRITP Pl D 3MIclid A, ofld fBu s1u fRypedl 3 A AR IuYTh IaR DI Tol I ©
[Question ID = 2229][Question Description = S3_qSNz_PG_COM_Q99]

1. Both statement | and statement Ll are true/asermer | siz | Sleif &t & [Option ID = 8913]

2. Both statement | and statement l are false/@eret | 8ii2 |1 Sleil siera & [Option ID = 8914]

3. Statement L is true but statement [l is false/@memet | 31 3, cifdbor weret |l sRi & [Option ID = 8915]
4. Statement L is false but statement [l is true/@eret | srIeI 8, cfdbot weret || A= 8 [Option ID = 8916]

Correct Answer :-
e Both statement | and statement Il are true/err | si |1 Slail 2t & [Option ID = 8913]

5) Read the paragraph carefully and give an answer to the question

The Economic Survey cautions against extended forbearance of credit default, drawing the lessons that extended
forbearance in the wake of the 2007-08 global financial crisis led to the build-up of bad loans and dragged down investment
rates and economic growth.

If followed through, this would mean a major squeeze on company finances, as they scramble for resources to service loans
to avoid bankruptcy, and a big demand on the government to recapitalize the banks it owns, after they recognize and
provide for a mass of bad loans

Regulatory forbearance must be an emergency medicine, not a staple diet, is sound advice. A moratorium by banks on debt
service by borrowers has been a part of the COVID cushioning to corporates. Many of these firms would face acute liquidity
problems when the moratorium ends

Fast growth that embraces all businesses would avert a crisis. Such Goldilocks perfection rarely materializes in real life.



many companies that could survive with access to liquidity could go under when banks think it is time to do their asset
quality reviews. The solution is to provide such companies with capital that does not need to be serviced when they do not
make a profit on equity

Companies would need a whole lot of capital, to service existing loans and to invest in new production, to cater to the
demand thrown up by economic revival. The government had promised a fund to funds that would mobilize large volumes
of capital to invest in micro, small and medium enterprises.

This is the time to walk the talk. The equity stakes can be sold later, hopefully at a profit. Special situation funds, private
equity, and allocations from retirement savings can be tapped for the needed capital. Managing the investment is the
challenge.

forgotferRae sterior o ufeu siiz ofiar XU s1e gesil @& Iz difsie

3nffs AdguT A SBuT abrRn Bl 9GS o1 Icafs @ an i ad 2007-08 3 snu dffaw farikn Jddc Rrads ulvmarasu sionesr spor &bl Rerfer
3cuool g3 3iiR forder &bl g3 iz snffe famrt 3 Priac s ft, A IAd® < gu AMGersil d3cdol DI USr Yt fpar srr 3

Al $IADI 3IGIFRVI [l SRII €l $ADI AMYRI U8 3 b DUl Bl fora sraven agd sifere siffRigRia 81 sieslt aifee wufsrii Carfermast &bi
fFerfer @ ufysr @ fo1g >BUI Sol 2q Aol Bl I A &cil & 3z 3relier SBUT Bl AlGAAT Sol Al $AD foIfdr Yraeist mol D dic AIDRET
Farfdica arcfl Sl @ Yot: Ysil Sol D fe1g IR UR gdid 96 SIEsI

farforemares Afdoular siforart sER of Bl MU il & FU 3 Uelrs Siell aIfde A6 gae A 8 PSIGRI GRI SBUT df FeRPI R
RUSTE DIfS BRI D SRIGI DRURE SPId @ fore AHIUPRH &1 & sfResTel @af?l did Sl @ a6 Sold A dgd A Yfereololl 3 Acrdr bl
IR JIRAT IcUool el it RIRARI 3 TSl 3 fIrPRI ol & BweRrasu Ide oI ultsr sPn  Aened sPda 3 33 s & Fafdfa Fawr 9mrIs & ot
WOR BXd & agd Al wufsrai Sit azerar @ sifdema A sif¥dea 3 gol 36 Al off 331 Ao are A acil sesfl s/a oot o1 Yar yedia gen oo sra
308 3uoll uf¥zufer &bl spuradr b wdisgn wwfl 8 3BT AMEnel 57 s I Buforil ol Yol Iucteel dell & SrI®T IURIPI 368 sfaadl uz cry
o18l 3ifSfa ot & gom & SBUT Jucteel DA B fore Bor Bl smagadd o1st 3

puferil @l fEEIel 5BUT AT Yglol d0l a2l ol¢ Iculsel J o191 ®ol, 3ffa> Yorsssildol @ URVIBRG}U 3.gd HPT DI YT D6l D fo1e aga
sifere gl bl sragamdr 8l IRDR of dgaril foiferRIl & DIy @I axel &1 a1 RRID sieasia AgH, oy sz A JeEl 3 forder wel @ fore
3 Yarrol U= Uil Jers siesit

3 Pl DI DA 3 forourfed ol oI A & siadl el @I a1 A Fvaa: FoIbI A <1 ST Addl & UL gsil @ fére fady Rrefer v
foiferil, forsfl sfaradl siiz Aanforgicr @ uarq &l 51 w@d A fPpu 91U 3iIdcst DI IURIIPI [T SIT ADdar 8 ford9r DI Yetlol a2l Dl Jolicil 3

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: A moratorium by banks on debt service by borrowers has been a part of the COVID cushioning to corporates

Reason R: Regulatory forbearance must be an emergency medicine but not a staple diet

In light of the above statements, choose the most appropriate answer from the options given below

ofid Al werot Ru o 3 : uop sifdrverct (A) & wu 3 fRiRaa 3 @ gar1 3ud @Rl (R) & »u 3 :

siffrperet (A) : DoleRl GRI SBUT AdT R B! GRI Mf2R-ePIe BIRURE SPKT Bl BIfIS BId & el Ygd Jfaensit 3 A vw 21 3
@RI (R) : faformre afdwupar smuraeifers sitafir el aifde o 5 siforart smer

SWRIFP Dol D 3MIelld #, ofld 8w 31w frpedl 3 A AR IuYeD IR DI TRIol HIFIT ©

[Question ID = 2230][Question Description = S3_qSNz_PG_COM_Q100]

. Both A and R are correct and R is the correct explanation of A/(A) 3iz (R) il 3@t 8 3k (R), (A) &t A& =mezn 8 [Option ID = 8917]

. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) cleil 3 & u3sq (R), (A) &t 3 =me=n odf 8 [Option ID = 8918]
. Ais correct but R is not correct/(A) 3@t & wog (R) @t gt & [Option ID = 8919]

. Ais not correct but R is correct/(A) 3@l o8 8 u3oq (R) 2@t & [Option ID = 8920]

A W N -

Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) cleil 2@t & 3z (R), (A) &t 3@ =mz=n & [Option ID = 8917]

Topic:- GP_26NOV_SH1_A

1) Study the table carefully and answer the questions that follow

In the following table, total Exports and Imports of 5 countries over 4 years (in Rs Crore) is given. Study the table carefully
and answer the given questions. (I-import, E-export)

Year 2017 2018 2019 2020
Country I E I E 1 E 1 E
P 25 30 24 32 28 36 22 32
Q 28 26 26 31 29 37 26 34




wn

22 28 18 28 16 21 23 32

ARl @I &Alolgd® ufgu d ygd gssil @ IR SIS :
forarferRaa vl 3, 4 auf @ Sikrer 5 Soli @I @ RN d foria (RIS Fu 3) 6 s 3 ¢
(I - 34, E - forafa)

2017 2018 2019 2020

| E | E | E | E
25 30 24 32 | 28 | 36 | 22 | 32
28 26 26 31 29 | 37 | 26 | 34
24 32 28 25 | 32 | 36 | 28 | 34
22 28 18 28 16 | 21 | 23 | 32
26 31 16 33 12 | 23 | 21 28

ﬂm;upvg&

Find out the difference between the average export and average import for the country P.

P Tor @ ferg sitarda forafa a siiard smera @ dia @ sidr @1 udr cense

[Question ID = 2081][Question Description = S2_qSNz_PG_GP22_Q01]
1. 8.25/8.25 [Option ID = 8321]
2. 7.75/7.75 [Option ID = 8322]
3. 8.50/8.50 [Option ID = 8323]
4. 7.25/7.25 [Option ID = 8324]

Correct Answer :-
e 8.25/8.25 [Option ID = 8321]

2) Study the table carefully and answer the questions that follow

In the following table, total Exports and Imports of 5 countries over 4 years (in Rs Crore) is given. Study the table carefully
and answer the given questions. (I-import, E-export)

Year 2017 2018 2019 2020
Country 1 E I E I E I E
P 25 30 24 32 28 36 22 32
Q 28 26 26 31 29 37 26 34
R 24 32 28 25 32 36 28 34
S 22 28 18 28 16 21 23 32
T 26 31 16 33 12 23 21 28

ARl @I &Alolgd® ufeu a ygd gssil @ IR SIS :
forarferRaa Arvil 3, 4 auf @ Sikrer 5 SoIi @I @ RN d foraia (RIS Fu 3) G s 3 ¢
(I - 34, E - forafa)

2017 2018 2019 2020

| E | E | E | E
25 30 24 32 | 28 | 36 | 22 | 32
28 26 26 31 29 | 37 | 26 | 34
24 32 28 25 | 32| 36 | 28 | 34
22 28 18 28 16 | 21 | 23 | 32
26 31 16 33 12 | 23 | 21 28

ﬂmwpvg&

Which country has the maximum percentage of profit increase from 2019 to 2020?

(Profit = Export - Import)

2019 31 2020 o 3ieret b1 S91 @ o 3 siftrpaa yferora gfys 58 3
(i3t = forafa - smRITaT)
[Question ID = 2082][Question Description = S2_qSNz_PG_GP22_Q02]



P/P [Option ID = 8325]
Q/Q [Option ID = 8326]
R/R [Option ID = 8327]
S/S [Option ID = 8328]

AN wnN -

Correct Answer :-
e P/P [Option ID = 8325]

3) Study the table carefully and answer the questions that follow

In the following table, total Exports and Imports of 5 countries over 4 years (in Rs Crore) is given. Study the table carefully
and answer the given questions. (I-import, E-export)

Year 2017 2018 2019 2020
Country I E I E 1 E I E
P 25 30 24 32 28 36 22 32
Q 28 26 26 31 29 37 26 34
R 24 32 28 25 32 36 28 34
S 22 28 18 28 16 21 23 32
T 26 31 16 33 12 23 21 28

ARl @l &Aolgde® ufgu a ygd gesil @ IR SIS :
forrarferRaa vl 3, 4 auf @ Sierer 5 Soil @1 @ RN a forafa (BRIs Ful H) G srn 3 @
(I - 3mrma, E - forafa)

2017 2018 2019 2020

I E I E I E | E
25 30 24 32 | 28 | 36 | 22| 32
28 26 26 31 29 | 37 | 26 | 34
24 32 28 25 | 32| 36 | 28 | 34
22 28 18 28 | 16 | 21 | 23 | 32
26 31 16 33 | 12| 23 | 21 28

ﬂwxpvg&

Which year has the maximum export?

fop21 ad 3 sif2rsaa forafa gam 37

[Question ID = 2083][Question Description = S2_qSNz_PG_GP22_Q03]
2017/2017 [Option ID = 8329]
2018/2018 [Option ID = 8330]
2019/2019 [Option ID = 8331]
2020/2020 [Option ID = 8332]

AN wnN =

Correct Answer :-
e 2017/2017 [Option ID = 8329]

4) Study the table carefully and answer the questions that follow

In the following table, total Exports and Imports of 5 countries over 4 years (in Rs Crore) is given. Study the table carefully
and answer the given questions. (I-import, E-export)

Year 2017 2018 2019 2020
Country I E I E 1 E I E
P 25 30 24 32 28 36 22 32
Q 28 26 26 31 29 37 26 34
R 24 32 28 25 32 36 28 34
S 22 28 18 28 16 21 23 32
T 26 31 16 33 12 23 21 28

ARl @l &Aogde® ufgu T gygd geil @ IR SIS :
forrarferRaa vl 3, 4 auf @ Sierer 5 Soll @1 @ R a forafa (BRIs FuRl H) R srn 3 :
(I - 3smRma, E - forafe)




2017 2018 2019 2020

I E I E I E I E
25 30 24 32 | 28 | 36 | 22 | 32
28 26 26 31 29 | 37 | 26 | 34
24 32 28 25 | 32| 36 | 28 | 34
22 28 18 28 | 16 | 21 | 23 | 32
26 31 16 33 | 12| 23 | 21 28

Hjw|m oo (¥ g

Which year has the minimum average import?

fopa1 adf 3 Syeraaar IR MR 8311 3 ?

[Question ID = 2084][Question Description = S2_qSNz_PG_GP22_Q04]
2017/2017 [Option ID = 8333]
2018/2018 [Option ID = 8334]
2019/2019 [Option ID = 8335]
2020/2020 [Option ID = 8336]

A wpN =

Correct Answer :-
e 2017/2017 [Option ID = 8333]

5) Study the table carefully and answer the questions that follow

In the following table, total Exports and Imports of 5 countries over 4 years (in Rs Crore) is given. Study the table carefully
and answer the given questions. (I-import, E-export)

Year 2017 2018 2019 2020
Country / E / E I E 1 E
P 25 30 24 32 28 36 22 32
Q 28 26 26 31 29 37 26 34
R 24 32 28 25 32 36 28 34
S 22 28 18 28 16 21 23 32
T 26 31 16 33 12 23 21 28

ARvil @ sAeyde ufee a yed geoll @ 3= i ¢
forgotfcii¥aa ArRvil 3, 4 auf @ <iarel 5 SoIi @I wel AR d foria (wAs FUA 3) 6 srn 3 ¢
(I - 3amRma, E - foraie)

2017 2018 2019 2020

I E I E I E I E
25 30 24 32 | 28 | 36 | 22 | 32
28 26 26 31 29 | 37 | 26 | 34
24 32 28 25 | 32| 36 | 28 | 34
22 28 18 28 | 16 | 21 | 23 | 32
26 31 16 33 | 12| 23 | 21 28

Hjw|m oo ¥ 4

Find out the ratio of export done by country S and T during 2017-2020.

S 3R T 91 grr 2017 - 2020 o5 Sl fpu 31w foRIIA @ 3roIUId I Udl coIsy &

[Question ID = 2085][Question Description = S2_qSNz_PG_GP22_Q05]
;. 109 109
115° 115

[Option ID = 8337]
2. M 11

1157 115

[Option ID = 8338]
3, 108 108

"7 117

[Option ID = 8339]
4 107 107

17 ° 117

[Option ID = 8340]

Correct Answer :-



. 109 109
115° 115

[Option ID = 8337]

Topic:- GP_26NOV_SH1_B

1) Which region of brain is involved in our ability to learn new information, particularly if it is verbal?

ARASD DT DlolRI i) o1 JToll, Iy @2 Al ds onfecm 3, @ 3AfRERI DI FAR ARIaAr 3 3idsf alar 3 :

[Question ID = 2086][Question Description = S2_qSNz_PG_GP22_Q06]

1. Cerebrum/yaRass (3g@r) [Option ID = 8341]
2. Hippocampus/fguidsu=1 [Option ID = 8342]
3. Pons/disar [Option ID = 8343]

4. Thalamus/8cwrt [Option ID = 8344]

Correct Answer :-
o Cerebrum/yaf¥aws (3Adger) [Option ID = 8341]

2) mooKIT platform uses , an open source content management system.

Afve (GENENBIER) Wewn! O BrstiRad # A Roa 2 siadeg et guirel & geiet 3 R Rar srm 3 ?

[Question ID = 2087][Question Description = S2_qSNz_PG_GP22_Q07]
1. DRUPAL/t ame g dt w uer [Option ID = 8345]
2. JOOMLA/Sr ait 3 wat wet w [Option ID = 8346]
3. SAKAIl/wxrwa uams [Option ID = 8347]
4. Moodle/sse (wor 3it 3l St et $) [Option ID = 8348]

Correct Answer :-
® DRUPAL/SI 3= 31 dt w uet [Option ID = 8345]

3) INFLIBNET Centre, which is an autonomous Inter-University Centre of the University Grants Commission, maintains

ferafdencrI 3ieIcrel 3RIPT I Ud FARIRIL sfod: faafdeneril d5g sfircreolc (3$ wol W uet 3n$ € wal $ ¢&1) forarfeil¥aa 3 A b1 @I 3rezgivr
I 3 ?

[Question ID = 2088][Question Description = S2_qSNz_PG_GP22_Q08]

1. Swayam Prabha/z@=igsm [Option ID = 8349]

2. e-Pathshala/$ - uisener [Option ID = 8350]

3. e-Gyankosh/$ - sirerta [Option ID = 8351]
4. Shodhganga/enewisn [Option ID = 8352]

Correct Answer :-
e Swayam Prabha/a=iger [Option ID = 8349]

4) Given below are two statements

Statement I: According to Piaget, the ability to solve conservation problems depends on having an understanding of three
basic aspects of reasoning: identity, compensation, and reversibility.

Statement II: The stage of classification does not depend on a student's ability to focus on a single characteristic of objects
in a set and group the objects according to that characteristic.

In light of the above statements, choose the most appropriate answer from the options given below

ofi<I S werer fRw 1w 8 ¢

Dol - | : FRISI @ IIGRIR, FHGIVT AHFAT3L DI BT D0l DI AIRAAT D56l D <ilel JcT UscL3il B dIel UR fonlz @l 3 : aerd, ui¥sr iR
faoRRAar

@Yol - || : golfpzur BT @RI fpAl v e 3 a¥dgail ol v fafdrsedr ur dfoga @l 3R 3w fafdrsedr @ 3IRIR a3l BT AHFIBUT DIl
oot fremeff &1 Mserar uz oz off war 3

IWRYTh Decil B Il A forrorfeiRaa faeul 3 A 78t 3R ol :

[Question ID = 2089][Question Description = S2_qSNz_PG_GP22_Q09]

1. Both Statement | and Statement Il are correct/aerml | 3z |l Si6il 2t & [Option ID = 8353]

2. Both Statement | and Statement Il are incorrect/eret | 3iiz || Sloil siera & [Option ID = 8354]

3. Statement | is correct but Statement Il is incorrect/wmeret | 3@t 8, fboq @ere |l stera 8 [Option ID = 8355]
4. Statement | is incorrect but Statement Il is correct/weret | sicia 2, fboq weret || 318t & [Option ID = 8356]

Correct Answer :-
e Both Statement | and Statement Il are correct/werer | 3iiz 11 loii 21 & [Option ID = 8353]



5) According to Urie Bronfenbrenner's biological model of human development, microsystem constitutes

A. Immediate family
B. School

C. Beliefs

D. Customs

E. Neighbourhood

Choose the correct answer from the options given below:

I gioWolgolr @ HAleld DRI @ Sifdd discr B IIGRIR JgAYUIIEH forger Hafed il 3 :
A. forpeaa ufsar

B. foamr ugfer

C. smran

D. $fer - Ras

E. gferder

ofid o s1u fwsedl & A A8 IR BT WRI6l HIRIU :

[Question ID = 2090][Question Description = S2_qSNz_PG_GP22_Q10]

A, B and C only/@act A, B siiz C [Option ID = 8357]
A, C and E only/dact A, C 3liz E [Option ID = 8358]
A, B and E only/adqet A, B siiz E [Option ID = 8359]
C, D and E only/@aa C, D siiz E [Option ID = 8360]

A W N -

Correct Answer :-
e A, Band C only/aac A, B siiz C [Option ID = 8357]

6) Which one of the following is an important characteristic of the researchers involved in qualitative study?

JUIICHD 3MERIST A I oNermdisil & forarfeiRaa 3 A @it Ml v asrayyt fafdrscar skt 3 ?

[Question ID = 2091][Question Description = S2_qSNz_PG_GP22_Q11]
1. Non-partisan/uet foruer [Option ID = 8361]

2. Reflexivity/yfefgeneaas [Option ID = 8362]

3. Transparency/ursfstar [Option ID = 8363]

4. Enthusiasm/3cms [Option ID = 8364]

Correct Answer :-
e Non-partisan/ugi forzigr [Option ID = 8361]

7) Some of the types of hypothesis are as follows:
A. Descriptive

B. Null

C. Confounding

D. Intervening

E. Explanatory (Causal)

Choose the correct answer from the options given below:

YIadcUell & G YR folFoleRIR 3 :

A. avfoiicas

B. srpa

C. zagiy or®

D. srearacit

E. carcacas (3go)

il fou s1e frapeul 3 2 & 3R BT a6l HIfSIE ©

[Question ID = 2092][Question Description = S2_qSNz_PG_GP22_Q12]



A, B and C only/dact A, B afiz C [Option ID = 8365]
B, C and D only/a@aet B, C 3iiz D [Option ID = 8366]
A, B and D only/dact A, B siiz D [Option ID = 8367]
A, B and E only/dact A, B 3iiz E [Option ID = 8368]

A W N -

Correct Answer :-
e A, Band C only/aac A, B iz C [Option ID = 8365]

8) Given below are two statements

Statement I: Exploration is particularly useful when researchers lack a clear idea of the problems they will meet during the
study.

Statement II: Through exploration, researchers develop concepts more clearly, establish priorities, develop operational
definitions, and improve the final research design.

In light of the above statements, choose the correct answer from the options given below

ofiar S1 averet feu s1e 3 ¢
@l - | : S/ oNeradiail 3 31¢RIeT @ GiIol siroidicll AHFAT3IT D R 3 Fuse AR @1 3 3iar 3 dl srIayun faoky »u A su=si ad 3

@2l - || : srayvi a5 amera A oNersdal sraenzunsii @1 iR 3t Fuse wu 3 el w2 8, yrefiasand forerifsa o 3, fdgncars ufsmamg
froR1a @ & iz siferar oner sifdtveu @ Jearzd &

W Deoll @ el 3, ofidl fu a1e frmeul 3 A & I DI TwIel HIfSTY :
[Question ID = 2093][Question Description = S2_qSNz_PG_GP22_Q13]

Both Statement | and Statement Il are true/erer | 3z || Gloil 3ir 8 [Option ID = 8369]

Both Statement | and Statement Il are false/@memr | 3iiz |1 Gloil 3R & [Option ID = 8370]
Statement | is true but Statement Il is false/ere1 | 31 8, fbog @eret |l sRIcr & | [Option ID = 8371]
Statement | is false but Statement Il is true/wepol | srRI=I &, fbog et |l = & [Option ID = 8372]

A wWw N -

Correct Answer :-
e Both Statement | and Statement |l are true/@merer | iz 1 leil 311 & [Option ID = 8369]

9) Survey research is based on which of the following?

Id eror onter foarferlRaa & A fvaT uz smenfya & ?

[Question ID = 2094][Question Description = S2_qSNz_PG_GP22_Q14]
1. Constructivism/aemars [Option ID = 8373]

2. Interpretivism/xm=icsadr [Option ID = 8374]

3. Positivism/yragmaig [Option ID = 8375]

4. Hermeneutics/onzqref #fiarizm [Option ID = 8376]

Correct Answer :-
e Constructivism/3derars [Option ID = 8373]

10) Which among the following are non-parametric statistics?
A. t-test

B. F-test

C. Spearman'’s rank order correlation

D. Mann-Whitney-Wilcoxon test

E. Kendall coefficient of concordance

Choose the correct answer from the options given below:

forgatfeiRaa 3 3 Plet - Blat 3igrad AiRsadt 3 ?

A. & - udigor

B. uw - udligrr

C. Rmrrée @1 Rafe o s Ader

D. et - fescofl - frerpIa=iler udigior

E. @53e JisIadn s

il fou s1u fyepeul 3 2 & IR BT a6l HIfSIE ©

[Question ID = 2095][Question Description = S2_qSNz_PG_GP22_Q15]



A, B and C only/dact A, B afiz C [Option ID = 8377]
B, C and D only/adaet B, C siiz D [Option ID = 8378]
B, D and E only/aact B, D siiz E [Option ID = 8379]
C, D and E only/aae C, D siiz E [Option ID = 8380]

A WN -

Correct Answer :-
e A, Band C only/aae A, B siiz C [Option ID = 8377]

11) messages have more or less same meaning for the audience.

Ao 91 I3l & fe1e yrI: U & aref 3ad & -

[Question ID = 2096][Question Description = S2_qSNz_PG_GP22_Q16]
Denotative/azqgarefa [Option ID = 8381]

Complex/sifeer [Option ID = 8382]

Connotative/spmefe [Option ID = 8383]

Abstract/smge [Option ID = 8384]

A W N -

Correct Answer :-
e Denotative/azqarefa [Option ID = 8381]

12) Which one of the following is an example of a technological barrier in communication?

VT 3 RrotfeRad & 3 Blel A1 TB GBS ALl BT IGTE0T 3 ?

[Question ID = 2097][Question Description = S2_qSNz_PG_GP22_Q17]
Physical locations of communicators /2wt &t siiferen sraf¥efer [Option ID = 8385]

Low bandwidth of internet/scoic @ fowar ds - fazare [Option ID = 8386]

Personal attitude towards technology/qielf3rcht @ yfer Jafepa sifdrgfer [Option ID = 8387]
Complexity of ideas/faam} &t sifeerar [Option ID = 8388]

AW N =

Correct Answer :-
e Physical locations of communicators/ziudi & siiferas sraf¥erfer [Option ID = 8385]

13) The communication among persons working at different levels who have no direct reporting relationship is called:

fireol TRl UR BRIRA BA AftbAl & dia AYWUT DI a=—IT B3l Sl & forerd geael f¥dlé el @ Jder of ol ?

[Question ID = 2098][Question Description = S2_qSNz_PG_GP22_Q18]
Intrapersonal communication/sia: d&ifep® [Option ID = 8389]

Upward communication/3ed igwor [Option ID = 8390]

Horizontal communication/erask 2guur [Option ID = 8391]

Diagonal communication/fdepof sigwor [Option ID = 8392]

A W N -

Correct Answer :-
® |Intrapersonal communication/sid: dzfebas [Option ID = 8389]

14) Marshall Mcluhan's name is associated with the assertion:

Jirofer Aarcisol oI ol forsarferRaa 3 A v sifdraserer & mer Jag 3 ?

[Question ID = 2099][Question Description = S2_qSNz_PG_GP22_Q19]

1. The message is the medium/3redar srezrer & [Option ID = 8393]

2. The medium is the message /a1 3ager 3 [Option ID = 8394]

3. The message determines the medium accurately/3feger ane=at ol Slb - Stop forerff¥a war & [Option ID = 8395]
4. A message is a message/2ig9r g9l &t 3 [Option ID = 8396]

Correct Answer :-
® The message is the medium/3eaer smezrer 3 [Option ID = 8393]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: In classroom communication, teachers should acknowledge and take into account students' views.
Reason R: In a classroom, the probability of message reception can be enhanced by establishing a viewpoint.

In light of the above statements, choose the correct answer from the options given below

il 3l werel fRu s1e 3@ uep sifdraperst (Assertion A) @ »u 3 iz ¢RI 3@ PRUT (Reason R) & wu 3 :
siffrperet (A) : wen Aguvr i Piert @1 fenfRil & efRcdivr B THDBR © 308 &xlol I ITol TfdT
®RUI (R) : el 3 zfRedplvr @1 Fefied o2 AS9I 3EuI Bl AHIRIAT DI SGRI Sl APl 3

SWRITD DUoil B Il i, ofd e fiwcul 3 A A& a7 &1 I Hifste ©



[Question ID = 2100][Question Description = S2_qSNz_PG_GP22_Q20]

Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) Gleil 31 & 3R (R), (A) &t 3@ =z 8 [Option ID = 8397]

Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) Gl 31 & weag (R), (A) &l 3 e oidt & [Option ID = 8398]
Ais true but R is false/(A) 3= &, wog (R) sri=x & [Option ID = 8399]

A is false but R is true/(A) sria &, wag (R) 3= & [Option ID = 8400]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) sz (R) gleil a1 & 3R (R), (A) &I A&t =mzn 8 [Option ID = 8397]

16) How many terms are there in the series

168, 175, 182 _, 2667

o ——

168, 175, 182, ------ , 266

ojzet 3 fpeaol ug 3 ?

[Question ID = 2101][Question Description = S2_qSNz_PG_GP22_Q21]
. 13/13 [Option ID = 8401]

. 14/14 [Option ID = 8402]

1
2

3. 15/15 [Option ID = 8403]
4. 16/16 [Option ID = 8404]

Correct Answer :-
e 13/13 [Option ID = 8401]

17) Given below are two statements
Statement I: The compound interest on ¥280 for 18 months at 10 % per annum is ¥44.3.
Statement Il: At 5.6 % rate of simple interest, a certain sum will be doubled in 15 years

In light of the above statements, choose the correct answer from the options given below

ofi &1 erer Ru sre 3 :

e - | 1 280 3ud uz 10% aiftfes g2 ur 18 a6 @ fere amaly =aret 44.3 sud 3
@ - |l : 5.6 gferora & A1em?vr <1e1 A @1 v Afdr 15 ad 3 gogenr 3l smesh
SURITP Dol B 3IIelld 3, ofi<dl fu 1w frapeul 3 3 A8l IR DI ol DHIfST
[Question ID = 2102][Question Description = S2_qSNz_PG_GP22_Q22]

1. Both Statement | and Statement Il are true/@emwt | 8iiz |1 Sleit 3 @ [Option ID = 8405]

2. Both Statement | and Statement Il are false/a@ermet | 8iiz || Gleil sRicr & [Option ID = 8406]

3. Statement | is true but Statement Il is false/@emwr | 31 8, fdpoq werat || sRicr 8 [Option ID = 8407]
4. Statement | is false but Statement |l is true/mesol | sRIcI 8, fbog @eret || 3r & [Option ID = 8408]

Correct Answer :-
e Both Statement | and Statement Il are true/@erer | iz 1l Slail 2 & [Option ID = 8405]

18) The average of ten number is 7. If each number is multiplied by 11, then the average of the new set of numbers is:
10 zizsasii o1 3iiera 7 & Afe g izean 1 11 A 9o g s, d A8l & e e oI iRId a=I aen?

[Question ID = 2103][Question Description = S2_qSNz_PG_GP22_Q23]
1. 82/82 [Option ID = 8409]
2. 72/72 [Option ID = 8410]
3. 78/78 [Option ID = 8411]
4. 77/77 [Option ID = 8412]

Correct Answer :-
e 382/82 [Option ID = 8409]

19) Which of the following fractions is the smallest?

forgotferRaa 3 3 wlat 2l froor crgrer 3 ?

[Question ID = 2104][Question Description = S2_qSNz_PG_GP22_Q24]
65/80/65/80 [Option ID = 8413]

11/16/11/16 [Option ID = 8414]

5/8/5/8 [Option ID = 8415]

29/40/29/40 [Option ID = 8416]

A W N -

Correct Answer :-
e 65/80/65/80 [Option ID = 8413]



20) A total of 324 coins of 20 paise and 25 paise make a sum of ¥71. The number of 20 paise coins is

20 3iiz 25 U g D 324 Rraml @ Aer A 71 BuA &I Al oiell 20 TA @ Rraopl &t Fzen 3 -

[Question ID = 2105][Question Description = S2_qSNz_PG_GP22_Q25]
1. 144/144 [Option ID = 8417]
2. 124/124 [Option ID = 8418]
3. 200/200 [Option ID = 8419]
4. 125/125 [Option ID = 8420]

Correct Answer :-
® 144/144 [Option ID = 8417]

21) Given below are two statements
Statement I: Truth and Falsehood are predicates of Arguments
Statement Il: Validity and Invalidity are predicates of Statements

In light of the above statements, choose the most appropriate answer from the options given below

ofi <1 werer Ru s 3 :

@Uol - | : e 3R IRIc ad D foreriead &

@l - || : derar 3R 3Eiedar Boell @ forerid &

SWRITP DAll B IIellID 3, ofi<l U 31Q fapeul 3 A AT IUYTP IR DI W6l DIfSIT ©
[Question ID = 2106][Question Description = S2_qSNz_PG_GP22_Q26]

1. Both Statement | and Statement Il are correct/aermer | siiz |l Si6if 2t & [Option ID = 8421]

2. Both Statement | and Statement Il are incorrect/emr | 3l || Gl steta & [Option ID = 8422]

3. Statement | is correct but Statement Il is incorrect/aerwer | 3@ &, fboq wermw |l srera & [Option ID = 8423]
4. Statement | is incorrect but Statement Il is correct/emt | sie/ &, fboq @t |l 3t & [Option ID = 8424]

Correct Answer :-
e Both Statement | and Statement Il are correct/@merer | 3iiz 11 Sloil 21& & [Option ID = 8421]

22) Identify the fallacy committed in the argument:
Some birds are not beautiful creatures.
All dogs are beautiful creatures.

Therefore, no dogs are birds.

foget 3 B <1y bl usare Hifste :

oo usil Joo? Siia orél &

13l el oo Sfla &

31q: ¢ gz ushl ol

[Question ID = 2107][Question Description = S2_qSNz_PG_GP22_Q27]

Fallacy of the Undistributed Middle Term/sreema &q g [Option ID = 8425]

Fallacy of the Illicit Process of Major Term/srJcb e gfegen ot [Option ID = 8426]
Fallacy of the Illicit Process of Minor Term/srJs ust yfegen giw [Option ID = 8427]
Fallacy of Exclusive Premises/sfotowr ament3ar giw [Option ID = 8428]

A w N =

Correct Answer :-
e Fallacy of the Undistributed Middle Term/sreema &q aia [Option ID = 8425]

23) If 'All men are mortal' is given as True, then which of the following options can be validly inferred from it?
A. 'No men is mortal' is False

B. 'Some men are mortal' is True

C. 'Some men are not mortal' is True

D. 'Some men are not mortal’ is False

E. 'Some men are mortal’ is False

Choose the correct answer from the options given below:

Afe "efl AW ok & A D WU A Ygd 3, dl forgaifeilRaa 31 A fepot frapedl ol $31R1 d¢I U A 3IgIHTel CIPTRIL Sl DI 3 ?
A. "®X¢ HoTsa 1R ol & 3T @



B. '©&® oI otar & Aca &

C. '@® Ao orvaz o1él 3 AcA 3

D. '©&® #Ho=I oz o1dl &' 3RIc 8

E. '©F A= o'aR &' 3RIcA 3

ofid fou s1u fesedl # A A8 IR BT <RIl BT :

[Question ID = 2108][Question Description = S2_qSNz_PG_GP22_Q28]

A, B and C only/dact A, B 3iiz C [Option ID = 8429]
A, B and D only/d@aet A, B siiz D [Option ID = 8430]
A, B, C and D only/daet A, B, C 3iiz D [Option ID = 8431]
B, C, D and E only/a@5aet B, C, D siiz E [Option ID = 8432]

A w N =

Correct Answer :-
e A, Band Conly/dact A, B 3iiz C [Option ID = 8429]

24) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: According to Naiyayikas, the fallacy of Savyabhicara occurs when the middle term leads to different opposite
conclusions.

Reason R: When the middle term is irregular, it is distributively not related to the major term.

In light of the above statements, choose the correct answer from the options given below

ofla Jl ool fRu sre 3@ up sifdraperst (Assertion A) @ a3 iz ¢RI 3@ PRUT (Reason R) & wu 3 :
sifdrperet (A) : SRNRIG @ GRIR AR DI S AT 3 59 3q A ficor RrIeh forsm foraerd &

®rRuI (R) : S/ 3q siforIf3a ldr 3 ad A AT WU A ATeA A Al ol dlan 3
SWRITP Pall D 3Melid A, offd fBu fasedl 3 A A8 IR &1 aRIet Hifste :

[Question ID = 2109][Question Description = S2_qSNz_PG_GP22_Q29]

Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) gieil 31 & 3z (R), (A) &t 38 =z 8 [Option ID = 8433]

Both A and R are true but R is NOT the correct explanation of A/(A) siiz (R) gl 31 & weag (R), (A) & 3 e oidt & [Option ID = 8434]
A is true but R is false/(A) 3= 8, wog (R) sri=x & [Option ID = 8435]

A is false but R is true/(A) sric1 8, wog (R) A= 8 [Option ID = 8436]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) sz (R) gleil 31 2 3iR (R), (A) &t 38t =mezn & [Option ID = 8433]

25) Match List | with List Il

List | List Il

Steps in Inference Statements

IA. Thesis (Pratijia) |. Because of smoke

B. Reason (Hetu) Il. Wherever there is smoke, there is fire, as in the kitchen
C. Example (Udaharana) [lll. The mountain has fire

D. Application (Upanaya)lV. The mountain also has smoke accompanied by fire, like the kitchen
Choose the correct answer from the options given below:

I -l @ R -1l A Fgafera Hifsre ¢
el - | et -1
(oragfifer af 2iurer) (averon)
A. gfersit (fif3121) I. ¢u & BrRUT

B. 3q Il. St st gaif Bl 3 3wt Al 3, S RIS oA
C. 318301 lll. uda uz smer 3
D. Sucrxr IV. uda 3 ¢ & mer, RME 6 avs, 31T 3t 3

oii<l feu are famedl 3 A A8 3R gfore :
[Question ID = 2110][Question Description = S2_qSNz_PG_GP22_Q30]

A-1ll,B-11,C-1,D- IV [Option ID = 8437]
A-1ll,B-1V, C- 1, D - | [Option ID = 8438]
A-11,B-1,C-1ll, D - IV [Option ID = 8439]
A-1ll,B-1,C-1l,D- IV [Option ID = 8440]

A WN =

Correct Answer :-
o A-Ill,B-1IlI,C-1,D-IV[Option ID = 8437]

26) The number of characters in 8 bit ASCIl code (American Standard Code for Information Interchange) is



8 foc arcl © v 3 303 o (rAfpel 3¢SS DIs Bk swElirel $edil) @IS d quif &l Az 3

[Question ID = 2111][Question Description = S2_qSNz_PG_GP22_Q31]
1. 64/64 [Option ID = 8441]

2. 128/128 [Option ID = 8442]

3. 256/256 [Option ID = 8443]

4. 512/512 [Option ID = 8444]

Correct Answer :-
® 64/64 [Option ID = 8441]

27) The Post Office protocol is

SIDIR GRIKIR 3 -

[Question ID = 2112][Question Description = S2_qSNz_PG_GP22_Q32]
1. Protocol used for transfer of files from one computer to another computer/vs BRI A G BRIC2 dAD BIscl D 30T 3 GRJb ormarR [Option ID = 8445]
2. Protocol used to handle email attachments/$-det Jictooia I isiret 3 GIep orRmarR [Option ID = 8446]
3. Protocol used when receiving emails from the email server/3$-3t 2rdz 3 $-9keT yra w2 WRI Gb oRIAR [Option ID = 8447]
4. Protocol used for sending emails/$-dict i @RI GIeb orRrarR [Option ID = 8448]

Correct Answer :-
e Protocol used for transfer of files from one computer to another computer/vd DRIc? 3 GRR DRI AD BIscl D AN 37 Y oRIR [Option ID = 8445]

28) Given below are two statements regarding the Router
Statement I: It enables data packets to be routed between different networks.
Statement IlI: It works in the Data Link Layer.

In light of the above statements, choose the correct answer from the options given below

ofl 3ez @ Jdde 3 ) dee e sm 3 @

@l - | : az ga (3cr) Uwcl ol oot slcamt @ i Asiol 3 JAsRID 3

@erel - |l : u1E o i orr # oRf war 3

SRl el d 3irclld 3, ol fu sre fmeul 3 A 7Bl IR @I w6l BRI
[Question ID = 2113][Question Description = S2_qSNz_PG_GP22_Q33]

1. Both Statement | and Statement Il are true/@emwt | siiz || gleil A= & [Option ID = 8449]

2. Both Statement | and Statement Il are false/@perat | siiz || Slail srir & [Option ID = 8450]

3. Statement | is true but Statement Il is false/@eml | 3t &, fpoq et Il srRi & [Option ID = 8451]
4. Statement | is false but Statement Il is true/@emet | 3RIa 3, fiboqg @erel |l =1 & [Option ID = 8452]

Correct Answer :-
e Both Statement | and Statement Il are true/emr | 3z | gloif a1 & [Option ID = 8449]

29) Following are some statements regarding File Transfer Protocol (FTP). Choose the correct statements
A. It is used to access the world wide web (www)

B. It is used to download data from file servers

C. It is used for very small files

D. Files are transferred from one device to another

Choose the correct answer from the options given below:

BI5cl 3RV oRIAR (THAUY) & der 3 ol o od Ru o1u 3 A8t Dol o wrRIel HIfvie :
A. s3roT1 YRiteT Rrgeandl a4 (secy Socy Secy) ad ugd @ fore fpan sirar 3

B. saap1 GRIIST WIscl A A 3¢l S3olclls dal @ fere fopan sirar 3

C. s QRIeI st Bt bisal @ fore s sirar 3

D. oo IUDT A G IJUDBWI P BIscl 3iafea &b st 3

ofid o s1u faseal & A A8 IR BT wRI6l BT :

[Question ID = 2114][Question Description = S2_qSNz_PG_GP22_Q34]

A and B only/@qet A siiz B [Option ID = 8453]
A and C only/dbaet A siiz C [Option ID = 8454]
B and D only/dqet B sfiz D [Option ID = 8455]
B and C only/@aet B siiz C [Option ID = 8456]

A W N -



Correct Answer :-
e A and B only/daer A siiz B [Option ID = 8453]

30) Match List | with List Il

List | List Il

1/0 device Data transfer rate|
A. Disk I. 50 bps

B. Mouse Il. 1 Mbps

C. Laser printer|lll. 120 bps

D. Keyboard [IV. 100 Mbps

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera Hifste :

oxe - | oxet -1l

(31 / forsfa sum=vr) (g (3er) 3iaRI R)
A. Ryo I. 50 & dt o1

B. sz Il. 1 oot & of o1
C. oBR fYje= Il. 120 & ot o1
D. (bt - €I) it uea IV. 100 uar & ot o1

oifY feu oru famedl 3 A A8 3R gforu :
[Question ID = 2115][Question Description = S2_qSNz_PG_GP22_Q35]

1. A-1,B-1I, C-1Il, D - IV [Option ID = 8457]
2. A-1I,B-1,C-1ll, D - IV [Option ID = 8458]
3. A-1V,B-1ll, C-1l, D - [Option ID = 8459]
4. A-1V,B-1l,C-1,D - Il [Option ID = 8460]

Correct Answer :-
e A-I,B-1l,C-IlIl,D-IV[Option ID = 8457]

31) The number of Sustainable Development Goals is

Femzofir fawrt agal bt dwn 3 :

[Question ID = 2116][Question Description = S2_qSNz_PG_GP22_Q36]
1. 13/13 [Option ID = 8461]
2. 15/15 [Option ID = 8462]
3. 17/17 [Option ID = 8463]
4. 19/19 [Option ID = 8464]

Correct Answer :-
e 13/13 [Option ID = 8461]

32) Given below are two statements
Statement I: Small amount of atmospheric Nitrogen dioxide NO; is produced from polluting sources
Statement Il: Most of the atmospheric NO; is produced due to photochemical reactions in the atmosphere

In light of the above statements, choose the most appropriate answer from the options given below

il ol Dol fdu sre 3 ¢

Dol - | : yguwm FPdl A arggisciRI oiscisial sass (NO2) @1 sreu ufyemnor 3 Icurget aiar 3

@Yol - | : 3iferpior arggisciRI sIsgisiel 313 MAAISS DI 3cUIGol diRJ#HS 3 WICI - IRIRIToIP YeIfpIsii @ PRYI 8idl &
SRIT Bl d 3irelid 3, ofid fRu s1e feedl 3 A AR U TR I a6l HIfSte :

[Question ID = 2117][Question Description = S2_qSNz_PG_GP22_Q37]

1. Both Statement | and Statement Il are correct/weret | 3iiz |1 Sloif &t & [Option ID = 8465]

2. Both Statement | and Statement Il are incorrect/aeret | 3z || Sloil siera 3 [Option ID = 8466]

3. Statement | is correct but Statement Il is incorrect/aeret | 3@t &, fiboq @erw |l sreia 8 [Option ID = 8467]
4. Statement | is incorrect but Statement Il is correct/aem | s &, fpoq et |l 3t & [Option ID = 8468]

Correct Answer :-
e Both Statement | and Statement Il are correct/aemwr | aiiz |l Sleil 3dt @ [Option ID = 8465]

33) Which of the following water borne diseases may be caused by virus, bacteria and protozoa?

forgatferRaa 3 3 Plat AT Stersifora A1 fwmy, Sfamwy iz ysharsit & arer 8 Ao 3 ?



[Question ID = 2118][Question Description = S2_qSNz_PG_GP22_Q38]
Cholera/2sm [Option ID = 8469]

Hepatitis/zax - oher [Option ID = 8470]

Typhoid/stigsaz [Option ID = 8471]

Diarrhea/siferimz [Option ID = 8472]

AN w N -

Correct Answer :-
e Cholera/3sm [Option ID = 8469]

34) United Nations Environmental Program (UNEP) was the result of deliberations held during

AP g, wRafaviRl PRI (Y wet $ Ul) foreiferRad 3 A fRpard Sivret gu far el @1 aftvmar e ?

[Question ID = 2119][Question Description = S2_qSNz_PG_GP22_Q39]

Human Environmental Conference at Stockholm in 1972/1972 3t Jcrpaiat 3 RIS el wRIfaRul Aol [Option ID = 8473]
Earth Summit at Rio de Janeiro in 1992/1992 3i f33il G - SreIfsal 3 2ucer gedt SRR wdieter [Option ID = 8474]

Montreal Protocol 1987 /ifczet giciarer 1987 [Option ID = 8475]

Kyoto Protocol 1997 /@=iel gicioter 1997 [Option ID = 8476]

A W N -

Correct Answer :-
e Human Environmental Conference at Stockholm in 1972/1972 3t 3crpaiet 3 SIRIfSHA el wRIiaRul Aeictel [Option ID = 8473]

35) Which of the following state has maximum installed wind power as per MNRE's latest report?

T Uol 3R § @ oldieladl Yfericel @ 3MoAIR fordatfciiRad 3 A v = 3 SMfrad udel eIl §RIAT YfrssIfiud 3 ?

[Question ID = 2120][Question Description = S2_qSNz_PG_GP22_Q40]
Andhra Pradesh/aiigf ggeor [Option ID = 8477]

Karnataka/a@otfea [Option ID = 8478]

Tamil Nadu/afirereng [Option ID = 8479]

Maharashtra/ssrrg [Option ID = 8480]

A w N =

Correct Answer :-
e Andhra Pradesh/asiig] ygor [Option ID = 8477]

36) Global Citizenship Education promotes

dftaes stetfyaar fdren fororfeRaa i A feamt Aatka ol 8 ?

[Question ID = 2121][Question Description = S2_qSNz_PG_GP22_Q41]

1. Common international laws for global citizenship/df%a® omei¥amdr @ fere s siaRiscRn ot [Option ID = 8481]

2. lIssues pertaining to citizenship across countries involving VISA/3wra Soif @ dfa disn aiféa smeif¥aar 3 Adfera a7 [Option ID = 8482]

3. International public relations/sia=icctr St 2iuas [Option ID = 8483]

4. More peaceful, tolerant, inclusive, secure and sustainable societies/siféres riferyuf, Jaotofict, Jomdoft, Ipféra a emvftr wmsr [Option ID = 8484]

Correct Answer :-
e Common international laws for global citizenship/dfae® smei¥adr & fere 2 sidRisdr wieer [Option ID = 8481]

37) CBCSis

MAMoad:

[Question ID = 2122][Question Description = S2_qSNz_PG_GP22_Q42]
Criteria Based Choice System/#roligs snenf¥a <ot yomreft [Option ID = 8485]

Choice Based Credit System/arrer smenfsa @ fSeyuneft [Option ID = 8486]

Criteria Based Creditable Scores/ameics smenf3a faeaeiefier graie [Option ID = 8487]
Credit Based Choice Scores/® f&esment¥a arror graics [Option ID = 8488]

A W N -

Correct Answer :-
e C(Criteria Based Choice System/#imeics amenf¥a arrel guiett [Option 1D = 8485]

38) Given below are two statements
Statement I: Policy action and implementation plans require sound database systems at the regional level only.

Statement II: The statistical system should ensure its impeccability with data architecture, security, quality, cleaning and
integration.

In light of the above statements, choose the most appropriate answer from the options given below

il S werel fdu srw 3 ¢
Dol - | : slifer BRI 3R Prafcariol AlSIeIsil @ feTe dact SRl IR UR AIRD SIeraA YUNicRIl dl a9 aidl 3
@l - || : Fif¥crdbr guircll oI srer e, J8i, UIadI, WIS d Addol D Ader 3 Uil gfedlorar Jfoiaa weil aifde



SWRITP DAoll B IIelID 3, ofi<l U 31u fapeul 3 A AR IUYTP IR DI TWRI6l DI ©
[Question ID = 2123][Question Description = S2_qSNz_PG_GP22_Q43]

1. Statement | is incorrect but Statement Il is correct/aemer | st &, o et |l 3t & [Option ID = 8492]
2. Both Statement | and Statement Il are correct/aerer | siiz |l Gl 318t & [Option ID = 8489]

3. Both Statement | and Statement Il are incorrect/aermer | 3iiz |l Gleil et 8 [Option ID = 8490]

4. Statement | is correct but Statement Il is incorrect/emr | 31t 8, fpoq @eret |l sea & [Option ID = 8491]

Correct Answer :-
e Both Statement | and Statement Il are correct/em | aiiz |l cleil 3t & [Option ID = 8489]

39) In order to transform the regulatory system of Higher Education, the NEP proposes to set up HECI (Higher Education
Commission of India). Which of the following are verticals of HECI?

A. NHERC
B. NAS
C. HEGC
D. NCIVE
E. NAC

Choose the correct answer from the options given below:

3a forgn &bl foRIEID =Iaven @ ¥UidRul @ 1w, wel § Ul gRI wa $ Al s (3RR vd 9l Belloret sife $R3=1) Fenfiia @l @I graM e
srn 3 foweifeiRan 31 A wa $ Al sE @ Plot A 359] (afdpen) T ?

A. wol wa § R 3t

B. el § v

C. wa ¢ it 2t

D. wor 3l ar$ & €

E. wet u 3t

il feu aru faeedl 3 A A8 IR D1 WRIel B :

[Question ID = 2124][Question Description = S2_qSNz_PG_GP22_Q44]

1. A, B and C only/daet A, B siiz C [Option ID = 8493]
2. B, C and E only/dsaet B, C siiz E [Option ID = 8494]
3. A, Cand E only/@act A, C 3iiz E [Option ID = 8495]
4. C, D and E only/a@ae C, D siiz E [Option ID = 8496]

Correct Answer :-
e A, Band C only/aac A, B iz C [Option ID = 8493]

40) Match List | with List Il

List | List Il

A. Indian Institute of Advanced Study I. Noida, UP

B. Indian Biological Sciences and Research Institutelll. Shimla, HP

C. Indian Institute of Soil Science lll. Bhopal, MP
D. Indian Institute of Sugarcane Research IV. Lucknow, UP|

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

Rreht -1 reht -1l

A. sRARI 3T 31€RI6T AT eATol |. sliesI, 3.4,
B. sl Sifaras fersirer a srofens Jiverst Il. Pmren, By,
C. sireiRa g1 farsiret Jermret Ill. siruret, a1y,
D. s1rR¢ciiRI 3Tooll 31oI¢ITol JAFeATel V. craorss, 3.9,

ofiax 3w o1 el 3 A At I gfom :
[Question ID = 2125][Question Description = S2_qSNz_PG_GP22_Q45]

<1, B-1,C-1ll, D - IV [Option ID = 8497]
-1, B-1V, C-1I, D -1 [Option ID = 8498]
<1V, B-1ll, C-1I, D - | [Option ID = 8499]
-1, B -1V, C-1l, D - lll [Option ID = 8500]

> > > >

1.
2.
3.
4,
Correct Answer :-

e A-Il,B-1,C-1ll, D-IV[Option ID = 8497]



Topic:- GP_26NOV_SH1_C

1) Read the passage carefully and answer the questions that follows

Leadership studies are an emergent discipline, and the concept of leadership will continue to change. Leadership lore is
defined as an influence relationship among leaders and followers who want real change and outcomes that reflect their
shared purpose. Leadership involves influence. It occurs among people; those people who intentionally desire significant
changes, and the changes reflect purpose shared by the leaders and their followers.

Influence means that the relationship among people is not passive; however, also part of this definition is that influence is
multidirectional. It does not use orders or threats to make somebody do something. The basic cultural values in America
make it easiest to think of leadership as something a leader does to a follower. However, leadership has an effect in both
directions. In most organizations, superiors influence subordinates, but subordinates also influence superiors. The people
involved in the relationship want real and important changes- leadership involves creating change, not maintaining what
normally happens. In addition, the changes sought are not dictated by leaders, but reflect purposes that leaders and
followers share. Moreover, change is toward an outcome that the leaders and follower both want; a desired future or shared
purpose that motivates them toward this more preferable outcome. An important aspect of leadership is influencing others
to come together around a common vision. Thus, leadership involves the influence of people to bring about change toward
a desirable future

sifal fou o1u srEri9r @l eAreIyd® UGd: gall @ IR I :

Sleyed 31eRIol uap Igiedl faerr 3, siiR olgea &bl sraermrun uf¥afefa sidl @9l oigra @l 3ii? sePnirll & da @ ypia Ade D Wy A afesnfie o
SRI & Sl 31Uel AR 32931 Bl Yferfdifa ool ardl arafde uf¥ader sz uf¥vmer asa & aqgea 3 gema AlBARA 3, w16 ool @ dfa dlar 3, a esr
JAiZ9a Ascaygyt ufvader area F sz A ufvada srarsil siiz sigenfirl & Arsn 39l @ yfafifaa o &

oIt o1 3ref 3 b clleil @ offa o1 Ader forftay oidt 3; aenfir s ufdsimen o1 v 1rel a6 st 3 6 era aglRomrd alar 3 w16 fipfl A TP TS B
fore snor AT erardh BT YRINT o1dl el & 3PIEIDT B FHRISH ARDGIIS e olgea D ar 3 frarvr B scafers e gon 3 3 6 ofar sruet
3ioleTIfdrIl b fe1q = @wear & denft siged 1 Cleil fEersii 3 gaira dien 3 SRR JsIoeil i Soa R siefiorzell @I gaifada w2 &, ueq
arefiorer off sraol IcanferpIiRIl @1 Yorrfaa w3 3 31 Ade A AfAferd clier arafdd 3R Asvayvl ulkade darad 8 - siged 3 ul¥acdol ml
iR BXdr 3, AT 1Y A Sl BNl 3 Al A TRBAR IWoll oldl  $AD 3ifeifep fdgfra uf¥ade aramsii grr1 foréfora o1&t aid 3, siftrg 3ot
329l @l yferfdifaa @ & il oiarsil sz siofenidril & dia Aren 31 & D sifcafeep ulvader va & ufvmar & fen i diar 3 51 ol siiz
31o1eTa <ol amea 3; Uep difdsel sifersr srerar AT 39 Sl 368 U 3ifered 9 ufeurar &t 3k Yfea war 3 olgea @I U 36 Astayul ust 3
cilell @l U ATSIT IAWT @ 56 - BIS arel @ fere genfaa @won sia: sigea 3 aioofia sifdsa 6l 3k uf¥ader o1 @ fere cisil o1 gemra Afdafera

3

"Leadership studies are an emerging discipline”, means:
"oled 31eRIel Uep Igral forerwr 3" o1 3ref 3 -

[Question ID = 2126][Question Description = S2_qSNz_PG_GP22_Q46]

1. Leadership studies are an established field/siqea sieriel v Fenfue fwer & [Option ID = 8501]

2. Leadership studies are a valid field of research/siqed siezrRIor 9iter @1 v der &1 & [Option ID = 8502]

3. Leadership studies is an evolving domain of scholarship/alqea srezrrel figar ot v 3SREme 8iq & [Option ID = 8503]
4. Leadership studies is an elaborate field/slqea siezrRIol vab i 81 8 [Option ID = 8504]

Correct Answer :-
e | eadership studies are an established field/sIqea sre=rIor v Fenfud fawrr & [Option ID = 8501]

2) Read the passage carefully and answer the questions that follows

Leadership studies are an emergent discipline, and the concept of leadership will continue to change. Leadership lore is
defined as an influence relationship among leaders and followers who want real change and outcomes that reflect their
shared purpose. Leadership involves influence. It occurs among people; those people who intentionally desire significant
changes, and the changes reflect purpose shared by the leaders and their followers.

Influence means that the relationship among people is not passive; however, also part of this definition is that influence is
multidirectional. It does not use orders or threats to make somebody do something. The basic cultural values in America
make it easiest to think of leadership as something a leader does to a follower. However, leadership has an effect in both
directions. In most organizations, superiors influence subordinates, but subordinates also influence superiors. The people
involved in the relationship want real and important changes- leadership involves creating change, not maintaining what
normally happens. In addition, the changes sought are not dictated by leaders, but reflect purposes that leaders and
followers share. Moreover, change is toward an outcome that the leaders and follower both want; a desired future or shared
purpose that motivates them toward this more preferable outcome. An important aspect of leadership is influencing others
to come together around a common vision. Thus, leadership involves the influence of people to bring about change toward
a desirable future

sifal fou o1u srEri9l @l eAreIyd® UGd goll @ IR SIfIT :



Slgged 31eRIol Uap Igiedl faer 3, siiR olgea &l sraerrun uf¥afela didl 3@ail oigea @l sii? srePnirIl @& da @ ypra Ader & wu A afesfe o
SR 3 SiI 3ol ATSI 3893l I Yfeifdifdea a2l arel ar<fd® uf¥ade 3z ufvier asd & olged d ypira ARFARTA 3, a6 clvll @ &l dldar 3, d st
JAlea sAsrayul uf¥ade araa 3 3iiz A uf¥ader sarsil 3iiz sgenfrll o AN 3Tl @1 gfafdfaa wa &

e oot 3ref 3 o5 clioll & <ifar o1 Hder forftay o1t 3; aenftr so1 uf¥smar o1 v et A6 3t 3 6 Yoma agfeomrit aiar 2 s fipil A T B2 D
1w 391 2 eraBt DT YRAT oIdl el & IADT D PRI AiTDHRID e Aigea S ad 3 Rarur B sicafRies F12c don 3a & R diar suer
SIGIPNIIRI @ fe1e o= wcr § aenfl siged @I Slell fEomail 3 yura 8icr 3 siferar JivIo6ll 3 Ioa ARIDET siehiorrel I Yanfaa o &, uvoq
sreflorerer off sruol Scanf2rpIfeRil @) genfera o 3 31 Jder 3 AlaAfera oot arafie ik sswagul ufvader aesd 3 - oigea I ul¥ada awor
3iRfFd BT 3, AT +U A Sl BN 3 Al A TRDAR ol oldl  $AD 3tfeifyep frgfra ufdade aramsii R fordfora o&t aid 3, siftig 3ot
3godl @l yferfeifde @2 & Sit siarsil siiz sopeniril @ dia s gla & sad sifeifyd uf¥adel v ¥ ufyvmar &1 fSom 3 giar & fBrR1 oiar siiz
3o Cloll arad 3; U qifesa sfdI srerdr AT 3L9 Sl o8 U 32 IR ulvmat bl 3R YR odr & olgtd I TP 3ol Ascayyl Usl &
clisll I Uh AT IAWI D 36 - BIS cfrol @ fere ganfaa w2l 31: slgea 3 aigeli sifawr &Y 3R ul¥ade ool @ fere ciell o gerra Afdafera
3

What variables are used for defining leadership?
Slgfed @1 Ul @20l @ fere fRpel <RI @I YIeT fp= sirerr 3 ?

[Question ID = 2127][Question Description = S2_qSNz_PG_GP22_Q47]
1. Power to affect relationship and desire for change in the true sense of the team/3isir @l gonfda ol &I 9Ifeb iR 9reg ALt aref 9 ul¥arier b dwien [Option
ID = 8505]
2. Power to get things done quickly by influence/gsma grr oftgamgde ®r! w26t & ofes [Option ID = 8506]
3. Power to change and control/uf¥ader 3iiz foriqur &t afes [Option ID = 8507]
4. Power to effect and desire for mandated change/ygsufda aar &t aifes iR sifércfora uf¥ader &bt wwier [Option ID = 8508]

Correct Answer :-
e Power to affect relationship and desire for change in the true sense of the team/=ide @t ganfia @wol 6t 9Ifep 3l orsc &t atef 3 uf¥acder &t werer [Option
ID = 8505]

3) Read the passage carefully and answer the questions that follows

Leadership studies are an emergent discipline, and the concept of leadership will continue to change. Leadership lore is
defined as an influence relationship among leaders and followers who want real change and outcomes that reflect their
shared purpose. Leadership involves influence. It occurs among people; those people who intentionally desire significant
changes, and the changes reflect purpose shared by the leaders and their followers.

Influence means that the relationship among people is not passive; however, also part of this definition is that influence is
multidirectional. It does not use orders or threats to make somebody do something. The basic cultural values in America
make it easiest to think of leadership as something a leader does to a follower. However, leadership has an effect in both
directions. In most organizations, superiors influence subordinates, but subordinates also influence superiors. The people
involved in the relationship want real and important changes- leadership involves creating change, not maintaining what
normally happens. In addition, the changes sought are not dictated by leaders, but reflect purposes that leaders and
followers share. Moreover, change is toward an outcome that the leaders and follower both want; a desired future or shared
purpose that motivates them toward this more preferable outcome. An important aspect of leadership is influencing others
to come together around a common vision. Thus, leadership involves the influence of people to bring about change toward
a desirable future

silal fou o1u SrEri9r @l eAreIyd® UGd? gall @ IR I :

Sleyed 31eRIol uep Igiedl farerr 3, siiR olgea &l sraemrun uf¥afefa sidl @9l oigra @l 3ii? ePniirll & fa @ ypia Ade D wu A afesnfta e
SRI & Sl 31Ul AT 35931 Bl Yferfdfa weol ardl ar«afde uf¥ader sz uf¥vmer aea & aqgea 3 gema AlBAfRA 3, u1e el @ i dlar 3, a st
JAizoa Agvagul uf¥ader arsd 3 3iiz A uf¥ader stamsil siiz seIenRrIl & ATsT oAl 1 yfafifaa o 3

oIt o1 3ref 3 5 clleil @ dffar o1 AAder foiftay ot 3; aenfir s uf¥smen o1 v 1rel a6 st 3 6 Qera aglRort alar 3 @16 fpfl A T T B
fere snor AT erarh BT YRINT o1dl wdl 3 3PIEIDT @ FHRISH ARDGIIT e olgea D ar 3 frarvr B scfers e gon 3 3 b otar sruet
3IoIeNfIRIl @ fore o= el 3 aenfl algea @1 Sloll ol 3 gomma dlen 3 siferepar Hers6il 3 Ica sif2rprl sieflorrell @1 ganfaa o= 3, ureq
srefiorrer off 3raol IcanferpIiRIl @1 Pofdd dd 8 31 Ade A AfAfeI ool arafdm 3R Asrayyl ulkade arad 8 - siged 3 uf¥acdol dl
iR BXr 3, AT FU A Sl BNl 3 Al A TRBAR IWoll oldl  $AD 3feifep fdgfra uf¥ader aramsii grr1 foréfora ot 2l 3, siftrg 3ot
329l @ yferfdifad @ & sl oidrsil sz siofenidril & dia Aren 3 & D sifeafee ulvader va & ufwvma &I fen i diar 3 Sl ol siiz
31t Sloll arad 3; up qiftsa uferer srerar AT 329 Sil 368 Wb 3iferas 9 uf¥vrar &t iz Yf¥a oar 3 olged I U 3cA AsTayul us 3
clIsIl I U AR Il D 3¢ - BIS ool & fére ganfaa ozell 31a: oigea 3 aioelin sfdsa &t sk uf¥acder crol @ fere sl o1 Yarra Afdafera
3

What is the main theme of this passage?
$2 JIEN9I Pl PR DR T 3 ?

[Question ID = 2128][Question Description = S2_qSNz_PG_GP22_Q48]
1. Explanation of leadership construct/slqea ¥aen @1 aufer [Option ID = 8509]

2. Argument about leadership/aiqea idtft @@ [Option ID = 8510]

3. Models of leadership/aiqea @ sifser [Option ID = 8511]

4. Pros and cons of leadership/alqea @t ust - faust [Option ID = 8512]



Correct Answer :-
e Explanation of leadership construct/sigea zaen @1 avfer [Option ID = 8509]

4) Read the passage carefully and answer the questions that follows

Leadership studies are an emergent discipline, and the concept of leadership will continue to change. Leadership lore is
defined as an influence relationship among leaders and followers who want real change and outcomes that reflect their
shared purpose. Leadership involves influence. It occurs among people; those people who intentionally desire significant
changes, and the changes reflect purpose shared by the leaders and their followers.

Influence means that the relationship among people is not passive; however, also part of this definition is that influence is
multidirectional. It does not use orders or threats to make somebody do something. The basic cultural values in America
make it easiest to think of leadership as something a leader does to a follower. However, leadership has an effect in both
directions. In most organizations, superiors influence subordinates, but subordinates also influence superiors. The people
involved in the relationship want real and important changes- leadership involves creating change, not maintaining what
normally happens. In addition, the changes sought are not dictated by leaders, but reflect purposes that leaders and
followers share. Moreover, change is toward an outcome that the leaders and follower both want; a desired future or shared
purpose that motivates them toward this more preferable outcome. An important aspect of leadership is influencing others
to come together around a common vision. Thus, leadership involves the influence of people to bring about change toward
a desirable future

il feu a1u srErior @l eArIydd UGd? gell @ IR SifSre :

Slged 31eRIol Uap Igidl faer 3, siiR olgea &l sraerrun ufyafela didl 3@3ail oigea @l sii? srefenfIrIl @ dia @ ypia Adea & wu A afesfea feoar
SRIT & SII 31Ul AT 32931 I Yfelfaifera d2ol arcl ar<fdd ufsadet 3R uf¥vme arsd & olgea 3 Yo AfFARA 3, s cliell @ dfa aiar 3, d il
JHiged ssvayul ufvadel arsd 3 3iiR A uf¥adel siarsil 3ii? srofenidrIl @ AT 3Tl @I ygfefdfda mxd &

geira <ot 3ref 3 fp cliell @ i o1 Hder fBiftayr oiél 3; denfir s uf¥sirer @1 v sirol A6 ot 3 5 Yoma skt alar 3 1 bt A T TUAa D
fRre R o1 AT £t BT YRAT ofdl T 3 IATDT B ORI AFDRID FeaT digea B aid 3 RIaRvT B AR et donr 33 & R Sl et
SIGIPNRIRI @ fe1e oo @l 3 aenfl siged @I Slell fEorail 3 yura 8icr 3 siferdar Jioro6ll 3 Ioa ARIGEY siehiorzel @I Yonfaa @ &, uoq
arefiorzer oft sraol STanfirepIfRil B genfaa o 3 s Jder A AR clier arafie 3z dsrayvt uftader asa 3 - oigra i af¥ade oot
3iRfFd BT 3, AT +U A Sl BN 3 Al A TRDAR ol oldl  sAD 3feifyep firgfra ufkader aramsii R fordfora o1&t aid 3, siftrg 3ot
3ol ot yferfdifdra @ 3 Sit ararsii siiz sropenfril @ dka msn 3l 3 sad sifeife uf¥ade va 21 ufvvmar &t on 3 drar 3 Rl o siie
31oPIE Cloll TIad 3; U qifesd HidI Sfedr AT 3593 Sl 368 U MU IR Ulvma bl 3R YR¥d ol & olged I TP 3ol AGtdyvl Usl &
eIl I U AT AW D 36 - BIS cfrol @ fere ganfaa well 31e: sigea 3 aideli $ifawr &l 3R ulkade crol @ feru el o geira Afdafera
3

What should be the outcome of leadership actions?

SIfea @ BRIl BT a1 uf¥vIeT Sloll aifde ?

[Question ID = 2129][Question Description = S2_qSNz_PG_GP22_Q49]

1. Movement towards the vision of the leader/aiar &t gsfefar &t fem 3t siferfafer [Option ID = 8513]

2. Movement towards common vision of the leader and the followers/arr 3iiz sroenfiri <t st geafolar <1 fSer 3t siferfaféer [Option ID = 8514]
3. Movement towards the vision of the majority/«@sa &I gaidiar &t o 3 aiferfafer [Option ID = 8515]

4. Strengthening of the authority of leaders/aramsit & yiféier @t e w2 [Option ID = 8516]

Correct Answer :-
® Movement towards the vision of the leader/aiar &t gafelar & f&om 4 siferfafer [Option ID = 8513]

5) Read the passage carefully and answer the questions that follows

Leadership studies are an emergent discipline, and the concept of leadership will continue to change. Leadership lore is
defined as an influence relationship among leaders and followers who want real change and outcomes that reflect their
shared purpose. Leadership involves influence. It occurs among people; those people who intentionally desire significant
changes, and the changes reflect purpose shared by the leaders and their followers.

Influence means that the relationship among people is not passive; however, also part of this definition is that influence is
multidirectional. It does not use orders or threats to make somebody do something. The basic cultural values in America
make it easiest to think of leadership as something a leader does to a follower. However, leadership has an effect in both
directions. In most organizations, superiors influence subordinates, but subordinates also influence superiors. The people
involved in the relationship want real and important changes- leadership involves creating change, not maintaining what
normally happens. In addition, the changes sought are not dictated by leaders, but reflect purposes that leaders and
followers share. Moreover, change is toward an outcome that the leaders and follower both want; a desired future or shared
purpose that motivates them toward this more preferable outcome. An important aspect of leadership is influencing others
to come together around a common vision. Thus, leadership involves the influence of people to bring about change toward
a desirable future



il fou 31U srEri9l Bl edareIydd UGd: goall @ IR SifSTu :

olqfed 31€RIo1 U gl faerr 3, 3iiR olgea &l sraemrvn af¥afela sicl W@ofl oigea @I 3iiR IRl @ dia @ ywIa JAder & WU 3 ufeHita foar
SRII & Sl 31Ul AT 38931 I Yfelfdifera d2ol arel ar<fdd ufsadet 3R uf¥vna arsd & oigea 3 Yo ARFARIT 3, As cliell @ &k aiar 3, d el
JAlgea ssraygul ul¥ade arad 3 siiz A ul¥ader srarsil 3iiz seENirI o5 Asn 3Tl @1 yfafdfaa ax &

gerra <1 3ref 3 fob cliell & i a1 Hder fGiftayr oiél 3; denfir s ufsirar @1 v 9116l U6 8t 3 b Yoma gkt alar 3 e bt A oo oA B
fere a1 AT eEIhl W1 AT 18l el 3 ASDI D RIS ARDBITD A slged D AR 3 fIarRvT B srcAfeie F1=el Jolr 3d & 5 ofar ruor
SIGIPNRIRI @ fe1e o=l Dl 3 aenfl siged @I Sloil fEormail 3 yurd 3icr 3 siférpar Jioroeil 3 Soa ARIGEL sieliorzel @I geufda @ &, uoq
srefiorzer oft sraot STanfPrepIfRil B Yonfaa wa 3 s Jder i AR cier arafie 3ii werayyl uf¥ader aresa 3 - aigra # uf¥ade ot
3icefFd NI 3, AT 1Y A Sl BT 3 Al A TRDAR oIl oldl  $AD 3feifep Afgfea ufvader sramsii R foréfora o1&l 2l 3, siftrg 3ot
sgodl @l yferfeifer @2 & Sit olarail siiz sopeniril @ dia s 8la & s sifeifywd uf¥adel wa ¥ ufvvmar &1 fSom 3 giar 3 fSrR1 oiarn siiz
3ol Sloll ared 3; U qifdsa sifdrs sterar AT 39 Sl IJod Ueb 3iferes g1 ufdvmmar i 3R YRa @ & olgea @I U il Ascayyf ust &
clIFll Bl U ATSIT Ikl B 56 - BIS crol & fére yanfaa w2elr 3ra: oigea 3 aivollr sfdsa & siik ul¥ader arol & fere el o Yeira Afdafera
3

The concept of leadership discussed in this passage is
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